


The David Manners Group now comprises of four of the most established market leaders in the
car parts industry including Abingdon M G Parts Ltd, Mini Spares Centre Limited, and Morris Minor
Centre (Birmingham) and supply parts for modern and classic Jaguar & Daimler, MG & Triumph,
Mazda MX5, Classic Mini and Morris Minor cars.

We have access to over 28,500 parts and over 8,650 lines in stock now for MGA to MGTF,
Triumph TR2 to TR8, Spitfire, 2000, 2500, MX5 Herald, GT6, Dolomite, Toledo, Austin
Healey Sprite and AH 3000.Originally conceived in the late 1980s Abingdon MG Parts Ltd is
a well-established and recognised player in the market.

We have access to over 28,500 parts COUNTER SERVICE

and over 8,650 lines in stock.
- Knowledgable & friendly sales staff

- Showroom & catalogues to view
MAIL ORDER SERVICE
- 50 yards from J2 off the M5
- Fast & efficient delivery service
- Delivery accross the entire United Kingdom ONLINE WEB ORDER
- Around 19,000 part lines available - Secure online site

- Full parts database available for viewing

- Log in facilities for trade & retail customers

WWW.DAVIDMANNERS.CO.UK

ENQUIRIES@DAVIDMANNERS.CO.UK

0121 544 4444




TEL: 0121-544-4444 arts4 G riu Cars FAX: 0121-544-4340

MG-M & GT rice List

: Retail IncVat
PARTNO DESCRIPTION Parts 4 MG Triumph Cars MG - MGB & GT price PRICE
Rocker Cover
GAC4069P illus 1. ROCKER COVER ALLOY - POLISHED MGB
GAC4069X ROCKER COVER ALLOY - BLACK MGB
GAC4069FK illus 2. ROCKER COVER FITTINGS KIT MGB
8G612 illus 3. OIL FILLER CAP METAL MGB MIDGET
8G612CP OIL CAP CHROMEPLATED MGB MIDGET
AJM402 illus 5. ROCKER COVER GASKET MGB 62-80 MGA
12A1968 iltus 6. BRACKET ENGINE LIFT A&B SERIES MGB
2A150CP illus 7. V/CVR NUT CHROME-7/8 MGB
Quantities: 2+ £2.40
12H2557 illus 8. VALVE COVER STUD A&B SERIES MGB
GHF301 illus 9. WASHER MGB
GHF332 illus 10.LOCKING WASHER MGB
GHF201 illus 11.NUT 5/16 UNF MGB
1B2925 illus 12.ROCKER COVER BOLT SPACER MGB
CAM6921 ROCKER COVER BOLT SPACER Chrome MGB
12G679 ROCKER COVER CUP WASHER CHROME MGB
Quantities: 2+ £0.84
12A1358 illus 14.ROCKER COVER BUSH MGB MIDGET
CRCP349 illus 15.ROCKER COVER PLATE "MG" MGB >67
CRST134 ROCKER COVER LABEL "MG" MGB
CRCP350 illus 16.ROCKER COVER "PATENT" PLATE MGB
CRST137 ROCKER COVER "PATENT" LABEL MGB
CRST126 illus 17.ROCKER COVER "BRITISH LEYLAND" MGB LABEL
CRST240 illus 18. ROCKER COVER "FLASH" LABEL MGB
CRST110 illus 19.ROCKER COVER "ST" LABEL MGB
Oil Pump
39 o illus 1. OIL PUMP DRIVE GEAR MGB, MGA
illus 2. OIL PUMP STUD MGB

88G296 illus 3. OIL PUMP MGB 3 Main 62-65
88G420 illus 4. OIL PUMP GASKET MGB 3 Main 62-65
GLP143 illus 5. OIL PUMP MGB 5 Main 65 on
12H1018X illus 6. OIL PUMP GASKET MGB 5 Main 62 on
GHF301 illus 7. OIL PUMP WASHER 5/16" PLAIN MGB
GHF332 illus 8. OIL PUMP WASHER LOCKING MGB
GHF201 illus 9. NUT 5/16 UNF MGB
SH604071 illus10. SETSCREW 1/4 X 7/8" UNF MGB
GHF331 illus11. WASHER SPRING 1/4 MGB
88G421 illus12. OIL PICK UP GASKET MGB MGA
JAM2227 illus13. OIL STRAINER MGB 62-80 MGA
AJMS03 illus15. SUMP GASKET MGB 3 Main, MGA
AJM504 SUMP GASKET MGB 5 Main
GHF300 illus18. WASHER 1/4 X 1/2 OD MGB 5 Main
88G257 illus19. OIL SUMP DRAIN PLUG MGB MGA
6K638 illus20. SUMP DRAIN WASHER MGB MGA Midget
1B1063 illus22. DIPSTICK TUBE MGB 62-67, MGA
12H3351 DIPSTICK TUBE MGB 68>
October 2017 Prices INCLUDE Vat but exclude carriage 171L.10 Page 1



G-MG & GT rice List

i Retail IncVat

PARTNO DESCRIPTION Parts 4 MG Triumph Cars MG - MGB & GT price PRICE
1B1735 illus23. DIPSTICK SEAL MGB 62-68, MGA 55-62
12H865BK illus24. RELIEF VALVE KIT MGB MGA S&M AH100/4
12H865 illus25. OIL PRESSURE RELIEF VALVE =~ MGB MGA S&M AH100/4
1H756 illus26. SPRING OPR VALVE MGB MGA 55-80
6K431B illus28. CRUSH WASHER 3/4IN MGB AH100-4 MGA
12A1851 illus29. BLANKING PLUG MGB 62-80

Cylinder Head
48G318LF CYLINDER HEAD LEAD FREE MGB 62-71 18GG
12H2708NEW CYLINDER HEAD LEAD FREE NEW MGB 72-74 18V
12H4735LF CYLINDER HEAD LEAD FREE NEW MGB 75-80
TMG10717 ROCKER SHAFT TUFTRIDED MGB, MGA
11G62J ROCKER SHAFT MGB 75-80
PWZ110 illus 3. WASHER MGB 62-80
GHF502 illus 4. SPLITPIN 3/32 X1.5IN MGB 62-80
12H4737 illus 5. PEDESTAL,OFFSET FEED MGB 75-80
51K1193 illus 6. NUT CYL HEAD MGB Sprite & Midget MGA
12H2178 illus 7. WASHER - CYL HEAD MGB MGB V8§
2A258 illus 8. SCREW MGB 62-80
GHF201 illus10. NUT 5/16 UNF MGB
GHF332 illus11. LOCKING WASHER MGB
GHF301 illus12. WASHER 5/16 MGB
51K281 illus14. CYLINDER HEAD STUD LONG MGB 62-80
51K282 illus14. CYLINDER HEAD STUD SHORT MGB 62-80
HSS1 illus15. CYLINDER HEAD STUD SET MGB 62-80
51K893 illus16. STUD ROCKER LONG MGB 62-80
51K881 illus16. STUD ROCKER SHORT MGB 62-80
12H3377 illus17. ROCKER ARM MGB 62-80, MGA
1G2295 illus18. ROCKER SHAFT BUSH MGB 62-80, MGA
51K1178 illus19. LOCKNUT ROCKER ADJ MGB, MGC, S&M
12H3376 illus20. ADJUSTER SCREW ROCKER ARM MGB, MGC, S&M
6K871 illus21. SPRING MGB 62-80
1K372 illus22. CIRCLIP VALVE COTTER MGB 62-67 18GB
1K800 illus23. VALVE COLLET SINGLE MGB 62-67, MGA, AH
AHU1709A illus23. VALVE COLLET SINGLE MGB 67-80 18GD
12H992 illus24. VALVE SPRING RETAINER MGB 62-67,MGA
TMG10716 illus24. VALVE SPRING RETAINER MGB, MGC, MGA
12H3353 illus24. VALVE SPRING RETAINER MGB 71-80
AEK113 illus25. VALVE STEM OIL SEAL MGB, TB-TF,MGA,AH
12B2104 illus25. VALVE STEM OIL SEAL MGB IMPROVED
1H1320 illus26. SHROUD VALVE GUIDE MGB 62-63, MGA
12H176K illus27. VALVE SPRING SET MGB 62-71, MGA
12H3352K illus28. VALVE SPRING SET MGB 71-80 18V
1H1321 illus29. LOWER SPRING COLLAR MGB 62-71, MGA
12H3354 illus29. VALVE SPRING LOWER MGB 71 ON 18V
12H2222 illus30. VALVE GUIDE INLET MGB 62-80, MGA
12B1339 illus31. VALVE GUIDE EXHAUST MGB 62-80, MGA, MGC
12H435 illus32. INLET VALVE MGB >67,MGA 1622
12H4211 illus32. INLET VALVE 1.56 MGB 67>71, 75-80
12H2520 illus32. INLET VALVE 1 5/8IN MGB 72-75
12H4211 illus32. INLET VALVE 1.56 MGB 67>71, 75-80
12H436 illus33. EXHAUST VALVE MGB 62-67, MGA 1622
CAM1717 illus33. EXHAUST VALVE MGB 67-80
AJM377 illus34. CYLINDER HEAD GASKET MGB 62-80

October 2017 Prices INCLUDE Vat but exclude carriage 171L.10 Page 2



PARTNO

AJM1163
GHF201
GHF301
CHS2515
1B3664
GTR101
SH604071
GHF331
12H3868
6K872
GEG602Z
FHS2513
FHS2515
1G2418
GHEF332
GHF261

MG - MGB & GT Price List

Camshaft & Timing

88G252
WKN304
1H730
11G241
12H3167
11G203
2H4905
12A1553
2H326
12H3357
2A13
CAMS333
3H2127
12H4201
12H4301
6K629
2A759
GHF117
GHF321
12H1673
WKNS505
GHF102
AEC340
AEC339
12H1319
88G561
SH604031
GHF117
GHF120
GHF331
GHF332
2K5197
2K7440
GHF300
GHF301

October 2017

DESCRIPTION Parts 4 MG Triumph Cars MG - MGB & GT %ﬁgg
HEAD GASKET SET MGB 62-80
illus35. NUT 5/16 UNF MGB 62-80
illus36. WASHER 5/16 MGB
illus37. STUD THERMOSTAT MGB 62-80
illus39. WASHER FIBRE 5/8 ID MGB V8
illus40. TEMP TRANSMITTER MGB 76-80
illus41. SETSCREW 1/4 X 7/8" UNF MGB
illus42. WASHER SPRING 1/4 MGB
illus44. HEATER TAP GASKET MGB ,MGC,S&M1500
illus45. PLUG OIL HOLE MGB 62-80, MGA
illus46. MANIFOLD GASKET MGB 62-80, MGA 55-62
illus47. STUD MANIFOLD TO EXHAUST MGB 62-80
illus48. STUD-INNER MANIFOLD MGB 62-80
illus49. YOKE WASHER MGB 62-80
illus50. LOCKING WASHER VARIOUS MGB
illus51. NUT PIPE TO MANIFOLDAH MGB 62-80
illus 1. CAMSHAFT MGB 3 Main
illus 2. WOODRUFF 1/2 D X3/32 MGB 3 Main
illus 3. TACHO DRIVE GEAR MGB 3 Main, MGA
illus 5. PUSH ROD MGB 62-71
illus 6. CAM FOLLOWER MGB >70 , MGA
iltus 7. DUPLEX CAM GEAR MGB 62-71 , MGA
illus 8. TIMING CHAIN DUPLEX MGB 62-71
illus 9. CRANK GEAR DUPLEX MGB 62-71 , MGA
illus10. WOODRUFF KEY MGB 55-71
illus12. PUSH ROD MGB 71 ON 18V
illus13. CAM FOLLOWER MGB 18V
illus14. SINGLE GEAR CAM MGB 71-80
illus15. TIMING CHAIN SIMPLEX MGB71-80
illus16. CRANK GEAR SIMPLEX MGB 71-80
illus17. WOODRUFF KEY (CRANK) MGB 18V
illus18. CAMSHAFT NUT MGB S&M MGA
illus19. LOCKTAB CAM GEAR MGB, S&M 948-1275
illus20. SETSCREW 1/4 X 3/4" UNF MGB
illus21. WASHER STAR INT 1/4 MGB
illus22. THRUSTPLATE CAMSHAFT MGB
illus23. WOODRUEFF 5/8 D X5/32 MGB
illus24. BOLT 1/4 UNFX1-1/2IN MGB
illus25. LOCKTAB TENSIONER MGB MGB V8
illus27. CHAIN TENSIONER GASKET MGB
illus28. TIMING COVER GASKET MGB 62-80, MGA
illus30. OIL SEAL TIMING COVER MGB
illus31. SETSCREW 1/4 X 3/8" UNF MGB
illus32. SETSCREW 1/4 X 3/4" UNF MGB
illus33. SETSCREW 5/16UNFX3/4 5/16UNF X 3/4"
illus35. WASHER SPRING 1/4 MGB
illus36. LOCKING WASHER MGB
illus37. WASHER,OVAL-FOR SUMP MGB
illus37. WASHER-TIMING COVER MGB
illus38. WASHER 1/4 X 1/2 OD MGB
illus38. WASHER 5/16 MGB
17IL 10

Prices INCLUDE Vat but exclude carriage

IncVat
PRICE

Page 3



G- & GT Price List

Retail IncVvat

PARTNO DESCRIPTION Parts 4 MG Triumph Cars MG - MGB & GT PRICE
Crank & Flywheel
8G2749E illus 1. CRANKSHAFT EXCHANGE 3 Main MGB
-8G2749E CORE SURCHARGE
BHM1155E CRANKSHAFT EXCHANGE 1800 5 Main MGB
-BHM1155E CORE SURCHARGE
8G2389 illus 2. MAIN BEARING SET STANDARD 3 /5 Main MGB
8G2389/10 MAIN BEARING SET +10 3 /5 Main MGB
8G2389/20 MAIN BEARING SET +20 3 /5 Main MGB
8G2389/30 MAIN BEARING SET +30 3 /5 Main MGB
8G2389/40 MAIN BEARING SET +40 3 /5 Main MGB
8G2389/60 MAIN BEARING SET +60 3 /5 Main MGB
8G2389STD/HD MAIN BEARING SET HEAVY DUTY 3 /5 Main MGB
8G2389/10/HD MAIN BEARING SET +10 HEAVY DUTY 3/ 5 Main MGB
8G2389/20/HD MAIN BEARING SET +20 HEAVY DUTY 3 /5 Main MGB
8G2207 illus 3. ROD BEARING SET STANDARD 3 Main MGB
8G2207/10 ROD BEARING SET +10 3 Main MGB
8G2207/20 ROD BEARING SET +20 3 Main MGB
8G2207/30 ROD BEARING SET +30 3 Main MGB
8G2207/40 ROD BEARING SET +40 3 Main MGB
8G2207/60 ROD BEARING SET +60 3 Main MGB
8G2664 ROD BEARING SET STANDARD 5 Main MGB
8G2664/10 ROD BEARING SET +10 5 Main MGB
8G2664/20 ROD BEARING SET +20 5 Main MGB
8G2664/30 ROD BEARING SET +30 5 Main MGB
8G2664/40 ROD BEARING SET +40 5 Main MGB
8G2664/60 ROD BEARING SET +60 5 Main MGB
8G2664/HD ROD BEARING SET HEAVY DUTY 5 Main MGB
8G2664/10/HD ROD BEARING SET +10 H/DUTY 5 Main MGB
8G2664/20/HD ROD BEARING SET +20 H/DUTY 5 Main MGB
BHM1295 illus 5. THRUST WASHER SET STANDARD 3 / 5 Main MGB
BHM1295/5 THRUST WASHER SET +.005 3 /5 Main MGB
12H426 illus 5. CONROD 1 & 3 MGB 3 Main
12H424 CONROD 2 & 4 MGB 3 Main
12H1000 illus 6. CON ROD BOLT MGB 3 Main
6K881 illus 7. BIG END LOCK TAB MGB 3 Main
51K1774 illus 8. SMALL ENDBOLT  MGB 3 Main
12H1019 illus 9. CONROD MGB 5 Main
12H1000 illus10. CON ROD BOLT MGB 5 Main
6K881 illus11. BIG END LOCK TAB  MGB 5 Main
12H2444 illus12. CONROD MGB 5 Main 18GG
12H3596E illus13. CONROD MGB 5 Main 18V- 71 ON
AEA312 illus14. CRANK PULLEY BOLT ~ MGB 3/ 5 Main
12A398 illus15. FRONT PULLEY LOCKTAB MGB 3 / 5 Main
11G81 illus16. CRANK PULLEY MGB 3 Main
12H963Z CRANK PULLEY MGB 3 Main UH5572>
12A1553 illus18. CRANK GEAR DUPLEX MGB 62-71 3 /5 Main
12H4201 illus19. CRANK GEAR SIMPLEX MGB 71-80 5 Main
2K6633 illus20. CRANK GEAR SHIM  MGB 3/ 5 Main
2H326 illus21. WOODRUFF KEY MGB 3 / 5 Main
12H4301 WOODRUFF KEY MGB 18V 5 Main
Oil Cooler
ARA221 illus 1. OIL COOLER 13 ROW MGB 65-74.5

October 2017 Prices INCLUDE Vat but exclude carriage 17I1L 10 Page 4



MG-M & GT rice List

PARTNO DESCRIPTION Parts 4 MG Triumph Cars MG - MGB & GT
GHF117 illus 2. SETSCREW 1/4 X 3/4" UNF MGB
GHF331 illus 3. WASHER SPRING 1/4 MGB
GHF300 illus 4. WASHER 1/4 X 1/2 OD MGB
AHHS$192 illus 5. OIL HOSE MGB 62-67
AHHS$192SS illus 5. OIL HOSE STAINLESS MGB 62-67
AHHS8536 illus 5. OIL HOSE SHORT MGB 62-74
AHHS8536SS illus 5. OIL HOSE SHORT STAINLESS MGB 62-74
AHHS$537 illus 5. OIL HOSE LONG MGB 62-74
AHHS8537SS illus 5. OIL HOSE LONG STAINLESS MGB 62-74
BHH1610 ilius 5. OIL HOSE MGB 74>
BHH1610SS illus 5. OIL HOSE STAINLESS MGB 74>
AHH6701 illus 6. ADAPTOR 1/2 OIL PIPE MGB V38
6K431B illus 7. CRUSH WASHER 3/4IN MGB
1H922 illus 8. UNION OIL FEED MGB
6K501 illus 9. COPPER WASHER 3/4 ID MGB
AHA8401 illus10. GROMMET OIL PIPE MGB
PMZ314 illus12. SCREW 3/16 X 7/8 MGB
WL700101 illus14. WASHER SPRING 3/16 MGB
GHF206 illus15. NUT 3/16 AF MGB
AHH6866K illus NI. STRAP SET OIL HOSE MGB 62-80
PMZ308 illus16. SCREW 3/16 UNF X 1/2 MGB
WL700101 illus17. WASHER SPRING 3/16 MGB
GHF206 illus18. NUT 3/16 AF MGB
Radiator Hose Kits
HK0003 HOSE KIT MGB 62-67
HK0004 HOSE KIT MGB 67-71
HK0005 HOSE KIT MGB 72-76
HKO0006 HOSE KIT MGB 76-80
Exhaust - Mild Steel
GEX3263 illus 1. EXHAUST DOWN PIPE 5 PIECE SYS MGB 62-67
GEX1316 illus 2. EXHAUST FRONT PIPE S PIECE MGB 62-67
GEX33448 illus 3. EXHAUST CENTRE BOX 5 PIECE MGB 62-67
GEX1321 illus 4. EXHAUST REAR PIPE MGB 62-67
GEX3429 illus 5. EXHAUST.REAR BOX (SU945) MGB 62-67
GEX1778 illus 6. EXHAUST DOWNPIPE 3 PIECE SYS  MGB 68-74
GEX3393BL illus 7. EXHAUST CENTRE BOX 3 PIECE SYS  MGB 68-74
ARH283 illus 8. EXHAUST REAR BOX MGB 68-74
ARH284 EXHAUST REAR BOX MGB 74-80
Exhaust - Stainless Steel
FSMG19 illus 9. EXHAUST TWIN FRONT PIPES MGB 62-74
FSMG21 CENTRE SILENCER MGB 1962-80
FSMG23 REAR SILENCER  MGB 62-74 C/BUMPER
FSMG28 REAR SILENCER ~ MGB 74-80
FSMG41 DOWN PIPES MGB GT V8
FSMG323 illus11. EXHAUST CENTRE BOX COMP MGB 62-74
BSMG22 LINK PIPE MGB CHROME BUMPER
BSMG27 LINK PIPE MGB 1975-80
BSMG40 TWIN TAIL PIPE  MGB 62-80
TMG10730S TUBULAR MANIFOLD SS MGB

Engine Mounts

October 2017

Prices INCLUDE Vat but exclude

carriage

Retail
price

17IL 10

IncVat
PRICE

Page 5



MG - & GT Price List
PARTNO DESCRIPTION Parts 4 MG Triumph Cars MG - MGB & GT Retail
price
BHH1351 illus 1. ENGINE MOUNTING RH MGB 62-74
BHH1352 illus 2. ENGINE MOUNTING LH MGB 62-74
AHHS5065 illus 3. MOUNTING BRACKET RH MGB 62-74
AHH5066 illus 4. MOUNTING BRACKET LH MGB 62-74
GHF332 illus 5. LOCKING WASHER MGB 62-74
GHF201 iltus 6. NUT 5/16 UNF MGB 62-74
GHF120 illus 7. SCREW 5/16 UNF MGB 62-74
GHF332 illus 8. LOCKING WASHER MGB 62-74
GHF201 illus 9. NUT 5/16 UNF MGB 62-74
AHH6992 illus10. SPACER SHIM LH MGB 62-74
GHF103 illus11. SCREW RH MGB 62-74
SF605081 illusi2. SCREW LH 5/16 UNF MGB 62-74
GHF332 illus13. LOCKING WASHER MGB 62-74
LNZ105 illus14. LOCK NUT 5/16 UNF MGB 62-74
SH606071 illus15. SCREW 3/8 X 7/8 UNF MGB 62-74
GHF333 illus16. LOCKING WASHER MGB 62-74
BHH1621 illus17. ENGINE MOUNT MGB 75-80, GT V8
GHF333 illus19. LOCKING WASHER MGB 75-80
GHF202 illus20. NUT 3/8 UNF MGB 75-80
GHF201 illus21. SCREW 5/16 X 3/4 UNF MGB 75-80
BHH1528 illus22. MOUNTING SPACER MGB 75-80, V8
GHF332 illus23. LOCKING WASHER MGB 75-80
GHF201 illus24. NUT 5/16 UNF MGB 75-80
BHH1619 illus25. MOUNTING BRACKET RH MGB 75-80
BHH1620 MOUNTING BRACKET LH MGB 75-80
SH605071 illus26. SCREW MGB 75-80
GHF332 illus27. LOCKING WASHER MGB 75-80
GHF201 illus28. NUT 5/16 UNF MGB 75-80
SH606061 illus29. SCREW 3/8 X 3/4 UNF MGB 75-80
GHF333 illus30. LOCKING WASHER MGB 75-80
Gearbox Mounts
GEX7453 illus 1. GEARBOX MOUNTING MGB 62-80
SH505051 illus 2. SCREW 5/16 X 5/8 UNC MGB 62-67 RD
SH505061 SCREW 5/16 X 3/4 UNC MGB 65-67 GT
GHF332 illus 3. LOCKING WASHER MGB 62-80
GHF301 illus 4. PLAIN WASHER MGB 62-68
GHF332 illus 5. LOCKING WASHER MGB 62-80
GHF201 illus 6. NUT 5/16 UNF MGB 62-80
AHH6056 illus 7. STAY ROD MGB 62-67 RD
1G9384 illus 8. STAY PIN MGB 62-67 RD
1B8347 illus 9. TIE BAR BUSHING MGB 62-67 RD
GHF332 illus10. LOCKING WASHER MGB 62-67 RD
GHF202 illus11. NUT 3/8 UNF MGB 62-67 RD
1G8782 illus12. BUFFER PLATE MGB 62-67 RD
1G8781 illus13. RUBBER BUFFER MOUNT MGB 62-67 RD
1G8775 illus14. TUBE SPACER MGB 62-67 RD
AHH6298 illus15. MOUNTING BRACKET MGB 62-67 RD
SH604051 illus16. SCREW MGB 62-67 RD
GHF331 illus17. SPRING WASHER 1/4 MGB 62-67 RD
AHH7855 illus18. MOUNTING PIN MGB 65-80 GT, 68-80 RD
AHH7854 illus19. MOUNTING GROMMET MGB 65-80 GT, 68-80 RD
GHF315 illus20. PLAIN WASHER 5/16 X 1 1/4 MGB 65-80 GT, 68-80 RD
GHF201 illus22. NUT 5/16 UNF MGB 65-80 GT, 68-80 RD
October 2017 Prices INCLUDE Vat but exclude carriage 171L 10

IncVat
PRICE

Page 6



MG - & GT rice List

PARTNO DESCRIPTION

GHF120 iltus25. SCREW 5/16 X 3/4 UNF

GHF332 illus26. LOCKING WASHER

LNZ106 illus27. LOCKING NUT

GHF333 illus28. LOCKING WASHER

GHF302 illus29. PLAIN WASHER 3/8 X 3/4 OD

1G8782 illus30. BUFFER PLATE S&M

1G8781 iltus31. RUBBER BUFFER MOUNT

1G8775 illus32. TUBE SPACER

GHF301 illus33. PLAIN WASHER

LNZ105 illus34. NUT 5/16 UNF

SH605101 illus37. SCREW 5/16 X 1 1/4 UNF

GHF301 illus38. WASHER

GHF332 illus39. LOCKING WASHER

LNZ105 illus40. NUT 5/16 UNF

BH605101 illus41. SCREW 5/16 X 1 1/4 UNF

GHF333 illus42. LOCKING WASHER
Cooling Water Pump

GWP115 illus 1. WATER PUMP

GWP114 WATER PUMP

12H814 illus 2. WATER PUMP GASKET

JAM2036 ill 2&7. WATER PUMP GASKET

BH605141 ill 3&8. LONG BOLT 5/16 X 1 3/4 UNF

BH605101 illus 4. SHORT BOLT 5/16 X 1 1/4 UNF

GHF332 il15&10.LOCKING WASHER

GWP130Z illus 6. WATER PUMP

GHF103 illus 9. SCREW

GCB10900 illus14. FAN BELT

GCB10950 FAN BELT

12H1058 illus15. 3 BLADE FAN METAL

12H1060 illus16. GROMMET

12H1062 iltus17. SPACER TUBE

12H1388 illus18. METAL LOCKING TAB

PWZ204 illus19. PLAIN WASHER 1/4 X 3/4 OD

GHF101 illus20. SCREW 1/4 X 1 UNF

GHF118 SCREW 1/4 X 2 UNF

12H4744 illus22. FAN PLASTIC

SH604051 illus23. SCREW

GHF331 illus24. WASHER SPRING 1/4

Cooling - Electric Fan

SH604041 iltus 2. SCREW 1/4 X 1/2 UNF
GHF331 illus 3. WASHER SPRING 1/4
PWZ204 illus 4. PLAIN WASHER 1/4 X 3/4 OD
BHAS256Z illus 5. FAN MOTOR

BHH1028 illus 6. MOUNTING BRACKET RH
BHH1306 illus 7. MOUNTING BRACKET LH
SH604041 illus 8. SCREW 1/4 X 1/2 UNF
GHF331 illus 9. WASHER LOCKING 1/4
GHF300 illus10. WASHER 1/4 X 1/2 OD
GHF201 illus11. NUT 5/16 UNF

BHH1029 illus12. FAN MOTOR CLAMP
GHF117 illus13. SCREW

GHF331 illus14. WASHER LOCKING 1/4

Parts 4 MG Triumph Cars MG - MGB & GT

MGB 65-80 GT, 68-80 RD
MGB 65-80 GT, 638-80 RD

MGB 74-80
MGB 74-80
MGB 74-80
MGB 74-80
MGB 74-80
MGB 74-80
MGB 62-80
MGB 74-80
MGB 74-80
MGB 62-68

MGB 62-80 RD, 65-80 GT

MGB 74-80
MGB 62-80
MGB 62-80

MGB 62-64 3 Main
MGB 65-71 5 Main
MGB 62-64 3 Main
MGB 64-71 5 Main

MGB 62-80
MGB 62-71
MGB 62-80
MGB 72-80
MGB 72-80
MGB 62-74
MGB 74-80
MGB 62-74
MGB 62-74
MGB 62-74
MGB 62-74
MGB 62-74
MGB 62-71
MGB 72-74
MGB 74-76
MGB 77-80
MGB 74-80

MGB 77-80
MGB 77-80
MGB 77-80
MGB 77-80
MGB 77-80
MGB 77-80
MGB 77-80
MGB 77-80
MGB 77-80
MGB 77-80
MGB 77-80

MGB 77-80

MGB 77-80

October 2017 Prices INCLUDE Vat but exclude carriage

Retail

17I1L 10

IncVat
PRICE

Page 7



PARTNO

37H8572

DESCRIPTION

illus16.

MG-M & GT rice List

SCREW GRUB

Cooling - Thermostat

12H797
12H2556
CAM1577
KTP9401
607025B
GTG101
GTS102
GTS104
GTS106
CHS2515

illus 1.

illus 2.

illus 3.
illus 4.
illus 5.
illus 6.

illus 7.

THERMOSTAT HOUSING
THERMOSTAT HOUSING
THERMOSTAT HOUSING
FILLER PLUG BRASS
JOINT WASHER
THERMOSTAT GASKET
THERMOSTAT 74C 165F
THERMOSTAT 82C 180F
THERMOSTAT 88C 190F
STUD THERMOSTAT

Cooling - Radiator 62-76

ARH260
NRP1142
GRC102
GRC130
GRC180
HZA2327
AHH7205
AHHS8887
SH605051
GHF332
GHF301
AHH6320
GRH1001M
PCRé611
SH605101
GHF120
GHF332
AHH6321
AHH6322
GHF103
GHF332
GHF201
061864
132565
ARHS517
GRH305
FMK8859
ACHS5031
AMKS847
232043A
GRH903
GRH305
GRH498
CS4025
CS4013

illus 1.

illus 2.

illus11.
illus12.
illus13.
illus14.
illus15.
illus16.
illus17.
illus18.
illus19.
illus20.

illus21.
illus22.
illus23.
illus24.
illus25.
illus26.
illus27.
illus28.
illus29.
illus30.
illus31.

RADIATOR
RADIATOR
RADIATOR CAP 7 PSI
RADIATOR CAP 10 PSI
RADIATOR CAP 13 PSI

DIAPHRAGM RADIATOR PANEL
DIAPHRAGM BONNET SEAL

. DIAPHRAGM RADIATOR SEAL

. SCREW 5/16 X 5/8"UNF
. WASHER LOCKING

. WASHER PLAIN

. RADIATOR PACKING

. OVERFLOW HOSE METRE 1/4"
OVERFLOW HOSE CLIP 3/8X11/32

SCREW 5/16 X 1 1/4 UNF
SCREW 5/16 X 3/4 UNF
WASHER LOCKING

RADIATOR TIE RIGHT HAND
RADIATOR TIE LEFT HAND

SCREW
WASHER LOCKING

NUT 5/16 UNF

DRAIN TAP

DRAIN TAP (WING TYPE)

WASHER FIBRE 1/2 ID DRAIN TAP

FLEX HOSE

HOSE PUMP ADAPTER
WATER ELBOW
ADAPTOR

WASHER COPPER
HOSE HEATER

FLEX HOSE

BOTTOM HOSE

HOSE CLIP 13/8 - 19/16
HOSE CLIP 5/8 - 13/16

Cooling - Radiator 76-80

NRP1154

October 2017

illus 1.

RADIATOR

Parts 4 MG Triumph Cars MG - MGB & GT

MGB 77-80

MGB 62-67
MGB 68-76
MGB 77-80
MGB 77-80
MGB 77-80
MGB 62-80
MGB 62-80
MGB 62-80
MGB 62-80
MGB 62-80

MGB 62-67
MGB 68-76
MGB 62-67
MGB 68-75
MGB 76
MGB 62-76
MGB 62-76
MGB 62-76
MGB 62-76
MGB 62-76
MGB 62-76
MGB 62-67
MGB 62-76
MGB 62-76
MGB 62-76
MGB 62-67
MGB 62-67
MGB 62-76
MGB 62-76
MGB 62-76
MGB 62-76
MGB 62-76

MGB Original
MGB Replacement

MGB 62-67
MGB 62-67
MGB 62-71
MGB 62-71
MGB 62-71
MGB 62-71
MGB 62-71
MGB 62-71
MGB 72-76
MGB 62-76
MGB 62-76

MGB 76-80

Prices INCLUDE Vat but exclude carriage

Retail IncVat

price PRICE

17I1L 10 Page 8



PARTNO

NRP1154AL
URP1126
URP1027
C37990
KTP9003
KTP9005
KTP9006
GRHS592
GRH641
CS4025
CS4013
GRH1001M
BHH1052
BHH1304
SH605071
SH605051
GHF332
PWZ305
GHF201
ARH250Z
GRC1110
BHH2132
PWZ305
GHF332
GHF222
GRH1005M

Heater

BHH1010A
17H1595
37H7914
17H1797
TH1993
AB606021
53K126
WF702101
27H1193
SE910201
WL700101
GHF306
37H7913
AB610051
WL700101
GHF306
17H3714
SE604051
GHF331
GHF300
AHH6290K
BHH389
AHHG6527
14G3499
AHCS865
AD606064

October 2017

DESCRIPTION

illus 2.
illus 3.

illus11.
illus12.

illus13.
illus14.
illus15.
illus16.
illus17.
illus18.
illus19.
illus20.
illus21.
illus22.
illus23.
illus24.

illus10.
illusli1.
illus12.
illus13.
illus14.
illus15.
illus16.
illus17.
illus21.
illus22.
illus23.
illus24.
illus25.
illus26.
illus27.
illus28.
iltus30.
illus31.

MG-M & GT Price List

RADIATOR ALLOY
SWITCH RADIATOR FAN
SEAL FAN SWITCH

SEAL FAN SWITCH HEAVY DUTY
.FAN SWITCH
. SEAL FAN SWITCH
. FAN SWITCH CLIP
. TOP HOSE
.BOTTOM HOSE
. HOSE CLIP 13/8 - 19/16
. HOSE CLIP 5/8 - 13/16

OVERFLOW HOSE 1/4" METRE

Parts 4 MG Triumph Cars MG - MGB & GT

MGB 76-80
MGB 76-80
MGB 76-79
MGB 76-79
MGB 79-80
MGB 79-80
MGB 79-80
MGB 76-80
MGB 76-80
MGB 76-80
MGB 76-80
MGB 76-80

RADIATOR BRACKET RIGHT HAND MGB 76-80
RADIATOR BRACKET LEFT HAND  MGB 76-80

SETSCREW 5/16 X 7/8 UNF
SETSCREW 5/16 X 5/8 UNF
WASHER LOCKING
WASHER 5/16 X 7/8 OD
NUT 5/16 UNF

EXPANSION TANK METAL
RADIATOR CAP 15 PSI
STRAP EXPANSION TANK
WASHER 5/16 X 7/8 OD
WASHER LOCKING
NYLOC NUT

RADIATOR HOSE 5/16" METRE

. HEATER ASSEMBLY

. CLIP HEATER BOX 3IN

. HEATER MATRIX

.FOAM - MATRIX SURROUND
. HEATER PIPE GROMMET

. SCREW PAN HEAD NO 6 X 1/4
. SCREW

. WASHER STAR INT 3/16

CABLE CLIP

SCREW 3/16 X 5/8 UNF
WASHER LOCKING
WASHER

HEATER MOTOR

SCREW SELF TAPPER
WASHER LOCKING
WASHER

HEATER FAN FOAM
SCREW 1/4 X 5/8 PAN HEAD
WASHER LOCKING 1/4
WASHER 1/4 X 1/2 OD
FOAM BASE KIT

SEAL HEATER BOX

AIR TUBE

DEMISTER ELBOW
DEMISTER HOSE CLIP
SCREW BRHCSK No 6 X 3/4

MGB 76-80
MGB 76-80
MGB 76-80
MGB 76-80
MGB 76-80
MGB 76-80
MGB 76-80
MGB 76-80
MGB 76-80
MGB 76-80
MGB 76-80
MGB 76-80

MGB 62-72
MGB 62-80
MGB 62-80
MGB 62-80
MGB 62-80
MGB 62-80
MGB 62-80
MGB 62-80
MGB 62-80
MGB 62-80
MGB 62-80
MGB 62-80
MGB 62-80
MGB 62-80
MGB 62-80
MGB 62-80
MGB 62-80
MGB 62-80
MGB 62-80
MGB 62-80
MGB 62-80
MGB 62-80
MGB 62-80
MGB 62-80
MGB 62-80
MGB 62-80

Prices INCLUDE Vat but exclude carriage

Retail
price

171L 10

IncVat
PRICE

Page 9



PARTNO

FWP906
AHH6190CP
AHHB8566
AHHS8743
AHHS8744
WL700101
GHF206
AHHG6165
AB606031
AHH6166
SH604051
GHF331
GHF300
13H59SS
AB606031
AHH6102K
AHH6102
AHH6102X
GHF1531
CRCP302
CRST128
CRST127
CRST130
CRST129

Heater - Controls

BHAA4329
BHH738
17H1601
17H1603
53K126
27H1193
BHH679
BHH1230
24G1482K

53K126
WF702101
27TH1193

Heater - Pipes

BHAS298
12H3868
SH604071
27TH1193
AB606021
24G1482K

GRH903
CS4013
AMKS847
232043A
GRH1006M

October 2017

MG - & GT Price List
DESCRIPTION Parts 4 MG Triumph Cars MG - MGB & GT
illus32. CUP WASHER BLACK MGB 62-80

CHROME PLATED VERSION MGB 62-72
DEMIST ESCUTCHEON MGB 72-80
illus34. DEMIST VENT RIGHT HAND MGB 72-80
DEMIST VENT LEFT HAND MGB 72-80
illus35. WASHER LOCKING MGB 62-80
illus36. NUT 3/16 AF MGB 62-80
illus38. BLACK KNOB DOOR VENT MGB 62-74
illus39. SCREW PAN HEAD No 6 X 3/8 MGB 62-80
illus40. DOOR VENT SEAL MGB 62-80
illus41. SCREW MGB 62-80
illus42. WASHER LOCKING 1/4 MGB 62-80
illus43. WASHER 1/4 X 1/2 OD MGB 62-80
illus45. STAINLESS STEEL AIR VENT FLAP MGB 62-70
illus47. SCREW PAN HEAD No 6 X 3/8 MGB 62-80
illus48. INTAKE GRILLE KIT MGB 62-80
illus49. AIR INTAKE GRILLE MGB 62-80
illus50. GRILLE MESH MGB 62-80
illus51. FIXING MGB 62-8
illus52. HEATER PLATE SMITHS MGB 62-80
illus53. SMITHS ROTATION LABEL MGB 68-80
illus54. SMITHS CAUTION LABEL MGB 62-80
illus55. SMITHS HEATER LABEL MGB 62-73
illus56. SMITHS HEATER LABEL MGB 73-80
illus 3. AIR KNOB RIGHT HAND DRIVE MGB 62-70
AIR KNOB RIGHT HAND DRIVE MGB 70-74
illus 7. SPRING CLIP AIR KNOB MGB-62-80
illus 8. LOCATING PIN MGB 62-80
illus 9. SCREW MGB 62-80
illus10. CABLE CLIP MGB 62-80
illus11. HEATER CABLE ASSEMBLY MGB 62-80
AIR CONTROL CABLE MGB 62-80
illus13. TRUNNION KIT MGB 62-80
Quantities: 2+ £1.08
illus14. SCREW MGB 62-80
illus15. STAR WASHER INT 3/16 MGB 62-80
iltus16. CABLE CLIP MGB 62-80
illus 1. HEATER TAP MGB 62-80
illus 2. HEATER TAP GASKET MGB 62-80
illus 3. SETSCREW 1/4 X 7/8" UNF MGB 62-80
illus 4. CABLE CLIP MGB 62-80
illus 5. SCREW PAN HEAD No 6 X 1/4 MGB 62-80
illus 6. TRUNNION KIT MGB 62-80
Quantities: 2+ £1.08
illus 7. HEATER HOSE MGB 62-80
illus 8. WIRE HOSE CLIP 5/8 - 13/16 MGB 62-80
illus 9. ADAPTOR WATER TAKEOFF MGB 62-67
illus10. COPPER WASHER MGB 62-67
illus11. HOSE 1/2 INCH PER METRE MGB 62-80

Prices INCLUDE Vat but exclude carriage

Retail

17I1L 10

IncVat
PRICE

Page 10



G -MG & GT Price List

; Retail IncVat
PARTNO DESCRIPTION Parts 4 MG Triumph Cars MG - MGB & GT price PRICE
CS4012 illus12. WIRE HOSE CLIP MGB 62-80
AHH5435 illus13. HEATER PIPE MGB 62-67
PCRS811 illus14. PIPECLIP 1/2 DIAMETER X 11/32 MGB 62-80
SH605041 illus15. SETSCREW 5/16 X 1/2 UNF MGB 62-80
GHF332 illus16. WASHER LOCKING MGB 62-80
GHF301 illus17. WASHER PLAIN MGB 62-80
AHH9498 illus18. HEATER PIPE MGB 62-80
GHF301 illus19. WASHER PLAIN MGB 67-80
GHF331 illus19. WASHER LOCKING 1/4 MGB 67-80
GHF201 illus20. NUT 5/16 UNF MGB 67-80
Manifolds
2K8159 illus 1. COREPLUG 1 1/8 MGB 62-80
ADP210 illus 2. LARGE PLUG MGB 62-80
232043A illus 3. COPPER WASHER MGB 62-80
AEC435 illus 5. CRUSH WASHER 5/16 ID MGB 62-80
ADU1402 illus 6. AP ONE WAY VALVE MGB 62-67
232043A illus 7. COPPER WASHER MGB 62-80
CHS2522 illus 8. STUD 5/16 UNC/F2-3/4 MGB 62-80
GHF301 illus 9. WASHER PLAIN MGB 62-80
GHF332 illus10. WASHER LOCKING MGB 62-80
NT605041 illus11. LOCK NUT MGB 62-80
FHS2515 illus12. STUD HEAD INNER MANIFOLD MGB 62-80
FHS2513 STUD HEAD OUTER MANIFOLD MGB 62-80
CHS2513 STUD 5/16 UNC/F1-5/8 MGB 18v on
1G2418 illus13. MANIFOLD YOKE WASHER MGB 62-80
GHF332 iltlus14. WASHER LOCKING MGB 62-80
GHF261 illus15. BRASS NUT PIPE TO MANIFOLD MGB 62-80
GEG602Z illus16. MANIFOLD GASKET MGB 62-80
CHS2513 illus17. STUD 5/16 UNC/F1-5/8 MGB 62-80
GHF332 illus18. WASHER LOCKING MGB 62-80
AHHS8382 illus19. EXHAUST FLANGE NUT MGB 62-80
GHF261 NUT PIPE TO MANIFOLD MGB 62-80
GEGT753 illus20. EXHAUST FLANGE GASKET MGB 62-80
Air Filter
GFE1003 illus 1. AIR FILTER MGB 62-80
KN56-1390 K&N FILTER ELEMENT MGB 62-80
KN56-9054 K&N FILTER ASSEMBLY MGB 62-80
17H2544 illus 2. O RING AIR FILTER MGB 62-80
17H2545 illus 3. BACKPLATE MGB 62-80
BH605401A illus 4. BOLT 5/16 UNF X 5 MGB 62-72 HS
BHS505361 BOLT 5/16 UNC X 4-1/2 MGB 73-80 HIF
PWZ205 illus 5. WASHER PLAIN 5/16 X 1 OD MGB 62-80
108496 illus 6. GROMMET MGB 62-80
17H2542 illus 7. SPACER MGB 62-80
AHH6465 illus 8. BALANCE TUBE MGB 62-80
12G2125 illus 9. GASKET CARB TO FILTER 1 1/2 SU MGB 62-80
12H712 illus10. CARB SPACER 1 1/2 SU MGB 62-80
AEC2083 illus11. GASKET SPACER SU 1 1/2 MGB 62-80
Quantities: 6+ £0.36
AHH6731 illus12. FILTER BRACKET FRONT MGB 62-72 HS
AHH6732 illus13. FILTER BRACKET REAR MGB 62-72 HS
October 2017 Prices INCLUDE Vat but exclude carriage 171L 10 Page 11



PARTNO

149994
ACAS5290
12H719
12H3607

DESCRIPTION

illus14.
illus15.
illus16.

Fuel - Lines

AHH6995
CPP1002
PCR509
CP105081
GHF331
GHF200
AHH6707
GGT101
12H722
12H889
GHC10413
37H7148M
AHH9950
GHC10408
GHC10413
GHC10412
SH605041
GHF331
GHF306
GHF331
GHF206
GGT101

FUELFILTER2

PROS04
37H7615M
37H7148M
UKC3793
UKC3795

Fuel - Tank

ARH176
53K2853
AHHS115
AHH6253
AHH6257
CLZA27
GHF300
GHF503
BH604181
GHF300
LNZ104
BHA4292
BHA4471E
2H1082
53K165
NRP2Z
ARHG672
SH605061

October 2017

illus 1.

illus
illus
illus

illus

illus
illus

illus13

illus15.
illus16.
illus18.
illus19.
illus20.
. FUEL FLEX PIPE 2.5
illus22.

illus21

illus23
illus24.

illus25.

illus
illus
illus

illus
illus
illus
illus 9.
illus10.
illus11.
illus12.
illus13.

illus14.
illus15.
illus16.
illus17.
illus19.

G-M & GT rice List

BREATHER HOSE
BREATHER HOSE CLIP
HEAT SHIELD

HEAT SHIELD

FUEL PIPE PUMP TO CARB
FUEL PIPE PUMP TO CARB

2. PIPECLIP FLOOR 5/16 X 9/32
3. PIPECLIP BULKHEAD 5/16 X 7/32
4. WASHER LOCKING 1/4

illus 5.
6
7
8

NUT 1/4 UNF

. FUEL FLEX PIPE CARB

.FUEL FLEX PIPE 2 1/2 REAR CARB
. FUEL FLEX PIPE FRONT CARB
illus 9.
illus10.
illus11.
illus12.

T PIECE FUEL PIPE
HOSE CLIP 16-22 mm
CLUTCH PIPE

HOSE CARB OVERFLOW

. HOSE CLIP 8-12mm

HOSE CLIP 16-22mm
HOSE CLIP 12-20mm
SETSCREW 5/16 X 1/2 UNF
WASHER LOCKING 1/4
WASHER

WASHER LOCKING 1/4
NUT 3/16 AF

FUEL FILTER
FUEL FILTER PERFORMANCE 1/4

. FUEL HOSE 1/4IN

CLUTCH PIPE
HOSE CLIP GREEN 3/8
HOSE CLIP BLACK 1/2

1. FUEL TANK
2. SCREWED BLANKING PLUG
4. PACKING STRIP

illus 5.
6
7
8

TANK STRAP

. TANK HANGER
.CLEVIS PIN 1/4 X 1.688
. WASHER 1/4 X 1/2 OD

SPLIT PIN

BOLT 1/4 X 2 1/4 UNF
WASHER 1/4 X 1/2 OD
NUT 1/4 UNF

TANK SENDER UNIT
TANK SENDER UNIT
GASKET

SCREW

FUEL TANK

PLUG TANK DRAIN
SCREW

Parts 4 MG Triumph Cars MG - MGB & GT

MGB 64-69
MGB 64-69
MGB 62-72 HS
MGB 73-76 HIF

MGB 62-72 HS4
MGB 72-80 HIF4
MGB 62-80
MGB 62-80
MGB 62-80
MGB 62-80
MGB 62-69
MGB 62-69
MGB 62-69
MGB 62-69
MGB 62-69
MGB 62-69
MGB 62-80
MGB 62-69
MGB 70-80
MGB 70-80
MGB 62-63
MGB 62-63
MGB 64-72
MGB 64-72
MGB 64-72
MGB 70-80
MGB 70-80
MGB 70-80
MGB 70-80
MGB 70-80
MGB 70-80
MGB 70-80

MGB 62-64
MGB 62-64
MGB 62-64
MGB 62-64
MGB, 62-64
MGB 62-64
MGB 62-64
MGB 62-64
MGB 62-64
MGB 62-64
MGB 62-64
MGB 62-64 to 47462
MGB 64-65 47462 on
MGB 62-64
MGB 62-64
MGB 65-77-415000
MGB 65-80
MGB 65-80

Prices INCLUDE Vat but exclude carriage

Retail
price

17IL 10

IncVat
PRICE

Page 12



G- G & GT ricelist

PARTNO DESCRIPTION Parts 4 MG Triumph Cars MG - MGB & GT
GHF315 illus20. PLAIN WASHER LARGE 5/16 X 1 1/4 MGB 65-80
PWZ305 PLAIN WASHER SMALL 5/16 X 7/8§ OD MGB 65-80
AHH7513 illus21.WASHER FIBRE LARGE 5/16 X 1 1/4 MGB 65-80
2K8944 WASHER FIBRE SMALL MGB 65-80
346071A illus22. PETROL TANK CAPTIVE NUT MGB 65-80
GHF301 illus23. WASHER PLAIN MGB 65-80
GHF332 iltus24. WASHER LOCKING MGB 65-80
GHF201 illus25. NUT 5/16 UNF MGB 65-80
MBK121 illus26. FUEL TANK MOUNTING KIT MGB 65-80
AHH7386 illus27. PACKING STRIP MGB 65-80
ADU3218 FUEL TANK SENDER UNIT MGB 76-80 415001 on
ARA1502 illus29. TANK SENDER SEAL MGB 65-80
ARA1501 illus30. LOCKING RING MGB 65-80
TSU101 illus31. LOCKING RING AND SEAL MGB 65-80
AHH7388 illus32. FUEL TANK NECK FOAM MGB 65-80
BHH191 illus33. PETROL FILLER HOSE MGB 62-75 to 386600
BHH2206 PETROL FILLER HOSE MGB 78-80 454203 on
CS4042 illus34. WIRECLIP 2 7/16 - 2 5/8 MGB 65-80
GHC10418 PREMIUM HOSE CLIP 50-70 mm MGB
AHH6281 illus35. FILLER TUBE MGB 62-75 to 386600
AHHG6268 illus36. FILLER TUBE GROMMET MGB 62-76 to 392765
11G2100 FILLER TUBE GROMMET MGB 76-78 to 451052
BHH2205 FILLER TUBE GROMMET MGB 78-80 454203 on
18G8601A illus37. VENTED PETROL CAP MGB 65-80
GZC1376 VENTED PETROL CAP MGB 65-80
AKF1439 VENTED LOCKING PETROL CAP MGB
GSS154 VENTED LOCKING PETROL CAP MGB stainless steel
Fuel - Pump
AZX1331 illus 1. FUEL PUMP MGB 62-64
AZX1332EP FUEL PUMP ELECTRONIC POSITIVE MGB 62-64
AZX1331EN FUEL PUMP ELECTRONIC NEGATIVE MGB 62-64
AAA17 illus 3. ELBOW NUT MGB 62-64
TLS illus 4. OLIVE FOR 5/16 TUBE MGB 62-64
AUAS887 illus 5. INLET UNION MGB 62-64
AUA1405 illus 6. UNION SEAL MGB 62-64
AUA1422 illus 7. OUTLET UNION MGB 62-64
AUA1442 illus 8. WASHER MGB 62-64
AUA1442 illus 9. WASHER MGB 62-64
AUA4082 illus11. BODY GASKET MGB 62-64
AUBS809 illus12. DIAPHRAGM GASKET MGB 62-64
WwWzX1710 illus13. DIAPHRAGM ASSEMBLY MGB 62-64
GHC10413 illus16. PREMIUM HOSE CLIP 16-22 MM MGB 62-64
AZX1307 illus17. FUEL PUMP OE MGB 64-80
AZX1319EP FUEL PUMP ELECTRONIC POSITIVE MGB 64-67
AZX1307EN FUEL PUMP ELECTRONIC NEGATIVE MGB 64-80
AUBG676 illus18. WASHER MGB 64-80
WZX1701 illus19. VALVE KIT (2X AUB6062) MGB 64-80
WzZX1701 illus20. VALVE KIT (2X AUB6062) MGB 64-80
AUBS809 illus21. DIAPHRAGM GASKET MGB 64-80
WZX1710 illus22. DIAPHRAGM ASSEMBLY MGB 64-80
AUC2698 illus24. BANJO BOLT MGB 64-76
AUC2141 illus25. WASHER BANJO BOLT MGB 64-76
AUC1833 illus26. BANJO SINGLE FEED THREADED MGB 64-76
October 2017 Prices INCLUDE Vat but exclude carriage

Retail
price

17IL 10

IncVat
PRICE

Page 13



PARTNO

AHH7371
GHC10413
BHH1940

AUBG6106A
EPK12P
EPK12N
AUB6179
AUA1466
AUAS078
BZX1022
AUA692
AUAS78
AHH6709
AHH6708
SH604051
GHF300
GHF331
GHF200

G-M & GT rice List

Clutch - Hydraulics

GMC1007
GMC1007Z
GRK3007
GRK3004
GHF103
SH605071
SH605071
GHF332
GHF201
513123A
27H7751
17H7560
CLZ514
GHF301
GHF501
C5192A
3HS550
BHAA4310
233220A
AHH6362C
37H7148M
PCR411
BCA4370
2K8686
WE600101
GVP1001
TT3041
3HS550
GSY106Z
GRK4016AP
606733A
SMP100030
BHS506161

October 2017

DESCRIPTION Parts 4 MG Triumph Cars MG - MGB & GT %ﬂgg
illus27. HOSE MGB 64-76
illus28. PREMIUM HOSE CLIP 16-22 MM MGB 64-76
illus29. BANJO PUSH ON MGB 77-80
Quantities; 2+ £4.92
illus30. POINT SET TWIN MGB 62-80
illus31. ELECTRONIC CONVERSION KIT POSITIVE MGB 62-80
ELECTRONIC CONVERSION KIT NEGATIVE MGB 62-80
illus32. CONDENSER MGB 62-80
illus33. CAP - FLAT MGB 62-80
CAP - STEPPED MGB 62-80
CAP - DIODE MGB 62-80
illus34. LUNAR CONNECTOR MGB 62-80
illus35. NUT MGB 62-80
ilus36. FUEL PUMP BRACKET MGB 62-80
illus37. MOUNTING RUBBER GROMMET MGB 62-80
illus38. SCREW MGB 62-80
illus39. WASHER 1/4 X 1/2 OD MGB 62-80
illus40. WASHER LOCKING 1/4 MGB 62-80
illus41. NUT 1/4 UNF MGB 62-80
illus 1. AP CLUTCH MASTER CYLINDER MGB 67-80 4 synchro
CLUTCH MASTER CYLINDER repro MGB 67-80 4 synhcro
illus 2. AP CLUTCH MASTER CYLINDER SEAL MGB 62-67 3
AP CLUTCH MASTER CYLINDER SEAL repro  MGB 68-80
iltus 3. SCREW - UPPER MGB 62-67 3 synchro
SETSCREW 5/16 X 7/8 UNF- UPPER  MGB 67-80 4 synchro
illus 4. SETSCREW 5/16 X 7/8 UNF- LOWER MGB 62-80
illus 5. WASHER LOCKING MGB 62-80
illus 6. NUT 5/16 UNF MGB 62-80
illus 7. FILLER CAP MGB 62-80
illus 8. SPRING - MASTER CYLINDER MGB 62-67 3 synchro
illus 9. CIRCLIP MASTER CYLINDER MGB 62-80
illus11. CLEVIS PIN MGB 62-80
illus12. WASHER PLAIN MGB 62-80
illus13. SPLIT PIN MGB 62-80
illus14. BANJO BOLT MGB 62-80
illus15. COPPER WASHER MGB 62-80
illus16. BANJO UNION MGB 62-80
illus17. COPPER WASHER MGB 62-80
illus18. CLUTCH PIPE WITH PIPE NUTS MGB 62-80
NI CLUTCH PIPE PER METRE MGB 62-80
illus19. PIPE CLIP MGB 62-80
illus20. PIPE NUT MGB 62-80
illus21. LOCK NUT MGB 62-80
illus22. STAR WASHER MGB 62-80
illus23. CLUTCH HOSE MGB 62-80
CLUTCH HOSE STAINLESS STEEL MGB 62-80
illus24. COPPER WASHER MGB 62-80
REPRO CLUTCH SLAVE CYLINDER MGA 62-80
illus26. REPAIR KIT SLAVE CYLINDER MGB 62-80
illus27. BLEED SCREW MGB 62-80
illus28. DUST CAP MGB 62-80
illus29. SCREW GSY106 MGB 62-80
Prices INCLUDE Vat but exclude carriage 17IL 10

IncVat
PRICE

Page 14



MG-M & GT rice List

. Retail IncVvat

PARTNO DESCRIPTION Parts 4 MG Triumph Cars MG - MGB & GT price PRICE
GHF333 illus30. LOCKING WASHER MGB 62-80
13H21 illus31. PUSH ROD SLAVE CYLINDER MGB 62-80
2K5622 illus32. CLEVIS PIN SLAVE MGB 62-80
GHF301 illus33. WASHER PLAIN MGB 62-80
GHF501 illus34. SPLIT PIN MGB 62-80
PFB425 BRAKE/CLUTCH FLUID 250 ML DOT 4
PFB450 BRAKE/CLUTCH FLUID 500 ML DOT 4
PFB401 BRAKE/CLUTCH FLUID 1LTR DOT 4
PFB405 BRAKE/CLUTCH FLUID 5 LTR DOT 4

Clutch - Components
HK9694 illus 1. CLUTCH KIT 3 PIECE MGB 62-80
GAC5057 illus 2. CLUTCH TOOL 23 SPLINE MGB 62-64 3 Main
GAC5058 CLUTCH TOOL 23 SPLINE MGB 64-80 5 Main
GRB106 illus 3. CLUTCH RELEASE BEARING Carbon MGB 62-80
GRB106RK CLUTCH RELEASE BEARING Roller MGB 62-80
22B66 illus 4. RELEASE BEARING CLIP MGB 62-80
SH605071 illus 6. SETSCREW 5/16 X 7/8 UNF MGB 62-80
GHF332 illus 7. WASHER LOCKING MGB 62-80
1G2984 illus 8. FLYWHEEL DOWEL MGB 62-80
GCP116 illus 9. CLUTCH PLATE MGB 62-80
1G765 illus 10.SPIGOT BUSHING MGB 62-64 3 Main
12H1630 SPIGOT BUSHING 1 1/2 inch MGB 64-71 5 Main
22H1416 SPIGOT BUSHING 1 inch MGB 71-80 5 Main
STN71X SPIGOT BUSHING 3 synchro gearbox to 5 main MGB
LUF10002 illus11. REAR CRANK ENGINE SEAL MGB 64-80 5 Main
22B56SH illus12. CLUTCH ARM SECONDHAND MGB
11G3196 iltlus13. BOLT CLUTCH FORK MGB 62-80
11G3195 illus14. BUSHING CLUTCH ARM MGB 62-80
12H2178 illus15. WASHER - CYLINDER HEAD MGB 62-80
GHF223 illus16. NYLOC NUT MGB 62-80
22H1337 illus17. GAITER OVAL CLUTCH FORK MGB 62-74 1/2
2K5622 illus19. CLEVIS PIN SLAVE MGB 62-80
13H21 illus20. CLUTCH PUSH ROD MGB 62-80
GHF301 illus21. WASHER PLAIN MGB 62-80
GHF503 illus22. SPLIT PIN MGB 62-80

Steering - Column
GSV1095 illus 1. UPPER BUSH COLUMN MGB 62-71
MGP1050B UPPER BUSH COLUMN MGB 72-74
17TH6565 illus 2. FELT BUSH LOWER MGB 62-71
MPB1002 LOWER BUSH COLUMN MGB 72-74
AHH6312 illus 3. BLANKING PLATE MGB 62-71
GHF332 illus 4. WASHER LOCKING MGB 62-74
GHF201 illus 5. NUT 5/16 UNF MGB 62-74
AHHG6005 illus 6. COLUMN CLAMP MGB 62-74
BH605181 illus 7. BOLT 5/16 X 2 1/4 UNF MGB 62-74
GHF301 illus 8. WASHER PLAIN MGB 62-74
AHH6006 illus 9. SPACER MGB 62-74
GHF332 illus10. WASHER LOCKING MGB 62-74
GHF201 illus11. NUT 5/16 UNF MGB 62-74
AHAS5435 illus12. STEERING COLUMN GAITER MGB 62-71
SH606101 illus14. SETSCREW 3/8 X 1 1/4" UNF MGB 74-80
GHF333 illus15. LOCKING WASHER MGB 74-80
October 2017 Prices INCLUDE Vat but exclude carriage 171L.10 Page 15



PARTNO

PWZ206
GHF120
GHF332
GHF301
AHAS720
BHAA4536
AHH9284
AHH6319
AAU1161
BHAS042
BHAS041
ACH6001
BHH2103
BHH1994
CHA747
BHH2687
BHAS215
37TH7708
51K4001

BHM7144XLUCAS
BHAS5292LUCAS

51K4001

DESCRIPTION

illus16.
illus17.
illus18.
illus19.
illus20.
illus22.
illus23.
illus24.
illus27.
illus29.
iltus30.
illus31.
illus32.
illus34.

illus35.
illus36.
illus37.
illus38.
illus39.
illus40.

Steering - Racks

GSR136
AHH6121Z
GSR135
GSR132
AHH6091BK
BH605181
GHF332
GHF222
AHH6007
GHF600
GSJ168
17H3501
TH3565
NL607041
GHF502
GHF224
53K320
17H8713
17H8715
17H8664X
GSV1155
3H2963
SH505071
GHF332
17H6584
17H6567
ACAS244
SHS505101
GHF332
17H6564

October 2017

illus 1

illus 2
illus 3
illus 4
illus 5.
illus 6
illus 7
illus 8

illus 9.
illus10.
illus12.
illus13.

illus14.
illus16.
illus19.
illus21.
illus22.
illus23.
illus25.
illus26.
illus27.
illus28.
illus31.
illus32.
illus33.
illus34.

G- & GT rice List

WASHER 3/8 X 1.25 0D
SETSCREW 5/16 X 3/4 UNF
LOCKING WASHER

WASHER PLAIN

STEARING COLUMN SEAL
BLANKING PLUG

STEERING WHEEL

HORN PUSH

HORN PUSH

HORN SLIP RING

HORN BRUSH

STEERING WHEEL NUT

NUT STEERING WHEEL

MG MOTIF BLACK

MG MOTIF SILVER AND BLACK
MG MOTIF SILVER AND RED
STEARING LOCK ASSEMBLY
IGNITION SWITCH

SHEAR BOLT

STEARING LOCK ASSEMBLY
IGNITION SWITCH

SHEAR BOLT

STEERING RACK RIGHT HAND DRIVE
STEERING RACK LEFT HAND DRIVE
STEERING RACK RIGHT HANDF DRIVE
STEERING RACK LEFT HAND DRIVE

. STEERING RACK BOLT KIT

.BOLT 5/16 X 2 1/4" UNF

. WASHER LOCKING

NYLOC NUT

. BRACKET
.RIVET
. TRACK ROD END

TRACK ROD END GAITER
CLIP TRACK ROD END
SLOTTED NUT 7/16 UNF
SPLIT PIN3/32X 1.5

NUT 7/16 UNF NYLOC
NUT TRACK ROD END
INNER TRACK ROD
LOCKING RING HOUSING
BUSHING - RACK

GAITER KIT

BAND CLIP OUTER
SETSCREW 5/16 X 7/8 UNC
WASHER LOCKING
GASKET - TOP COVER
SHIM 0.005

DAMPER PAD

SETSCREW 5/16 X 1 1/4 UNC
WASHER LOCKING
GASKET - FRONT COVER

Parts 4 MG Triumph Cars MG - MGB & GT

MGB74-80
MGB 74-80
MGB 74-80
MGB 74-80
MGB 74-80
MGB 62-80
MGB 62-69
MGB 62-69
MGB 70-76
MGB 70-76
MGB 70-76
MGB 62-71
MGB 72-80
MGB 77-80
MGB 77-80
MGB 74-80
MGB 62-72
MGB Original
MGB 62-74
MGB 74-80
MGB 74-80
MGB 74-80

MGB 62-80
MGB 62-80
MGB 62-80
MGB 62-80
MGB 62-80
MGB 62-80
MGB 62-80
MGB 62-80
MGB 62-80
MGB 62-80
MGB 62-80
MGB 62-80
MGB 62-80
MGB 62-80
MGB 62-80
MGB 62-80
MGB 62-80
MGB 62-80
MGB 62-80
MGB 62-80
MGB 62-80
MGB 62-80
MGB 62-80
MGB 62-80
MGB 62-80
MGB 62-80

Prices INCLUDE Vat but exclude carriage

MGB 62-74 Chrome
MGB 62-74 Chrome
MGB 74-80 Rubber
MGB 74-80 Rubber

Retail IncVat
price PRICE
17IL 10 Page 16



G- & GT Price List

Retail IncVat

PARTNO DESCRIPTION Parts 4 MG Triumph Cars MG - MGB & GT e PRICE
17H6562 illus35. NUT MGB 62-80
6K803 illus37. BEARING - PINNION MGB 62-80
UHN305 illus38. GREASE NIPPLE MGB As Required
37H8770X illus39. PINION MGB 77-80
17H6560 illus41. OIL SEAL - PINION MGB 62-80
AHHG6000 illus42. U-JOINT ASSEMBLY MGB 62-74
GUJ200 illus43. U-JOINT REPAIR KIT MGB 62-74
17H3839 illus44. BOLT MGB 62-74
GHF332 illus45. WASHER LOCKING MGB 62-74
GHF201 illus46. NUT 5/16 UNF MGB 62-74
GLR3084 illus42. U-JOINT ASSEMBLY MGB 74-80
BHH1791 illus44. BOLT MGB 74-80
GHF332 illus45. WASHER LOCKING MGB 74-80
LNZ105 illus46. NUT 5/16 UNF AERO MGB 74-80

Front Hub & King Pin
QHQSK156S illus 1. SUSPENSION KIT MGB 62-80
GSJ301Z illus 2. KINGPIN PAIR MGB 62-80
18G597 NI REAMER TOOL KING PIN BUSHES MGB 62-80
53K1667 illus 5. NYLOC NUT MGB 62-80
ATC4265 SLOTTED NUT MGB 62-80
GHF505 illus 6. SPLIT PIN MGB 62-80
BTBS803 illus 7. THRUST WASHER MGB 62-80
ATC4261 illus 8. SHIM 0.055 MGB 62-80
ATC4262 SHIM 0.060 MGB 62-80
ATC4263 SHIM 0.065 MGB 62-80
21B251K illus 9. DUST TUBE KIT 3 PIECE MGB 62-80
2K8951 illus10. DUST TUBE SPRING MGB 62-80
21B252 illus11. DUST TUBE SEAL MGB 62-80
UHN400 illus12. GREASE NIPPLE MGB 62-80
549229A illus13. GREASE NIPPLE MGB 62-80
TRS1620 illus14. O RING KINGPIN MGB 62-80
BTB768 illus15. LOWER FULCRUM BUSH MGB 62-80
UHN445 illus16. GREASE NIPPLE MGB 62-80
BTB410 illus18. BOLT STEERING ARM MGB 62-80
GHK1005 illus19. FRONT WHEEL BEARING KIT MGB 62-80
BTB183 illus20. COLLAR FRONT OIL SEAL MGB 62-80
GHS101 illus21. HUB SEAL MGB 62-80
GHB105 illus22. HUB BEARING INNER MGB 62-80
88G484 illus23. FRONT HUB BEARING SPACER MGB 62-80
ATB4240 illus24. SHIM 0.003inch FRONT HUB MGB 62-80
ATB4241 SHIM 0.005inch FRONT HUB MGB 62-80
ATB4242 SHIM 0.010inch FRONT HUB MGB 62-80
BTB656 SHIM 0.030inch FRONT HUB MGB 62-80
ATB4242K NI 7 PIECE SHIM KIT MGB 62-80
BTB347 illus25. FRONT HUB 12 TPI LH WIRE WHEEL MGB 62-64 to 30850
BTB346 FRONT HUB 12 TPI RH WIRE WHEEL MGB 62-64 to 30850
BTB731 FRONT HUB 8§ TPI LH WIRE WHEEL MGB 64-80 30851 on
BTB730 FRONT HUB 8 TPI RH WIRE WHEEL  MGB 64-80 30851 on
GHB102 illus26. HUB BEARING OUTER MGB 62-80
1A4742 illus27. FRONT HUB WASHER MGB 62-80
53K330 iltus28. SLOTTED NUT MGB 62-80
GHF505 illus29. SPLIT PIN MGB 62-80
BTC392 illus30. HUB GREASECAP WIRE WHEEL MGB Wire Wheel

October 2017 Prices INCLUDE Vat but exclude carriage 171L10 Page 17



PARTNO

BTB187
BTB229
BTB354
2A4067

Suspension - Front

GSA119
TMG30705N
AHH7217
SFK110
BTB198
GHF333
1G4349K
1G4349
8G621
8G621P
GHF334
NL607041
GHF502
GHF224
AHH6451
BHH1225
BHH1077
BHH1225
AHHS897
SH604051
GHF331
GHF200
AHH6514K
AAA5024
GHF104
SH605061
GHF332
GHF201
AHHS925
AAA1326
AHHS5929
AHHS5927
AAA1326

AHHS925BK

GHF103
SH605071
GHF332
GHF201
AHH4003
BTB198
GHF333
LNZ106
AHH7933K
AHH7933
AHHT7933P
BHH1123
AAA1330
NL608041

October 2017

MG-M & GT rice List

Prices INCLUDE Vat but exclude carriage

DESCRIPTION Parts 4 MG Triumph Cars MG - MGB & GT %ﬂgg

illus31. WHEEL STUD WIRE WHEEL MGB to 490636
WHEEL STUD TUBE AXLE MGB 65-80 490637 on

illus32. WHEEL NUT DISC STEEL WHEEL MGB 62-70 Steel

illus33. GREASE CAP STEEL WHEEL MGB Steel Wheel

illus 1. FRONT SHOCK ABSORBER MGB-62-80
FRONT SHOCK ABSORBER UPRATED MGB 62-80

illus 2. SHOCK ABSORBER VALVE UPRATED MGB 62-80

illus 3. SHOCK ABSORBER KIT MGB 62-80

iltus 4. BOLT FRONT SHOCK ABSORBER MGB 62-80

illus 5. LOCKING WASHER MGB 62-80

illus 6. FULCRUM PIN KIT MGB 62-80

illus 7. FULCRUM PIN MGB 62-80

illus 8. FULCRUM BUSH MGB 62-80
FULCRUM BUSH POLY MGB 62-80

illus 9. LOCKING WASHER MGB 62-80

illus10. SLOTTED NUT 7/16 UNF MGB 62-80

illus11. SPLIT PIN 3/32 X 1.5 MGB 62-80
NYLOC NUT 7/16 UNF MGB 62-80

iltlus12. FRONT COIL SPRING MGB 62-72 Roadster to
FRONT COIL SPRING MGB 72-80 Roadster 293664
FRONT COIL SPRING MGB 65-74 Roadster to
FRONT COIL SPRING MGB 75 on 361001 on

illus13. SPIGOT - FRONT SPRING MGB 62-80

illus14. SCREW MGB 62-80

illus15. LOCKING WASHER 1/4 MGB 62-80

iltus16. NUT 1/4 UNF MGB 62-80

illus17. BUMPSTOP KIT MGB 62-80

illus18. BUMPSTOP SPACER MGB 62-80

illus19. BOLT MGB 62-80

illus20. SCREW MGB 62-80

illus21. WASHER LOCKING MGB 62-80

illus22. NUT 5/16 UNF MGB 62-80

illus23. WISHBONE PAN MGB 62-80

illus24. WISHBONE ARM FRONT MGB No Anti-Roll Bar
WISHBONE ARM FRONT LEFT HAND MGB With
WISHBONE ARM FRONT RIGHT HAND MGB With

illus25. WISHBONE ARM REAR MGB 62-80

illus26. SPRING PAN BOLT KIT MGB 62-80

illus27. SCREW MGB 62-80

illus28. SETSCREW 5/16 X 7/8 UNF MGB 62-80

iltus29. WASHER LOCKING MGB 62-80

illus30. NUT 5/16 UNF MGB 62-80

illus31. WISHBONE PIVOT MGB 62-80

illus32. BOLT WISHBONE PIVOT MGB 62-80

illus33. LOCKING WASHER MGB 62-80

illus34. NUT - OUTER MGB 62-80

illus35. SET OF 8 WISHBONE BUSHES  MGB 62-80

illus36. BUSH WISHBONE MGB 62-80
POLYURETHANE WISHBONE BUSH MGB 62-80

illus37. STEEL&RUBBER WISHBONE BUSH MGB V8 Upgrade

illus38. WASHER MGB 62-80

illus39. SLOTTED NUT 1/2 IN MGB 62-80

17IL 10

IncVat
PRICE

Page 18



MG-M & GT rice List

~ Retail IncVvat
PARTNO DESCRIPTION Parts 4 MG Triumph Cars MG - MGB & GT price PRICE
GHF504 illus40. SPLIT PIN 1/8 X 2 1/4 MGB 62-80
GHF225 NYLOC NUT 1/2 UNF MGB 62-80
BHH1773K illus41. FULCRUM PIN KIT MGB 62-80
AHH4001 illus42. BOLT LOWER FULCRUM MGB 62-80
AAA1324 illus43. SUPPORT DUST SEAL MGB 62-80
AAA1390 illus44. THRUST WASHER MGB 62-80
AAA1323 illus45. DUST SEAL MGB 62-80
GHF335 illus46. LOCKING WASHER MGB 62-80
ND608041 illus47. SLOTTED NUT MGB 62-80
GHF504 illus48. SPLITPIN 1/8 X 2-1/4 MGB 62-80
FSK102 illus 1. FRONT SUSPENSION MOUNTING KIT MGB Chrome Bumper
LNZ108 illus 2. NUT 1/2 UNF MGB 62-80
GHF304 illus 3. UPPER WASHER 1/2 X 15/16 MGB 62-80
AHH6205 illus 4. UPPER MOUNTING PAD LIPPED MGB 62-80
AHH6204 illus 5. FRONT CROSSMEMBER MOUNTING STUD MGB 62-80
BHHS805 FRONT CROSSMEMBER MOUNTING STUD MGB 74-80
AHHG6206 illus 6. FLAT LOWER CROSSMEMBER PAD MGB 62-80
AHHG6205 LIPPED LOWER CROSSMEMBER PAD MGB 62-80
AHH6206 FLAT LOWER CROSSSMEMBER PAD MGB 62-80
AHH6207 illus 7. FRONT CROSSMEMBER LOWER CLAMP PLATE MGB
Anti-Roll Bar
BHHS882 illus 1. ANTIROLLBAR 5/8" MGB As Fitted
BHH1219 ANTI ROLLBAR 3/4" MGB As Fitted
AHH5939 illus 2. FRONT ANTI ROLL BAR EYE BUSH MGB As Fitted
AHH6546K illus 3. END STOP KIT 9/16" MGB As Fitted
AHH6546 illus 4. END STOP 9/16" MGB As Fitted
PMZ308 illus 5. SCREW - END STOP 9/16" MGB 9/16" Stop
PMZ312 illus 6. SCREW - END STOP 5/8" & 3/4" MGB 5/8" 3/4" Stop
WL700101 illus 7. WASHER LOCKING MGB 62-80
GHF206 illus 8. NUT 3/16" AF MGB
1B4526 illus 9. MOUNTING BUSH 5/8" MGB As Fitted
1B4526P POLYURETHANE BAR MOUNTING BUSH 5/8" MGB As
AHH6541 BAR MOUNTING BUSH 9/16" MGB As Fitted
AHHG6541P POLYURETHANE BAR MOUNTING BUSH 9/16" MGB As
AHH7927 BAR MOUNTING BUSH 3/4" MGB As Fitted
Quantities: 2+ £1.20
AHH7927P POLYURETHANE BAR MOUNTING BUSH 3/4" MGB As
BHH2000 illus10. MOUNTING BUSH BRACKET MGB 62-80
SH605071 illus11. SETSCREW 5/16 X 7/8 UNF MGB 62-80
GHF332 illus12. LOCKING WASHER MGB 62-80
AHC146K illus13. BAR BOLT KIT MGB 62-80
AHC146 illus14. ANTI ROLL BAR BOLT MGB 62-80
GHF334 illus15. LOCKING WASHER MGB 62-80
GHF224 illus16. NYLOC NUT 7/16 UNF MGB 62-80
AHH6543A illus17. LINK ANTI ROLL BAR RH MGB 62-80
AHH6544A LINK ANTI ROLL BAR LH MGB 62-80
GHF335 illus18. LOCKING WASHER MGB 62-80
GHF204 illus19. NUT 1/2 UNF MGB 62-80
Suspension - Rear
GSA169 illus 1. LH REAR SHOCK ABSORBER MGB 62-80
GSA168 RH REAR SHOCK ABSORBER MGB 62-80
October 2017 Prices INCLUDE Vat but exclude carriage 171L.10



PARTNO

AHH7218
SFK111
SFK112
BH607261
BH607241
BH607261
GHF303
GHF334
GHF203
97H2031A
37H8778A
GHF334
GHF203
GHF335
FNZ508
SFK101
AHC109K
AHH6452K
HZA4101
AHH9158
AHH6053
AHH?7335
AHH6452
AHC109
GHF223
ACG5001
AHH7334
ACG5002
ACG5002P
AHHS5068
AHH7338
AHHS5067
AHH7337
321-228
ACAS000
GHF201
NT605041
AHH6446
BH607241
GHF334
GHF203
AHHS018K
AHHS018KP
2A5176
MGS30765
AHHS018K
GHF333
GHF202
AHH6355
BHH989
BH605151
AHH6162
GHF332
GHF201

October 2017

G-M & GT rice List

DESCRIPTION Parts 4 MG Triumph Cars MG - MGB & GT

illus 2. HEAVY DUTY SHOCK ABSORBER VALVE = MGB Chrome

illus 3. SHOCK ABSORBER MOUNTING KIT MGB Chrome
SHOCK ABSORBER MOUNTING KIT MGB Rubber

illus 4. SHOCK BOLT FRONT MGB Chrome Bumper
SHOCK BOLT FRONT MGB Rubber Bumper
SHOCK BOLT REAR MGB 62-80

illus 5. FLAT WASHER MGB 62-80

illus 6. LOCKING WASHER MGB 62-80

illus 7. NUT SHOCK ABSORBER BOLT MGB 62-80

itlus 8. REAR SHOCK LINK MGB 62-74 Chrome Bumper
REAR SHOCK LINK MGB 75-80 Rubber Bumper

illus 9. LOCKING WASHER - UPPER LINK MGB 62-80

illus10.
illusl1.
illus12.
illus14.

NI
illus15.
illus16.

llus17.

illus18.
illus19.

illus20.

illus21.

illus22.

illus23.
illus24.
illus25.
illus26.
illus28.
illus29.
illus30.
illus31.
illus32.

illus33.

illus34.
illus35.
illus36.
illus37.

illus38.
illus39.
illus40.
illus41.

NUT UPPER SHOCK ABSORBER BOLT MGB 62-80

LOCKING WASHER - LOWER LINK MGB 62-80
NUT - LOWER LINK MGB 62-80
LEAF SPRING FITTING KIT MGB Banjo Axle
LEAF SPRING FITTING KIT MGB Tube Axle
LEAF SPRING FITTING KIT MGB Banjo Axle
BUMPSTOP BRACKET MGB 62-80

REAR BUMPSTOP MGB 62-80

BUMP STOP PEDESTAL MGB Banjo Axle
BUMP STOP PEDESTAL MGB Tube Axle
U BOLT - SPRING MGB 62-65 Banjo Axle
U BOLT - SPRING MGB Tube Axle
NYLOC NUT MGB 62-80

SPRING PLATE MGB 62-66 Banjo Axle
SPRING PLATE MGB Tube Axle
RUBBER SPRING SEAT MGB 62-80
POLYURETHANE SPRING SEAT  MGB 62-80

SHOCK LINK BRACKET LH MGB Banjo Axle
SHOCK LINK BRACKET LH MGB Tube Axle
SHOCK LINK BRACKET RH MGB Banjo Axle
SHOCK LINK BRACKET RH MGB Tube Axle
CENTRE BOLT & NUT MGB 62-80
LOCATING DOWEL MGB 62-80
NUT 5/16 UNF MGB 62-80

LOCK NUT MGB 62-80
SPRING EYE BUSH MGB 62-80
SPRING EYE BOLT MGB 62-80 Rubber
LOCKING WASHER MGB 62-80
NUT - SHOCK BOLT MGB 62-80
SHACKLE KIT MGB 62-80
POLYURETHANE SHACKLE KIT MGB 62-80
REAR SHACKLE BUSH MGB 62-80
POLYURETHANE REAR SHACKLE BUSH MGB 62-80
AHHS5019 not available use AHH5018K SHACKLE KIT MGB
LOCKING WASHER MGB 62-80
NUT 3/8 UNF MGB 62-80

AXLE CHECK STRAP MGB 62-74 Chrome
AXLE CHECK STRAP MGB 75-80 Rubber
BOLT CHECK STRAP - UPPER MGB 62-80

TUBE CHECK STRAP - UPPER MGB 62-80
WASHER LOCKING MGB 62-80
NUT 5/16 UNF MGB 62-80

Prices INCLUDE Vat but exclude carriage 171L10

IncVat
PRICE

Page 20



PARTNO

ARB101
PWZ206
GHF333
GHF202
GSV1006
AHC31
BHH1779
AHC31
BHH1767

Anti-Roll Bar

MG- G & GT Price List

DESCRIPTION Parts 4 MG Triumph Cars MG - MGB & GT I})ﬁglel
illus42. LOWER PIN - CHECK STRAP MGB 62-80
illus43. WASHER 3/8 X 1.25 OD MGB 62-80
illus44. LOCKING WASHER MGB 62-80
illus45. NUT 3/8 UNF MGB 62-80
illus13. REAR LEAF SPRING MGB Roadster 62-74 Chrome Bumper
REAR LEAF SPRING MGB Roadster 74-75 Rubber Bumper
REAR LEAF SPRING MGB Roadster 75-80 Rubber Bumper
illus13. REAR LEAF SPRING MGB GT 65-74 Chrome Bumper
REAR LEAF SPRING MGB GT 74-80 Rubber Bumper

BHH2003 illus 1. ANTI ROLL BAR MGB 77-80
21H6655 illus 2. ANTIROLL BAR END LINK ~ MGB 77-80
NT610041 illus 3. NUT 5/8 UNF MGB 77-80
BH607241 illus 4. BOLT MGB 77-80
GHF224 illus 5. NYLOC NUT 7/16 UNF MGB 77-80
AHH7921 illus 6. BAR MOUNTING BUSH 11/16"  MGB 77-80
BHH2000 illus 7. BUSH BRACKET MOUNTING ~ MGB 77-80
GHF120 illus 8. SETSCREW 5/16 X 3/4 UNF MGB 77-80
GHF332 illus 9. LOCKING WASHER MGB 77-80
GHF201 illus10. NUT 5/16 UNF MGB 77-80
11H462K illus11. ANTI ROLL BAR END STOP KIT ~MGB 77-80
PMZ312 illus12. SCREW 3/16 X 3/4 UNF MGB 77-80
WL700101 illus13. LOCKING WASHER MGB 77-80
Rear Axle / Propshaft
AHH7488 illus 1. PROPSHAFT NO OVERDRIVE ~ MGB 62-67 Banjo
AHH7487 PROPSHAFT OVERDRIVE MGB 62-67 Banjo
AHH7487 PROPSHAFT NO OVERDRIVE ~ MGB 65-67 Tube 3 Synchro
AHH7486 PROPSHAFT OVERDRIVE MGB 65-67 Tube 3 Synchro
AHH7487 PROPSHAFT NO OVERDRIVE ~ MGB 68-80 4 Syncro
TH3863 illus 2. FLANGE YOKE MGB 62-80
AAA4039 illus 3. BOLT - GEARBOX MGB 62-67 3 Syncro
22H1107 BOLT - GEARBOX MGB 65-80
AAA4039 BOLT - AXLE MGB 62-80
GHF332 illus 4. LOCKING WASHER MGB 62-80
LNZ105 illus 5. LOCK NUT 5/16 UNF AERO MGB 62-80
GUJ101GKN illus 6. UNIVERSAL JOINT - SEALED MGB 62-80
GUJ101Z UNIVERSAL JOINT - SEALED MGB 62-80
7H3858 illus 8. GREASE NIPPLE (ZERK) - UJOINT ~ MGB 62-80
TH3865 illus 9. SLEEVE YOKE MGB 62-80
UHN400 illus10. GREASE NIPPLE (ZERK) - YOKE MGB 62-80
TH3880X illus11. YOKE DUST SEAL & CAP MGB 62-80
Suspension Kits
AHH5925KIT1 COMPLETE SPRING PAN KIT MGB 62-80
AHH6452K LEAF SPRING FITTING KIT MGB Banjo
AHC109K LEAF SPRING FITTING KIT MGB Tube
AHH6514K BUMPSTOP KIT MGB 62-80
AHH5018K SHACKLE KIT MGB 62-80
GSJ301Z KING PIN SET PAIR MGB 62-80
QHQSK1568 KING PIN SUSPENSION KIT MGB 62-80
SPCK12 SPAX FRONT CONVERSION KIT MGB 62-80

October 2017 Prices INCLUDE Vat but exclude carriage 171L. 10

IncVat
PRICE

Page 21



MG -MG & GT Price List

; Retail IncVat
PARTNO DESCRIPTION Parts 4 MG Triumph Cars MG - MGB & GT price PRICE
TMG30715 SPAX REAR CONVERSION KIT MGB 67-80
SPG942 SPAX FRONT SHOCK ABSORBER KIT MGB 62-80
SPG823 SPAX REAR SHOCK ABSORBER KIT MGB 67-80
Axle Banjo
21H6060 illus 1. BREATHER REAR AXLE MGB 62-66
6K499 illus 2. DRAIN PLUG MGB 62-66
1G7584 illus 3. LOCKTAB MGB 62-66
1G7448 illus 4. LOCK NUT RH THREAD MGB 62-66
1G7582 LOCK NUT LH THREAD MGB 62-66
1G7465 illus 5. DIFFERENTIAL GASKET MGB 62-66
GHF332 illus 7. LOCKING WASHER MGB 62-66
GHF201 illus 8. NUT 5/16 UNF MGB 62-66
GHF334 illus11. LOCKING WASHER MGB 62-66
GHF203 illus12. NUT MGB 62-66
BTB653 illus13. CROWN WHEEL & PINION 3.909:1 MGB 62-66
CHM163 illus14. BEARING MGB 62-66
6K875 illus17. LOCKTAB MGB 62-66
ATA7043 illus18. BOLT MGB 62-66
1G7444 illus19. PIN - AXLE PINION MGB 62-66
ATB7072 illus21. THRUST WASHER 35/1000" MGB 62-66
1G7445 illus23. THRUST WASHER MGB 62-66
ATB7066 illus24. THRUST 0.122" MGB 62-66
ATB7068 THRUST 0.118" MGB 62-66
100897A illus25. PINION BEARING MGB 62-66
1B7240 illus26. SPACER DIFFERENTIAL PIN MGB 62-66
ATB7102 illus27. SHIM 0.004" MGB 62-66
ATB7103 SHIM 0.006" MGB 62-66
ATB7104 SHIM 0.008" MGB 62-66
ATB7105 SHIM 0.010" MGB 62-66
ATB7106 SHIM 0.012" MGB 62-66
ATB7107 SHIM 0.020" MGB 62-66
2A7213 illus28. BEARING PINION MGB 62-66
88G320 illus29. DIFFERENTIAL PINION SEAL MGB 62-66
ATB7059 illus31. DIFFERENTIAL FLANGE MGB 62-66
WL600121 illus32. LOCKING WASHER 3/4 MGB 62-66
FNZ612 illus33. NUT 3/4 UNF MGB 62-66
BTB336 illus34. HALF AXLE SHAFT MGB 62-66 Steel Wheel
BTB334 illus35. HUB MGB 62-66 Steel Wheel
BTB207 illus36. WHEEL STUD MGB 62-66 Steel Wheel
BTB354 illus37. WHEEL NUT MGB 62-60 Steel Wheel
BTB153 illus38. HALF SHAFT MGB 62-66 Wire Wheel
BTB334 illus39. HUB STEEL MGB 62-66 Wire Wheel
BTB332 illus40. WIRE WHEEL HUB REAR 12 TPI RH MGB 62-65 Wire
BTB333 WIRE WHEEL HUB REAR 12 TPI LH MGB 62-65 Wire
BTB732 WIRE WHEEL HUB REAR 8 TPI RH MGB 65-66 Wire
BTB733 WIRE WHEEL HUB REAR 8 TPI LH MGB 65-66 Wire
2K8160 illus41. CORE PLUG 1 5/16" DIAMETER DISHED MGB 62-66 Wire
GHK1133 illus42. REAR WHEEL BEARING KIT MGB 62-66
ATB7354 illus43. REAR HUB O RING SEAL MGB 62-66
GHS211 illus44. OIL SEAL REAR MGB 62-66
GHB127 illus45. REAR HUB BEARING MGB 62-66
GFG115 illus47. REAR HUB GASKET MGB 62-66
SF604051 illus48. SCREW MGB 62-66
October 2017 Prices INCLUDE Vat but exclude carriage



MG-M & GT rice List

- Retail IncVat

PARTNO DESCRIPTION Parts 4 MG Triumph Cars MG - MGB & GT price PRICE

Axle Tube
BTB110SE illus 1. RECONDITIONED AXLE 3.9:1 MGB 65-76 Steel Wheel
BTB110SEX RECONDITIONED AXLE 3.9:1 NEW CROWN WHEEL&PINION
BTB1109E RECONDITIONED AXLE 3.9:1 MGB 65-76 Wire Wheel
BTB1109EX RECONDITIONED AXLE 3.9:1 NEW CROWN WHEEL &
DAMA4243EX RECONDITIONED AXLE 3.9:1 NEW CROWN WHEEL &
21H6060 illus 2. REAR AXLE BREATHER MGB 65-80
MB99 illus 3. DIFFERENTIAL REAR COVER MGB 65-80
BTB674 illus 4. DIFFERENTIAL GASKET MGB 65-80
6K499 illus 5. DRAIN PLUG MGB 65-80
BTB872 illus 6. BOLT MGB 65-76
SH605041 illus 7. SETSCREW 5/16 X 1/2 UNF MGB 65-80
SH605071 SETSCREW 5/16 X 7/8 UNF MGB 65-80
AWZ107 illus 8. WAVY WASHER 7/16 ID MGB 65-80
BTB856 illus 9. CROWN WHEEL & PINION 3.9:1 MGB 65-80
MGS20720 illus10. QUAIFE UNIT MGB 65-80
BTB871 illus11. PINION PIN MGB 65-80
BTB715 illus12. ROLL PIN MGB 65-80
1G7445 illus14. THRUST WASHER MGB 65-80
BTB428 illus15. OUTPUT GEAR MGB 65-80
ATB7072 iltus16. THRUST WASHER 35/1000" STANDARD MGB 65-80
BTC9001 illus17. DIFFERENTIAL CARRIER BEARING MGB 65-80
BTC466 illus18. SPACER COLLAR (.149" MGB 65-80
BTC464 SPACER COLLAR 0.145" MGB 65-80
BTC462 SPACER COLLAR 0.141" MGB 62-65
BTC287 SPACER COLLAR 0.135" MGB 65-80
BTC288 SPACER COLLAR 0.133" MGB 65-80
BTC460 SPACER COLLAR 0.121" MGB 65-80
539706A illus20. PINION BEARING MGB 65-80
BTB853 illus21. SPACER MGB 65-80
549420A illus22. DIFFERENTIAL NOSE BEARING MGB 65-80
BTB1326 illus23. DIFFERENTIAL PINION SEAL MGB 65-80
NKC82A illus26. PLAIN WASHER MGB 65-80
BTB753 illus27. NYLOC NUT 3/4 UNF MGB 65-80
BTB700 illus28. 1/2 SHAFT - STEELWHEEL MGB 65-80 Steel
BTB714 1/2 SHAFT - WIRE WHEEL MGB 65-80 Wire
DAMA4122 illus29. HUB - STEEL WHEEL MGB 65-80 Steel
GAC7032 NI WIRE WHEEL HUB SET - 2 EAR MGB 65-80 Wire
GACT7033 NI WIRE WHEEL HUB SET OCTAGON MGB 65-80 Wire Wheel
BTB229 illus30. STEEL WHEEL STUD MGB 65-80
BTB716 illus31. WIRE WHEEL HUB RH MGB 65-80 Wire
BTB717 WIRE WHEEL HUB LH MGB 65-80 Wire
BTB187 illus32. WHEEL STUD MGB 65-80 Wire Wheel
BTB728 illus33. NUT MGB Wire Wheel
BTB681 illus34. SPACER MGB 65-80
GHK1213 illus35. REAR WHEEL BEARING KIT MGB 65-80
GHB158 illus36. BEARING MGB 65-80
GHS179 illus37. REAR HUB OIL SEAL MGB 65-80
AAA982 illus38. HUB TAPER COLLAR MGB 65-80
BTA249 illus39. SLOTTED NUT 1/2 SHAFT MGB 65-80
GHF506 illus40. SPLIT PIN 5/32 X 2 1/4 MGB 65-80

Pedal Box
October 2017 Prices INCLUDE Vat but exclude carriage 171L. 10 Page 23



PARTNO

PMZ308
PMZ312
WL700101
AHH7052
AHHG6156
AHH6510
AHH6511
PMZ308
WL700101
SH604051
SH604031
GHF331
BH606321
GHF333
GHF202
AHH7201
AAA4129
PWZ206
AAA1628
AHHS5100
CLZ514
GHF301
GHF501
SH604051
GHF331
GHF300
SH605051
GHF332
GHF301
SH604071
GHF331
GHF300
GHF200
GHF423
BHH1108
CLZ514
GHF301
GHF501
AAA1628
BH606161
GHF333
BH606141
PWZ306
BHH1097
PWZ206
LNZ106
AHHS5100
SH605051
GHF332
GHF301
SH604071
SH604051
GHF331
GHF300

October 2017

DESCRIPTION

illus 1.

illus 2.
illus 4.
illus 5.
illus 6.
illus 7.
illus 8.
illus 9.
illus10.
illusl1.
illus12.
illus13.
illus14.
illus15.
illus16.
illus17.
illus18.
illus20.
illus21.
illus22.
illus23.
illus24.
illus25.
illus26.
illus27.
illus28.
illus29.
illus30.
illus31.
illus32.
illus33.
illus34.
illus 1

illus 2

illus 3

illus 4

illus 5.
illus 6

illus 7

illus 8

illus12.
illus13.
illus14.
illus135.
illus16.
illus17.
illus18.
illus19.
illus20.
illus21.
illus22,
illus23.
illus24.

G- & GT rice List

SCREW

SCREW 3/16 X 3/4 UNF
LOCKING WASHER
BOTTOM PEDAL BOX SEAL

TOP PEDAL BOX SEAL COVER

BLANKING PLATE
GASKET BLANKNG PLATE
SCREW

LOCKING WASHER
SCREW

SET SCREW 1/4 X 3/8 UNF
LOCKING WASHER 1/4
BOLT 3/8 X 4 UNF
LOCKING WASHER

NUT 3/8 UNF

SPACER TUBE

BUSH

WASHER 3/8 X 1.25 OD
PEDAL RETURN SPRING
RUBBER PEDAL

CLEVIS PIN

PLAIN WASHER

SPLIT PIN

SCREW

LOCKING WASHER 1/4
WASHER 1/4 X 1/2 OD
SETSCREW 5/16 X 5/8" UNF
LOCKING WASHER
PLAIN WASHER

SET SCREW 1/4 X 7/8 UNF
LOCKING WASHER 1/4
WASHER 1/4 X 1/2 OD
NUT 1/4 UNF

. SCREW NOS X 1/2 POZI
. PEDAL BOX SEAL LID
. CLEVIS PIN

. WASHER PLAIN

SPLIT PIN

. SPRING RETURN PEDAL
.BOLT 3/8 X2 UNF
. LOCKING WASHER

BOLT 3/8 X 1 3/4 UNF
WASHER 3/8 X 10D
SPACER

WASHER 3/8 X 1.25 OD
NUT

RUBBER PEDAL

SET SCREW 5/16 X 5/8 UNF
LOCKING WASHER
PLAIN WASHER

SET SCREW 1/4 X 7/8 UNF
SCREW

LOCKING WASHER 1/4
WASHER 1/4 X 1/2 OD

Parts 4 MG Triumph Cars MG - MGB & GT

MGB 62-77
MGB 62-77
MGB 62-77
MGB 62-77
MGB 62-77
MGB 62-77
MGB 62-77
MGB 62-77
MGB 62-77
MGB 62-77
MGB 62-77
MGB 62-77
MGB 62-77
MGB 62-77
MGB 62-77
MGB 62-77
MGB 62-77
MGB 62-67
MGB 62-67
MGB 62-67
MGB 62-67
MGB 62-67
MGB 62-67
MGB 62-67
MGB 62-67
MGB 62-67
MGB 62-67
MGB 62-67
MGB 62-67
MGB 62-67
MGB 62-67
MGB 62-67
MGB 62-77
MGB 78-80
MGB 78-80
MGB 78-80
MGB 78-80
MGB 78-80
MGB 78-80
MGB 78-80
MGB 78-80
MGB 78-80
MGB 78-80
MGB 78-80
MGB 78-80
MGB 78-80
MGB 78-80
MGB 78-80
MGB 78-80
MGB 78-80
MGB 78-80
MGB 78-80
MGB 78-80
MGB 78-80

Prices INCLUDE Vat but exclude carriage

Retail
price

17I1L 10

IncVat
PRICE

Page 24



MG- G & GT Price List

Retail IncVat

PARTNO DESCRIPTION Parts 4 MG Triumph Cars MG - MGB & GT price PRICE
GHF200 illus25. NUT 1/4 UNF MGB 78-80
BHH1096 illus26. PEDAL BOX SEAL BASE MGB 78-80

Braking - Pipes

GBH158 illus 1. BRAKE HOSE FRONT MGB 62-74 Chrome
GBH172 BRAKE HOSE FRONT MGB 74-80 Rubber
GBH158SS STAINLESS STEEL BRAIDED BRAKE HOSE FRONT MGB
ABK103 STAINLESS STEEL BRAKE HOSE SET  MGB 62-80
233220A illus 2. COPPER WASHER MGB 62-80

1G9198 illus 3. BRAKE PIPE LOCKPLATE MGB 62-80

WE600061 illus 4. WASHER STAR EXT 3/8 MGB 62-80

NT606041 illus 5. NUT 3/8 UNF MGB 62-80

C5192A illus 6. BANJO BOLT MGB 62-77

3HS550 illus 7. COPPER WASHER MGB 62-77

7TH7851 illus 8. BANJO CONNECTOR MGB 62-77

233220A illus 9. COPPER WASHER MGB 62-77

17H7108 illus10. UNION - 5 WAY 3/8 UNF MGB 62-74 Chrome
3H2424 illus11. UNION - 3 WAY MGB 74-77 Rubber Bumper
SH604101 illus12. SET SCREW 1/4 X 1 1/4 UNF MGB 62-77

GHF331 illus13. LOCKING WASHER MGB 62-77

13H2303 illus14. BRAKE LIGHT SWITCH SCREW MGB 62-64 to 34661
C16062A illus15. BRAKE LIGHT SWITCH SPADE MGB 64-74 Chrome
BHA467SLUCAS illus16. BRAKE LIGHT SWITCH MGB 75-80 Rubber Bumper
GHF201 illus17. NUT 5/16 UNF MGB 75-80 Rubber Bumper
BCA4002 illus18. UNION FEMALE END MGB 78-80

PCR307 illus19. PCLIP 3/16 DIA X 7/32 MGB 62-80

GHF425 illus21. SCREW 10 X 1/2 MGB 62-80
WL700101 illus22, LOCKING WASHER MGB 62-80

PWZ203 illus23. WASHER 3/16 X 3/4 MGB 62-80

GBH159 illus24. BRAKE HOSE REAR MGB 62-80
GBH159AP AP BRAKE HOSE REAR MGB 62-80
GBH159SS STAINLESS STEEL BRAIDED BRAKE HOSE REAR  MGB
1G9198 illus25. BRAKE PIPE LOCKPLATE MGB 62-80
WE600061 illus26. WASHER STAR EXT 3/8 MGB 62-80
NT606041 illus27. NUT 3/8 UNF THIN MGB 62-80

233220A illus28. COPPER WASHER MGB 62-80

3H2424 illus29. UNION 3 WAY MGB 62-80

GHF101 illus30. SET SCREW MGB 62-76
SH604091 SET SCREW 1/4 X 1 1/8 UNF MGB 77-80

GHF331 illus31. WASHER LOCKING 1/4 MGB 62-80

GHF200 illus32, NUT 1/4 UNF MGB 62-76

LNZ104 NUT 1/4 UNF AERO MGB 77-80

GVP3001 illus33. BREAK PIPE PER METRE 3/16 DIA  MGB 62-80
AEHU1A illus34. PIPE NUT FEMALE 3/16 MGB 62-80
TM606031 illus3S. PIPE NUT MALE 3/16 X 3/8 MGB 62-80

PCR311 illus36. PIPE CLIP REAR 3/16 DIAMETER X 11/32 MGB 62-80
GHF301 illus37. WASHER PLAIN MGB 62-80

GHF332 illus38. LOCKING WASHER LOCKING MGB 62-80

GHF201 illus39. NUT 5/16 UNF MGB 62-80
GAC5022 BRAKE PIPE SET RIGHT HAND DRIVE ~ MGB 62-74 Chrome
GAC5022L BRAKE PIPE SET LHD MGB CHROME BUMPER

GAC5040 BRAKE PIPE SET RIGHT HAND DRIVE ~ MGB 74-76
GAC5034 BRAKE PIPE SET RIGHT HAND DRIVE =~ MGB 76-80 Single

October 2017 Prices INCLUDE Vat but exclude carriage 17IL 10 Page 25



MG - MG & GT Price List

) Retail IncVat
PARTNO DESCRIPTION Parts 4 MG Triumph Cars MG - MGB & GT price PRICE
Brake Master Cylinder
GMC150 illus 1. AP BRAKE MASTER CYLINDER MGB 62-76 Single Line
GMC150TRW BRAKE MASTER-CYL MGB62-76 SINGLE LINE
GRK1026 illus 2. SEAL REPAIR KIT MGB 62-67 Original
GRK3004 SEAL REPAIR KIT MGB 68-80
513123A illus 3. FILLER CAP MGB 62-76
17H7560 illus 5. CIRCLIP MGB 62-76
27H7751 iltlus 6. SPRING MGB 62-76
CLZ514 illus 7. CLEVIS PIN MGB 62-76
GHF301 illus 8. WASHER PLAIN MGB 62-76
GHF501 illus 9. SPLIT PIN MGB 62-76
GHF103 illus10. SCREW UPPER MGB 62-76
SH605071 SET SCREW LOWER 5/16 X 7/8 UNF  MGB 62-76
GHF335 illus11. LOCKING WASHER MGB 62-76
GHF201 illus12. NUT 5/16 UNF MGB 62-76
C5192A illus14. BANJO BOLT MGB 62-76
3H550 illus15. COPPER WASHER 7/16 INCH MGB 62-76
TH7851 illus16. BANJO CONNECTOR MGB 62-76
233220A illus17. COPPER WASHER 3/18 INCH MGB 62-76
GMC164Z illus 1. AP BRAKE MASTER CYLINDER MGB 77-80
GMC164TRW BRAKE MASTER CYL MGB DUAL LINE 77 ON
AAU2454 illus 2. AP BRAKE FAIL SWITCH MGB 77-80
513123A illus 4. FILLER CAP MGB 77-80
GHF332 illus 5. LOCKING WASHER MGB 77-80
GHF201 illus 6. NUT 5/16 UNF MGB 77-80
BAU1016 illus 7. DIRECT SERVO ASSEMBLY MGB 77-80
BAU1019 illus12. O RING SERVO VALVE MGB 77-80
GHF301 illus13. WASHER PLAIN MGB 77-80
GHF332 illus14. LOCKING WASHER MGB 77-80
GHF201 illus15. NUT 5/16 UNF MGB 77-80
CLZ514 iltlus16. CLEVIS PIN MGB 77-80
GHF301 illus17. WASHER PLAIN MGB 77-80
GHF501 illus18. SPLIT PIN MGB 77-80
BAU1476M illus19. SERVO PIPE PER METRE MGB 77-80
GHC10413 illus20. PREMIUM HOSE CLIP 16-22 MM MGB 77-80
Braking - Servo
GSM125 illus 1. AP SERVO ASSEMBLY INDIRECT 1.65:1 MGB 70-76
GSM125Z SERVO ASSEMBLY INDIRECT 1.65:1 MGB 70-76
TT3949 illus 2. AP SERVOKIT 1.9:1 MGB 70-76
TT3949Z SERVOKIT 1.9:1 MGB 70-76
18G8579AZ illus 3. SEAL REPAIR KIT 5/8 DIAMETER MGB 70-76
601907 illus 4. AIR VALVE & FILTER KIT MGB 70-76
601907AP AP AIR VALVE & FILTER KIT MGB 70-76
27H9321 illus 5. PIPE - ON SERVO HOSE MGB 70-76
BAU4856 illus 6. AP NON RETURN VALVE MGB 70-76
C5192A illus 7. BANJO BOLT MGB 70-76
3H550 illus 8. COPPER WASHER MGB 70-76
TH7851 illus 9. BANJO CONNECTOR MGB 70-76
233220A illus10. COPPER WASHER 7/16 INCH MGB 70-76
ADU1402 illus11. AP ONE WAY VALVE MGB 70-76
267604A illus12. COPPER WASHER 5/8 INCH MGB 70-76
BAU1476M illus13. SERVO PIPE PER METRE MGB 70-76
October 2017 Prices INCLUDE Vat but exclude carriage 171L.10 Page 26



MG -MG & GT rice List

, Retail IncVat
PARTNO DESCRIPTION Parts 4 MG Triumph Cars MG - MGB & GT price  PRICE
GHC10413 illus14. PREMIUM HOSE CLIP 16-22MM  MGB 70-76 ot o
TT3949 AP SERVO BOOSTER KIT 1.9:1 MGB 70-76
Braking System
PFB401 BRAKE / CLUTCH FLUID DOT 4 - 1 LITRE  MGB 62-80

Braking - Front

27H4650 illus 1. CALIPER RH NEW  MGB

27HA4651 illus 1. CALIPERLH NEW MGB

27HA353 illus 2. BOLT CALIPER BRIDGE MGB

17H7679 illus 3. SEAL CALIPER BRIDGE MGB

17H7917 illus 4. PLUG CALIPER BLEED MGB

BTC114 illus 7. CALIPER LOCKTAB MK3-MK4 SPRITE MGB
ATB4074 illus 8. BOLT - CALIPER GT6, MGB

GBH158 illus 9. BRAKE HOSE = S&M RR, MGB FR62-74
GBH1S58TRW BRAKE HOSE - STD S&M RR MGB FRONT
GBH172 illus 9. BRAKE HOSE FRONT MGB 74-81

GBH172AP illus 9. BRAKE HOSE - STD MGB 75-80

GBH158SS illus 9. BRAIDED BRAKE HOSE S-M RR MGB FR 62-80
ABK103 illus 9. BRAKE HOSE SET S/S MGB-MGBV8

233220A illus 10. COPPER WASHER  AH BN1-BJ§ MGB
8G8642 illus 11. CALIPER PISTON STD MGB

8G8642SS iltus 11. CALIPER PISTON S/S MGB

GRKS5007Z illus 12. CALIPER SEALS  MGB-MGB V8 MGA

GBP202BORG&BECKillus 13. FRONT BRAKE PAD SET MGB 62-80
GBP202FERODO illus 13. BRAKE PAD SET  MGB 62-80

GBP202GS illus 13. FRONT BRAKE PAD SET MGB 62-80

PS610241 illus 15. RETAINING PIN  VARIOUS, MGB

17H7990 illus 16. BRAKE PAD CLIP MGB

BTB387 illus 17. BRAKE DISC MGB 62-80

DBD101 illus 17. BRAKE DISCS UPRATED DRILLED AND GROOVED MGB
BTB387EBC illus 17. BRAKE DISC SET EBC MGB 62-80

BTB198 illus 18. BOLT BRAKE DISC MGB 62-80/MIDGET
GHF333 illus 19. LOCKING WASHER  MGB, VARIOUS

BTB412Z illus 21. BACKPLATERH MGB

BTB413Z illus 21. BACKPLATELH MGB

SH605041 illus 22. SETSCREW 5/16 X 1/2 UNF, MGB

GHF332 illus 23. WASHER LOCKING MGB GT& RD, VARIOUS
GBP240ASK ANTI SQUEAL SET OF 4 MGB, VARIOUS CUT TO

Braking - Rear

BTB338 illus 1. BRAKE DRUM BANJO AXL MGB 62-65
BTB706 illus 2. REAR BRAKE DRUMS MGB TUBE AXLE 65-80
ACH9373 illus 3. CHROME PLUG 3/4IN MGB

AHHS514 illus 3. BRAKE DRUM PLUG 1/2 MGA MGB MGC
BTB728 illus 4. NUT - BRAKE DRUM MGB WIRE WHEELS
SF604051 illus 5. SCREW BRAKE DRUM MGB STEEL WHEELS
GBS740BORG&BECK llus 6. REAR BRAKE SHOES MGB 62-80-MGB V8
GBS740 illus 6. REAR BRAKE SHOES MGB 62-80-MGB V8
BSK3 illus 7. BRAKE SPRING KIT MGB

17H799%4 illus 8. SPRING BRAKE REAR RH MGB

17H7995 illus 8. SPRING BRAKE REAR LH MGB

27H6478 illus 9. SPRING HB ADJ END RR MGB

October 2017 Prices INCLUDE Vat but exclude carriage 17IL 10 Page 27



PARTNO

17H7971
17H7969

17H7993
GWC1103Z

GRK2011Z
37H4642
17H7949
17H7949T
513118A
BAU22947Z
GHF331
GHF200
GAC5051
513772
27H6479
37H2005
37H2006
17H8057
51K1380

andbrake

AHHS227
AHH7391
GVC1004
GVC1016
GVC1014
AHHS5228
AHH7392
GVC1005
BHH1471
GVC1015
GHF501
AAU2492
GHF273
SF605051
ACHS104
AHHS322
PWZ204
ACHS8508
ACB8715
GHF220
AHHG6237
ACHS8529
AHHS295
AHHS203
ACHS5101
AHHS5225
AHHS5025
AWZ107
LNZ106
LNZ105
PCR809

October 2017

DESCRIPTION

illus 10.
illus 11.

MG - & GT rice List

RETAINR PLATE B/SHOE MGB
SPRING B/SHOE RETAIN MGB

Quantities: 2+ £0.38

illus 12.
illus 13.

BRAKE SHOE STEADYPIN MGB
REAR W/ CYL 20.32DIAALL RSTERS,MGB, GT 62

Quantities: 2+ £7.20

illus 14.
illus 15.
illus 16.

illus 17.
illus 19.
illus 20.
illus 21.
illus 22.
illus 23.
illus 23.
illus 24.
illus 24.
iltus 25.
illus 27.

illus 1.
illus 1.
illus 1.
illus 1.
illus 1.
illus 1.
illus 1.
illus 1.
illus 1.
illus 1.
illus 8.

illus 12.
illus 14.
illus 15.
illus 16.
illus 17.
illus 18.
illus 19.
illus 23.
illus 26.
illus 27.
illus 28.
illus 33.
illus 37.
illus 38.
illus 39.
illus 40.
illus 42.
illus 43.
illus 45.
illus 49.

SEALS W/CYL(GWC1122) MGB GT 67-75 ,948
GASKET W/CYLINDER MIDGET MGB MINI
CLIP W/CYL RETAINING VARIOUS, MGB
W/CYL CIRCLIP TOOL VARIOUS, MGB
BLEEDSCREW W/CYL MGB

REAR BRAKE ADJUSTER MGB

WASHER LOCKING 1/4 VARIOUS, MGB

NUT 1/4 UNF VARIOUS, MGB

BRAKE ADJ SPANNER MGB SM SPIT TR3-6 AH
HANDBRAKE SPRING MGB BANJO AXLE 62-66
HANDBRAKE SPRING MGB TUBE AXLE 65-80
HANDBRAKE LINK RH MGB 67-80
HANDBRAKE LINK LH MGB 67-80

GAITER HANDBRAKE LEV S&M MGB TRIUMPH
BOLT-BACK PLATE MGB 62-66

HANDBRAKE CABLE SW MGB RDR 62-66 MGA
HANDBRAKE CABLE SW MGB 65-67
HANDBRAKE CABLE SW MGB 67-74
HANDBRAKE CABLE SW MGB 74-76
HANDBRAKE ROD SW MGB 76-80
HANDBRAKE CABLE WW MGB RDR 62-66 & MGA
HANDBRAKE CABLE WW MGB 65-67
HANDBRAKE CABLE WW MGB 67-74
HANDBRAKE CABLE WW MGB 74-76
HANDBRAKE ROD WW MGB 76-80
SPLIT PIN MGB 62-80, VARIOUS

SWITCH H/BRAKE WARNG MGB 76-80 , MIDGET

NUT 3/8 UNF NYLOC TN VARIOUS, MGB

SCREW C/SK 5/16X5/8 VARIOUS, MGB

BRASS ADJUSTER NUT MGA MGB

TRUNNION H/BRAKE LVR MGB

WASHER 1/4 X 3/4 OD MGB, VARIOUS

SPRING H/B/CABLE MGB

CLEVIS PIN VARIOUS, MGB

NUT 10/32UNF NYLOC VARIOUS, MGB

CLAMP H/B CABLE MGB 62-74

FERRULE MGB 62-80

CLIP H/B CABLE MGB 62-76

BRACKET H/B TOP COMP MGB 62-76

BOTTOM BRACKET MGB 62-76

BUSH PIVOT HANDBRAKE MGB 62-76

COMPENSATER PIVOT MGC, MGB 62-76

WASHER WAVY 7/16 ID VARIOUS, MGB 62-76

NUT - OUTER MGB 62-76, VARIOUS

NUT 5/16 UNF AERO MGB 62-76

PCLIP 1/2 DIA X 9/32 MGB 77-80

Prices INCLUDE Vat but exclude carriage

Parts 4 MG Triumph Cars MG - MGB & GT

Retail
price

17I1L 10

IncVat
PRICE

Page 28



MG - & GT rice List

PARTNO DESCRIPTION Parts 4 MG Triumph Cars MG - MGB & GT I:;?'}glel

GHF221 illus 51. NYLOC NUT MGB 62-80

BHH2136 illus 52. STRAP HB CABLE TIE MGB 77-80

HBS1001 illus 55. STRAP H/BRAKE B&1500 MGB 76> AND 1500
Wheels & Trims

AHHG6297 illus 2. HUB CAP MGB 62-70

11H1051 illus 3. HUB CAP TOOL VARIOUS, MGB 62-69

BTB354 illus 4. WHEEL NUT DISC WHEEL MGB&C 62-70

GAC7044X illus 5. ROSTYLE MASK MGB 69>

AHH9268 illus 6. WHEEL CAP ROSTYLE MGB

AHH9268B illus 6. BADGE ROSTYLE H/CAP MGB 70-80

AHH9268G illus 6. BADGE JUBILEE HUBCAP MGB 70-80

BHH2687 illus 6. MG MOTIF SILVER/RED MGB 74-80

AHH9152 illus 7. WHEEL NUT ROSTYLE MGB 1/2" STUD 70-80

AHHI9152MG illus 7. WHEEL NUT MG CRESTED MGB 70-80

BHH1087 illus 10. WHEEL NUT MGB V8

BHH2451 WHEEL LE NAS SPEC 5J MGB 62-80

BHH2687 MG MOTIF SILVER/RED MGB 74-80

CHA747 MG MOTIF-SILVR/BLACK MGB

160053 CLIP HUBCAP BADGE MGB

BHH2269 WHEEL NUT LE BLACK MGB

GACS8204X B/ON WHEEL 14X5.5 SLV MGB

GACS8201XP HUB CAP PAINTED MGB

GACS8254X K/ON WHEEL 14X5.5 SLV MGB

GACS8255X K/ON WHEEL 15X5.5 SLV MGB

WWP515 illus 11. WIRE WHEEL PAINTED MGB 62-80

WWP714 illus 11. WIRE WHEEL PAINTED MGB 62-80 STAG 70-78

WWC515 illus 11. WIRE WHEEL CHROME MGB 62-80

WWC714 illus 11. WIRE WHEEL CHROME MGB 62-80 STAG 70-78

TUBES4 INNER TUBE 14IN X165 MGB

37H3651 illus 12. NIPPLE CHROME W/W MGB

37H3651 illus 12. NIPPLE CHROME W/W MGB

27H6824 illus 13. SPOKE 5.60IN WWC515L MGB

17H2078 illus 13. SPOKE 5.60IN WWP515L MGB

27H6825 illus 14. SPOKE 4.38IN WWC515S MGB

17H2077 illus 14. SPOKE 4.38IN WWP515S MGB

AHH7318 illus 15. SPINNER LH 2 EAR 12 TPI, MGB 62-65

AHH7317 illus 15. SPINNER RH 2 EAR 12 TPI, MGB 62-65

AHA7374/1 illus 15. SPINNER LH 2 EAR  8TPI MGB,A-H,TR 65>

AHA7373/1 illus 15. SPINNER RH 2 EAR 8TPI MGB,A-H, TR 65>

AHH7318A/1 illus 15. SPINNER LH 2 EAR 12 TPI, MGB 62-65

AHH7317A/1 illus 15. SPINNER RH 2 EAR 12 TPI, MGB 62-65

AHA7T374A illus 15. SPINNER LH 2 EAR 8TPI MG LOGO MGB

AHAT7373A illus 15. SPINNER RH 2 EAR  8TPI MG LOGO, MGB

AHH7316 illus 16. SPINNER OCTLH 12 TPI, MGB

AHH7315 illus 16. SPINNER OCTRH 12 TPI, MGB

88G607/1 illus 16. SPINNER LH OCTAGONAL MG-TR-AH 8TPI, MGB

88G606/1 illus 16. SPINNER RH OCTAGONAL MG-TR-AH 8TPI, MGB

AHH7316A illus 16. SPINNER OCTLH MG MODELS 12TPI MGB

AHHT7315A illus 16. SPINNER OCTRH MG MODELS 12TPIL.MGB

88G607A1 illus 16. SPINNER LH OCT- MG LOGO 8TPI, MGB

88G606A1 illus 16. SPINNER RH OCT-MG LOGO 8TPI, MGB

GACT7045 HUBSET WW BANJO 2EAR MGB 62-65

GAC7046 HUBSET WW BANJO OCTG MGB 62-65

October 2017 Prices INCLUDE Vat but exclude carriage 171L 10

IncVat
PRICE

Page 29



PARTNO

GAC7032
GAC7033
AHCS866
AHH7043
GLZ2267X4
BHAS329
AHH9153
C27290
AHH5839
AHHS839W
AHH6540

DESCRIPTION

G - MGB & GT Price List

W-WHEEL HUB SET 2EAR MGB 66-80
W-WHEEL HUB SET OCT MGB 66-80
illus 17. ROSTYLE WHEEL CLAMP MGB 70-80
illus 18. W/CLAMP WIRE WHEEL MGB
illus 19. WHEEL TRIMS CAR SET 14" WHEEL RIM, MGB
illus 20. JACK ASSY SIDE  MGB MGC
illus 21. WHEEL SPANNER MGB
illus 22. COPPER/HIDE HAMMER VARIOUS, MGB
illus 23. SPANNER OCTAGONAL METAL, MGB
illus 23. SPANNER 2 EARED WOOD VARIOUS, MGB
illus 24. HARDURA TOOLBAG VARIOUS, MGB

Dynamo and Mountings

17D11
12G2102
WKN404
GHF334
NT607041
032307
529221A
GGB102
12A526
SH605061
GHF332
SH605091
GHF332
GHF222
BH605141
SH505051
2A128
12H67

illus 2. DYNAMO FAN  62-67 MGB/A S&M SPIT TD-TF

illus 3. PULLEY DYNAMO  MGB 62-67

illus 4. WOODRUFF 1/2 D X 1/8 MGB 62-67

illus 5. LOCKING WASHER  MGB,VARIOUS

illus 6. NUT 7/16 UNF THIN VARIOUS,MGB

illus 8. FELT SEAL DIPSTICK MGB 62-67

illus 10. BEARING DYNAMO FRONT MGB 62-67

illus 11. CARBON BRUSH SET MGB 62-67

illus 1. BRACKET DYNAMO  MGB 62-67

illus 2. SCREW MGB, VARIOUS

illus 3. WASHER LOCKING MGB GT& RD, VARIOUS
illus 4. SETSCREW 5/16 X 1 1/8"UNF,MGB

illsu 5. WASHER LOCKING MGB GT& RD, VARIOUS
illus 6. NYLOC NUT MGB 62-68 VARIOUS

illus 7. BOLT MGB 5/16 X 1 3/4"UNF

illus 11. SETSCREW MGB 5/16 X 5/8" UNC

illus 15. PILLAR DYNAMO ADJUST MGB 62-76

illus 16. LINK-DYNAMO ADJUSTNG MGB 62-76

Alternator and Mountings

GXE2206

GXE2206LUCAS

GEU250
GGB504
18G8620
AAU2053A
529221A
NKC484A
18G8620
BAUS063
BAU2288A
BAU4443A
AAU2053A
TH5021
12H2517
GHF104
BH605141
C37222A
2A128
12H67
12G1054

October 2017

illus 1. ALTERNATOR NEW+FAN/PULLEY MGB

illus 1. ALTERNATOR NEW LUCAS MGB, VARIOUS
ALTERNATOR PLUG MGB 1968 ON

illus 2. CARBON BRUSH SET MGB 1968 ON

illus 4. BEARING KIT ALT REAR MGB 1968 ON

illus 5. ROTOR 16/17ACR  MGB 1968 ON

illus 7. BEARING DYNAMO FRONT MGB 62-67

illus 9. ALTERNATOR COVER MGB 69-80

illus 10. BEARING KIT ALT REAR MGB 1968 ON

illus 12. RECTIFIER UNIT MGB 68 ON

illus 12. RECTIFIER ASSEMBLY MGB 68 ON

illus 13. VOLTAGE REGULATOR 1275 72-73 MGB,C GT6

illus 14. ROTOR 16/17ACR  MGB 1968 ON

illus 16. BEARING DYNAMO  MGB 68 ON

illus 1. BRACKET ALTERNATOR MGB 68-80

illus 5. BOLT MGB 62-80,VARIOUS

illus 8. BOLT MGB 5/16 X 1 3/4"UNF

illus 11. FAN MGB

illus 14. PILLAR DYNAMO ADJUST MGB 62-76

illus 15. LINK-DYNAMO ADJUSTNG MGB 62-76

illus 21. PULLEY ALT 2.75IN MGB 68-76

Prices INCLUDE Vat but exclude carriage

Parts 4 MG Triumph Cars MG - MGB & GT

Retail
price

17I1L 10

IncVat
PRICE

nAa sa An

Page 30



G- G & GT riceList

PARTNO DESCRIPTION Parts 4 MG Triumph Cars MG - MGB & GT
12G2627 illus 25. BRACKET - ALTERNATOR MGB 76-80
Starter Motor
GXE4418 illus 1. STARTER MOTOR  MGB 62-67
GXE4418X illus 1. START MTR HI TORQUE MGB 62-67
53K149 illus 2. STARTERBOLT  MGB 62-67
GHF333 illus 3. LOCKING WASHER MGB, VARIOUS
WKN505 illus 4. WOODRUFFKEY  MGB 18GB >
244714A illus 5. BUSH STARTER  MGB 62-67
TH5013 illus 6. FIELD COIL MGB 62-67
242958A illus 7. BUSH STARTER MOTOR MGB 62-67
GSB102 illus 8. BRUSH SET(4 BRUSHES) MGB 62-67
GXE4441UR illus 1. STARTER MOTOR NEW MGB 68-ON
BH506141 illus 2. BOLT 3/8 X 1 3/4"UNC MGB
GHF165 iltus 3. SETSCREW 3/8 X 1" UNC MGB
GHF333 illus 4. LOCKING WASHER  MGB, VARIOUS
608352A iltlus 5. BUSH KIT STARTER MGB 68-80
37H1890 illus 6. STARTER PINION  MGB 68-80
47TH5340 illus 7. STARTER MOTOR BUSH MGB 68-80
BHH790 illus 8. SMOTOR COVER  MGB 68-80
AEU1649 illus 9. SOLENOID MGB-TR 68-71 MGC
NAF10001 iltlus 10. SOLENOID STARTER MTR MGB 68-80
GSB103 illus 11. BRUSH SET 2 BRUSHES MGB
GSB108 illus 12. BRUSH SET MGB

Electrical - Ignition

PTR10 LU-142AP12 25D4 4 CYL P/EARTH, MGB

PTRY LU-142A KIT 23D/25D4CYL N/EARTH+VAC MGB

PTR13 LU-143 43/45D4 4CYL NEG EARTH, MGB

PTRS DIZZY 4CYL VAC POS E PERTRONIX, MGB

PTR3 DIZZY 4CYL VAC NEG E PERTRONIX, MGB

PTRS COIL FOR 4 AND 6 CYLCHROME PERTRONIX MGB

PTR35 BLACK COIL 3.0 OH PERTRONIX MGB
Distributor

1HS811LUCAS illus 1. DIST.NEW 25D4  MGA / MGB / SPRITE /

12H5038Z illus 1. DISTRIBUTOR 45D4 MGB 71-74

8G726 illus 2. COVER DISTRIBUTOR S&M(SIDEPORT CAP)MGB

GDC102LUCAS illus 3. DISTRIBUTOR CAP 25D4 S&M MK 1-MK4 MGB

GDC103LUCAS illus 4. DISTRIBUTOR CAP 25D4 LUCAS DDB106 MGB

262703A illus 5. BRUSH AND SPRING 25D MGB

GRA2101HDRED illus 6. ROTOR ARM 25D4  DRB101C HQ MGB

GCS2101LUCAS illus 7. CONTACT SET 25D VARIOUS, MGB

GCS111LUCAS illus 7. POINT SET 25D 4-6CYLCOMPETITION 320Z MGB

GSC111LUCAS illus 8. CONDENSER 25D4 & 35D VARIOUS, MGB

37H2981LUCAS illus 9. LT BLOCK SPADE TYPE LUCAS 54417569 MGB

515859 illus 10 VACUUM UNIT 25D MGB >74 , TR

RTC1425 illus 10 VACUUM UNIT 25D TR6 PRE1974,MGB

RTC315A illus 12 BRUSH AND SPRING MGB

GRA2114HQRED illus 13 ROTOR ARM 45D4/6 LUCAS DRB104CHQ MGB

GSC2109LUCAS illus 15 CONDENSER 45D4 LUCAS DCB104 MGB

AAU2233 illus 16 VACUUM UNIT 45D TYPE MGB

513682A illus 17 ORING -DIZZY 25D4, MGB

October 2017 Prices INCLUDE Vat but exclude carriage

Retail
price

17I1L 10

IncVat
PRICE

Page 31



PARTNO

3H2138

GHF117
GHF331
GHF300

Ignition

GCL101
GCL101LUCAS
DLB101LUCAS
DLB102LUCAS
DLB10SLUCAS
CRST156
AHH6857
SH604051
105036

214279A
GCL1110

8G727
GHT102LUCAS
GHT106LUCAS
GHT184LUCAS
CRST255
1G2673
AAAS5981M

TT2982M
3H1422
N9YCC
BP6ES
12H733
6K649
6K650
12H90
37H4229M
12B2062
12B2095
LTKS1
LTKS2
LTKS3
LTKS4

Switches

BHA4513
AHHG6277
BHA4278LUCAS
AHHS368
BHA4948LUCAS
37TH80S0LUCAS
13H337LUCAS
24G1345LUCAS
BHA4578

704885

GAE132

October 2017

DESCRIPTION

illus 18.
illus 19.
illus 20.
illus 21.

illus 1.
illus 1.
illus 2.
illus 2.
illus 2.
illus 2.
illus 3.
illus 4.
illus 8.
illus 9.

illus 10.
illus 11.
illus 12.
illus 12,
illus 12.
illus 13.
illus 14.
illus 15.

MG - GB & GT rice List

Parts 4 MG Triumph Cars MG - MGB & GT

DIST CLAMP PLATE VARIOUS, MGB
SCREW-FLOOR MGB 62-80
WASHER LOCKING 1/4 VARIOUS, MGB
WASHER 1/4 X 1/2 OD MGB

COIL SCREW INHT 100/4,100/6,3000,MGB
COIL SCREW INHT VARIOUS, MGB
IGNITION COIL 12V 100/4,100/6,3000,MGB
IGNITION COIL BALLAS VARIOUS, MGB
LUCAS SPORTS COIL VARIOUS, MGB

LABEL LUCAS COIL VARIOUS, MGB

COIL BRACKET MGB 62-67
SCREW MGB >67, VARIOUS
ACORN NUT 1.2 INCH 100/4,100/6,3000,MGB

HT BRASS WASHER MGA MGB S&M TR AH

HT LEAD ENDKIT VARIOUS,MGB

COVER COIL VARIOUS, MGB

IGN LEAD SET S/ENTRY 25D4 S&M, MGB >67
LEAD SET-TOP ENTRY S&M MGB 67-74 25D4
IGNITION LEAD SET MGB 74-80

IGN CABLE NUMBER SET VARIOUS, MGB
SPACER HT LEAD  VARIOUS, MGB

HT LEAD SOLD PER MTR (30 MTR ROLLS) MGB

Quantities: 4+ £1.92

illus 15.
illus 16.
illus 17.
illus 17.
illus 18.
illus 19.
illus 20.
illus 21.
illus 28.
illus 29.
illus 30.

illus 2.
illus 3.
illus 4.
illus 4.
illus 5.
illus 5.
illus 6.
illus 7.
illus 9.
illus 9.

illus 10.

HT LEAD PER METRE MGB

SUPPRESSOR CAP  VARIOUS, MGB

SPARK PLUG VARIOUS, MGB

SPARK PLUG VARIOUS, MGB

VACUUM PIPE METAL MGB 62-67

OLIVE VACUUM PIPE MGB 62-67

NUT FEMALE MGB 62-67

CLIP MGB 62-67

VACUUM PIPE VARIOUS, MGB
CONNECTOR 90 DEGREE STAG MGB VARIOUS
V/ADAPTOR STRAIGHT STAG MGB VARIOUS

IGNKIT MGB 62-67 25D
IGNKIT MGB 67-74 25D
IGNKIT MGB 75-76 45D
IGNKIT MGB 77-79 45DE

SWITCH OVERDRIVE MGB 62-74

O/D SWITCH BEZEL CP MGB

RHEOSTAT TR4-7-MGB62-76 ASTON

PANEL LIGHT KNOB P MGA, MGB

SWITCH INDICATOR MIDGET70-72 MGB
INDICATOR SWITCH MGB,GT MIDGET 70-78
SWITCH IGNITION DASH NO BARRELIL/KEYS MGB
LUCAS BARREL & KEYS LUCAS, MGB

SWITCH PUSH PULL MGB65-71TRS5-6

KNOB LIGHT SWITCH TRIUMPH HERALD, MGB

SWITCH HRW PUSH PULL MG MODELS, MGB

Prices INCLUDE Vat but exclude carriage

Retail
price

171L 10

IncVat
PRICE

Page 32



PARTNO

BHA4786LLUCAS
AHHS362
BHAS111
BHAS113
BHAS114
BHAS267
BHA4513
AHH6277
BHA4278LUCAS
AHHS368
37TH7708
BHAS292LUCAS
BHAS251
37TH80S0LUCAS
37H8101
AAU3205
AAU3206
AAU3204
AAU3210
BHA4278LUCAS
37THT995
AAU4562
BHAS292LUCAS
AAU4991
520999ALUCAS
AHH7010
AHH7010BKT
13H391
BHA4593Z
AB606033
GFU2103
GFU2103LUCAS
GFU2204
GFU2125LUCAS
BHA4780
GHF425
SPB354LUCAS
SPB356LUCAS
SPB35SLUCAS
SPB357LUCAS
502087LUCAS

Gauges

BHA4286E
BHA4466E
BHA4478E
BHA4288E
BHA4468E
BHA4480E
BHAS279E
BHAS281E
BHA4212E
BHA4380E
BHA4712E

October 2017

DESCRIPTION

MG-M & GT Price List

illus 12. SWITCH WIPER 2 SPEED MGB68-ON
illus 14. PLAIN PUSH/PULL KNOB MG/MGB, AH BN1-BJ8

illus 1.
illus 3.
illus 4.
illus 5.
illus 6.
illus 7.
illus 8.
illus 8.
illus 9.

LIGHT SWITCH ROCKER MGB GT/V8/SPRITE
ROCKER FAN SWITCH MGB 72-76

SWITCH HTD RR WINDOW MGB

SWITCH HAZRD WARNING MGB 72-76 MIDGET72>
SWITCH OVERDRIVE MGB 62-74

O/D SWITCH BEZEL CP MGB

RHEOSTAT TR4-7-MGB62-76 ASTON

PANEL LIGHT KNOB P MGA, MGB

SWITCH STEERING LOCK MGB MIDGET

illus 10. SWITCH IGNITION MGB 74> MIDGET

illus 11. WASHER STALK MGB >76 WITH O/D

illus 12, INDICATOR SWITCH MGB,GT MIDGET 70-78
illus 12. INDICATOR SWITCH MGB AND V8 74-76

illus 1.
illus 2.
illus 3.
illus 4.
illus 5.
illus 5.
illus 6.
illus 7.
illus 9.

HAZARD SWITCH  MGB,GT 77-81
SWITCH MAP LIGHT MGB 77>

HEATER FAN SWITCH MGB 1977>
SWITCH HRW PICT MGB

RHEOSTAT TR4-7-MGB62-76 ASTON
PANEL LIGHT KNOB MGB

LIGHT SWITCH MGB,GT 76>

SWITCH IGNITION MGB 74> MIDGET
SWITCH INDICATOR UK MGB 1976 ON

illus 10. G/LEVER O/D SWITCH STAG & MGB SPIT

illus 1.
illus 1.
illus 2.
illus 3.
illus 4.
illus 5.
illus 5.
illus 5.
illus 6.
illus 7.
illus 8.
illus 9.
illus 9.
illus 9.
illus 9.

CIGAR LIGHTER+BULB MGB TR7
BRACKET MGB

SWITCH BOOT LIGHT MGA MGB

SWITCH DOOR MGB MGC V8

SCREW CPANHD NO6X3/8 MGB

FLASHER UNIT TR2,3,A,MGB,GT6I AH
FLASHER UNIT TR2,3,MGB,GT6MK1 AH
THERMAL FLASHER UNITMGB,SPITIV/1500/GT63
FLASHER UNIT CARS REPEATERS, MGB
FLASHER CLIP SQUARE MGB

SCREW10X1/2 AB610041 MGB

RED WARNING LAMP MGB

BLUE WARNING LAMP MGB

GREEN WARNING LAMP MGB

AMBER WARNING LAMP MGB

illus 11. DIP SWITCH ROUND VARIOUS, MGB

illus 1
illus 1
illus 1
illus 1
illus 1
illus 1
illus 1
illus 1
illus 2
illus 2
illus 2

() SPEEDO SN6125/04 MGB 62-SEP64 STD JAE
(!) SPEEDO SN6125/04A MGB OCT64-NOV64 STD
(!) SPEEDO SN6144/00 MGB DEC64-SEPT67 STD
(!) SPEEDO SN6125/06 JAEMGB 62-SEPT64 O/DRIV
() SPEEDO MPH MGB OCT64-NOV64 -O/D

(") SPEEDO SN6144/02 MGB DEC64-SEPT67 O/D
(") SPEEDO SN6144/20 BS MGB STD AUG73-JUL74
(!) SPEEDO SN6144/23BS MGB O/D AUG73-JUL74
() TACHO RN2312/01 MGB62-SEPT64 JAEGER
(!) TACHO RVI2401/00B SPR2 1098,MGB 64-67

() 80.0TACHO RVI2430/00MGB JUL69-JUL72

Prices INCLUDE Vat but exclude carriage

Parts 4 MG Triumph Cars MG - MGB & GT

Retail
price

17I1L 10

IncVat
PRICE

Page 33



PARTNO

BHAS220E
BHAS219E
27H397
AJHS5177
AJH5178
17H2105
AJHS5176
17H3744
17H1339
WL700061
17H1304
GSD103
GSD111
GSD249
GSD115
GSD117
BHA4291
ACB8474
ACHS8529
PCR809
17H298E
BHAA4586E
BHAA4737
BHA4900
BHA4764
BHA4214E
BHA4470E
BHA4736
AJH5182
502269F
17H1642
AJH5186
AJHS5185
AJH5187
17H932
PCR307
602037
2K4936
AHHG6678
PCR307
AAA628
AHH6554
128484
BHA4602
AAU3035E
ADU2174E
AAU3037E
ADU2176E
17H2105
17H1339
17H1304
GSD315
RFN305
ACB8474

October 2017

DESCRIPTION

illus 2.
illus 2.
illus 3.
illus 4.
illus 5.
illus 5.
illus 6.
illus 7.
illus 7.
illus 8.
illus 9.

illus 10.
illus 10.
illus 10.
illus 10.
illus 10.
illus 11.
illus 12.
illus 13.
illus 14.
illus 17.
illus 17.
illus 17.
illus 17.
illus 17.
illus 18.
illus 18.
illus 18.
illus 19.
illus 20.
illus 21.
illus 22.
illus 23.
illus 23.
illus 25.
illus 28.
illus 29.

Tlus 30.

illus 31.
illus 34.
illus 36.
illus 39.
illus 40.
illus 40.

illus 1.
illus 1.
illus 2.
illus 2.

illus 3.
illus 4.
illus 5.
illus 6.
illus 7.

MG - MG & GT Price List

Parts 4 MG Triumph Cars MG - MGB & GT Retail

(!) TACHO RVC2415/00 MIDGET,MGB 72-74
(1) TACHORVC1410/00 MGB AUG 74-AUG 76
BEZEL 4 DIA CHROME MGB
GAUGE GLASS 4IN FLAT MGA/B S&M TC TD TF
SEATING RING 4IN DIA MGB
SEAL RINGMED MGB
BRACKET-GAUGE LARGE MGB
BRACKET-SPEEDO/TACHO MGB
CLAMP-GAUGE/DASH MGB
WASHER SPRING NO6 MGB
THUMB NUT 4MM LARGE GAUGES MGB
CABLE SPEEDO MGB 62-64
CABLE SPEEDO STD>67BMGB,HER/SF/GT6 NO/OD
SPEEDO CABLE MGB 67-74 NON O-D
SPEEDO CABLE 62-63 + 67-74 +OD MGB AH
CABLE SPEEDO MGB 63-67 WITH O/D
CABLE TACHORHD B MGB
GROMMET SPEEDO CABLE MGB
FERRULE MGB 62-80
PCLIP 1/2 DIA X 9/32 MGB 77-80
(!) DUAL GAUGE GD1501/01 MGA 14090 ON, MGB
(!) DUAL GAUGE GD1501/14 S&M 111, MGB
DUAL GAUGE DEGF MIG AN460460-5929MGB
DUAL GAUGE MIDGET COLD TO HOT MGB
DUAL GAUGE C INT NEW MIDGET, MGB
() FUEL GAUGE FG2530/63 MGB MIDGET I 948
() FUEL GAUGE BF2300/02 MGB OCT 64-SEPT 67
FUEL GAUGE BF2226/00 MGB
BEZEL 2IN DIA CHROME MGB
GLASS 2IN DIA FLAT MGB
SEATING RING 2IN DIA MGB
BRACKET-GAUGE SMALL MGB
BRACKET-GAUGE SMALL MGB
BRACKET(NAO028) MGB
THUMB NUT 4MM SMALL MGB
PCLIP 3/16DIA X 7/32 MGB 62-80
GROMMET SPEEDO CABLE AH BN1 - BJ§ STAG MGB
LEATHER WASHER = AH MODELS,MGB
OILFEED PIPE =~ MGB 62-80
PCLIP 3/16DIA X 7/32 MGB 62-80
ADAPTOR OILPIPE  MGA MGB 62-76
OIL PIPE BRAIDED MGB
VOLTAGE STABILISER MGB (POSITIVE)
VOLTAGE STABILISER MGB (NEGATIVE)
() SPEEDO SN5234/00 MGB 77-80
() SPEEDO SN5234/02 MGB 77-80
() TACHO RVC1414/00 MGB77-80
() TACHO RVC1414/01 MGB 77-80
SEALRINGMED MGB
CLAMP-GAUGE/DASH MGB
THUMB NUT 4MM LARGE GAUGES MGB
CABLE SPEEDO 76> MGB OD
GROMMET 5/16 X5/8 OD MGB
GROMMET SPEEDO CABLE MGB

Prices INCLUDE Vat but exclude carriage 171L 10

IncVat
PRICE

Pl

Page 34



PARTNO

ACHS529
SH604051
GHF331
GHF301
PCR809
BHA4602
GHF425
AAU3032E
AAU3030E
AAU3033E
17H1642
17H932
WL700061
AJHS5187
2K4936
AHH6678
RFN303
PMZ307
WL700101
PCR307
AAA628
GHF117
GHF331
AHHG6554

DESCRIPTION Parts 4 MG Triumph Cars MG - MGB & GT
illus 8. FERRULE MGB 62-80
illus 9. SCREW MGB >67, VARIOUS
illus 10. WASHER LOCKING 1/4 VARIOUS, MGB

illus 11.
illus 12.
illus 13.
illus 14.
illus 15.
illus 16.
illus 17.

illus 18.
illus 19.
illus 20.
illus 21.
illus 22.
illus 23.
illus 24.
illus 25.
illus 26.
illus 27.
illus 28.
illus 29.
illus 30.

MG- GB & GT rice List

WASHER PLAIN  MGB 62-68 VARIOUS
PCLIP 1/2 DIA X 9/32 MGB 77-80
VOLTAGE STABILISER MGB (NEGATIVE)
SCREW10X1/2 AB610041 MGB

(") FUEL GAUGE BF2239/00 MGB 77-80

(!) TEMP GAUGE BT2231/01 MGB 77-80
(!) OIL GAUGE PL2324/00 MGB 77-80
SEATING RING 2IN DIA MGB

THUMB NUT 4MM SMALL MGB
WASHER SPRING NO6 MGB
BRACKET(NA028) MGB

LEATHER WASHER  AH MODELS,MGB
OIL FEEDPIPE  MGB 62-80

GROMMET 3/16 X5/8 OD MOST MODELS MGB
SCREW 3/16 UNF X7/16 MGB

WASHER LOCKING  MGB GT 62-80
PCLIP 3/16DIA X 7/32 MGB 62-80
ADAPTOR OILPIPE MGA MGB 62-76
SCREW-FLOOR  MGB 62-80

WASHER LOCKING 1/4 VARIOUS, MGB
OIL PIPE BRAIDED MGB

Lamps - Headlamps

57TH5296
LUB383LUCAS
BAU1770A
57TH5296
ALU1020
GAC4023LUCAS
GAC4022LUCAS
LULUB802
LULUBS804
SML3

SML3Z

SML3P
27TH8264XLUCAS
SMLA4

27TH6481K
BAU1460

13H565

BAU2110
BHM7058LUCAS
515218A
AB606021
SE910201
AB610051
WE702101

illus 3.
iltus 4.
illus 7.
illus 8.
illus 9.

illus 9.
illus 9.
illus 9.
illus 9.

illus 10.
illus 10.
illus 11.
illus 12.

HEADLAMP RIM MGB
H/LAMP RHD AND PILOT AH BN1-BJ8/ MGB
GAITER H4 LAMP MGB
HEADLAMP RIM MGB
H/LAMP RIM 1978 ON MGB
LAMP SET INC BULBS RHD WITH PILOT MGB
LAMP SET INC BULBS RHD NO PILOT MGB
LHD H4 KIT NO PILOT WITH BULBS MGB
LHD H4 KIT + PILOT WITH BULBS MGB
LAMP BUCKET MOST MODELS MGB
H/LAMP BUCKET MGB
LAMP BUCKET PLASTIC VARIOUS, MGB
PAIR BOWLS + RET RIM AH / VARIOUS, MGB
H/LAMP BUCKET INNER MOST MODELS MGB
RIM PLUS BACKING KIT MGB
HEADLAMP RIM CLIP 45T MGB
H-LAMP TO BODY SEAL MOST MODELS MGB

Quantities: 2+ £1.80

illus 13.
illus 14.
illus 15.
illus 16.
illus 16.
illus 16.
illus 16.

Lamps - Front

October 2017

LOOM H/LAMP NO PILOT VARIOUS, MGB
TRIMSCREW KIT-H/LAMP AH/ VARIOUS MGB
RIM LAMP RETAINING GT6,MGB,TR, BJ8
SCREW PANHD NO6X1/4 VARIOUS, MGB
SCREW 3/16 X 5/8 UNF VARIOUS, MGB

SELF TAPPER SCREW VARIOUS, MGB
WASHER STAR EXT 3/16 MGB

Prices INCLUDE Vat but exclude carriage

Retail Incvat
price PRICE
171L 10 Page 35



PARTNO

BHA4966
516304
STHS569
516306

516308
BHA4966CLK
STHS572
GLB382LUCAS
37H5452
244700A
17H5216
37TH5294
BHAS322
37TH8759
PMP208
37TH8759G
37H5452
BULBKIT7
BULBKITY

DESCRIPTION

illus 1.
illus 2.
illus 3.
illus 4.
illus 5.
illus 5.
illus 6.
illus 7.
illus 9.

illus 10.
illus 11.
illus 12.
illus 13.
illus 14.
illus 15.
illus 16.
illus 18.

Lamps - Rear

BHA4175
STHS355
RMP308
5THS5354
STHS5357
57THS5356
GLB382LUCAS
GLB380LUCAS
37TH5452
37H5459C
STH5358
17H5216
BHA4973
518868
37TH4737A
37H5452
3THS459C
37H4679

illus 1.
illus 2.
illus 3.
illus 4.
illus 5.
illus 6.
illus 7.
illus 8.
illus 9.

illus 10.
illus 11.
illus 12.
illus 13.
illus 15.
illus 16.
illus 19.
illus 20.
illus 21.

Lamps - Reverse

37TH1759
37TH7512LUCAS
PMP214
AB606082
AK606021

illus 3.
illus 4.
illus 5.
illus 3.
illus 6.

MG-M & GT rice List

Retail

Parts 4 MG Triumph Cars MG - MGB & GT .
arts riumph Cars price

INDICATOR-SIDELIGHT MGB 62-74-SPIT,GT6
RIM LENS RETAINING MGB TRIUMPH
SCREW RIM RETAINING MGB
LENS-AMBER VARIOUS, MGB
LENS WHITE FF SIDE MGB 62-69 SPIT 67-69
CLR LENS KIT S/LAMPS MGB 62-74-SPIT,GT6
GASKET IND/SIDE  SPITIII-15 GT6 MGB
BULB 12V 21W SINGLE AH / STAG / MGB
INTERNAL-382 HOLDER MGB
INTERNALS-989 HOLDER MGA/MGB/MGC/V8/S&M
BOOT B/HOLDER 1 WIRE MGB
BOOT B/HOLDER 989 MGB
LAMP IND MGB74-> UK
LENS-AMBER FRONT IND MGB 75 ON
SCREW NO6 X 1/2 BRIG MGB
GASKET FRONT LENS MGB
INTERNAL-382 HOLDER MGB
EMERGENCY BULB KIT MGB 1962-1974
EMERGENCY BULB KIT MGB 1976 ON

REAR LAMP MGB 62-69
LENS RETAINING RIM MGB MGC S&M 61-69
SCREW CSK MGB GT
LENS AMBER REAR IND MGB >70
LENS RED STOP/TAIL >70 MGB/SPRITE
LENS GSKT STOP/TAIL MGB/S&M >70
BULB 12V 21W SINGLE AH / STAG / MG
BULB 12V 21/5 WATT TR MGB STAG
INTERNAL-382 HOLDER MGB

BULB CONTACTS TWIN MGB

LAMP GASKET STP/TAIL MGB/S&M >70

BOOT B/HOLDER 1 WIRE MGB

REAR LAMP MGB 70-80

SCREW LENS FITTING MGB

LENS GASKET STP/TAIL MGB /S&M 70>

INTERNAL-382 HOLDER MGB

BULB CONTACTS TWIN MGB

LAMP GASKET STP/TAIL MGB/S&M

GASKET REVLAMP MGB
LENS REVERSE LAMP MGB
SCREW 7/8 NO6 CHROME MGB
SCREW-CPANHD NO6X1.0 MGB
SPIRE NUT NO6  MGB

Lamps - Number Plate

BHA4283
37HS452
17HS5216
17H5302
RMP320

October 2017

illus 1.
illus 3.
illus 4.

NUMBER PLATE LAMP MGB 62-73
INTERNAL-382 HOLDER MGB
BOOT B/HOLDER 1 WIRE MGB

illus 5. NO PLATE LAMP SEAL MGB

illus 6.

SCREW O/RIDER PLINTH MGB 62-74

Prices INCLUDE Vat but exclude carriage 171L10

IncVat
PRICE

Page 36



MG-M & GT Price List

PARTNO DESCRIPTION Parts 4 MG Triumph Cars MG - MGB & GT ';?ggg
RMP316 illus 7. SCREW O/RIDER PLINTH MGB e
GHF220 illus 8. NUT 10/32UNF NYLOC VARIOUS, MGB
AHH6398/9 illus 9. LAMP PLINTH PAIR MGB MGC
83H335 illus 15. NO PLATE LAMP BLACK VARIOUS, MGB
57H5368 illus 17. NO PLATE LENS SEAL AH 100-4-6 MGA TR3 MGB
601721A illus 18. NO PLATE LAMP LENS VARIOUS, MGB
Lamps - Fog
ALU1017 illus 1. REAR FOGLAMP  MGB 78-80
518868 illus 3. SCREW LENS FITTING MGB
GLB382LUCAS illus 4. BULB 12V 21W SINGLE AH / STAG / MGB
SH606061 illus 6. SETSCREW 3/8 X 3/4" UNF MGB
GHF333 illus 7. LOCKING WASHER ~ MGB, VARIOUS
602037 iltlus 8. GROMMET SPEEDO CABLE AH BN1-BJ8 STAG MGB
Lamps - Interior
BHA4283 illus 1. DASH LAMP MGB 62-73
17H5302 illus 3. DASH LAMP SEAL MGB
RMP310 illus 4. CHROME C/SUNK SCREW MGB
21G9057 illus 5. PLAIN RUBBER WASHER MGB
WL700101 illus 6. WASHER LOCKING ~ MGB GT 62-80
GHF206 illus 7. NUT 3/16 AF MGB/MINI/MGTD
PMZ208 illus 10. SCREW NO6 X 1/2 MGB
WL700061 illus 11. WASHER LOCKING SPRING NO6 MGB
PFS106 illus 16. SPIRE NUT AH BN1-BJ8 MGB
BHAS5040 illus 17. BOOT LAMP MGB 62-80, S&M 67-79
GHF422 illus 20. SCREW 6X3/4 AB606061 MGB
PWZ102 illus 21. PLAIN WASHER BUFFER RIVET AH BN4-BJ8 MGB
24G3389 illus 24. LENS-TAILGATE LAMP MGB
GHF424 illus 25. SCREW 8X3/4 AB608061 MGB
Horns
BHA4515 illus 1 HORN HIGH NOTE METAL MGB
BHA4514 illus 1 HORN LOW NOTE METAL  MGB
57H5309 illus2 HORN BRACKET ~ MGB
GGE164LUCAS illus 3 HORN HIGH NOTE LUCAS  AH/ VARIOUS / MGB
GGE165LUCAS illus 3 HORN LOW NOTE LUCAS  AH/ VARIOUS / MGB
GGE110 illus 4 HORN BRACKET ~ MGB
SE604051 illus 5 SCREW 1/4 X 5/8 PAN VARIOUS, MGB
GHF300 illus 6 PLAIN WASHER 1/4 X 1/2 OD MGB
GHF331 iltlus 7 WASHER LOCKING 1/4 VARIOUS, MGB
GHF200 illus 8 NUT 1/4 UNF  VARIOUS, MGB
Batteries
GBY3031D BATTERY 6V DRY MGB-MGC
AHH6353K illus 1. COMPLETE CLAMP KIT 6 VOLT BATTERY MGB
AHH6353 illus 2. BATTERY CLAMP 6 VOLT MGB
AHH6353K illus 3. COMPLETE CLAMP KIT 6V BATTERY MGB - AHH6750 BATT
JN2107 illus 4. NUT 1/4 UNF JAM MGB
AHH6353K illus 5. COMPLETE CLAMP KIT 6V BATTERY MGB - AHH5169
AHH6353K illus 6. COMPLETE CLAMP KIT 6V BATTERY MGB - AHH6351
GBYL17 BATTERY 12V MGB HEAVY DUTY MGB
34G2065K illus 7. BATTERY CLAMP KIT 12 VOLT MGB
October 2017 17IL 10

Prices INCLUDE Vat but exclude carriage

IncVat
PRICE

Page 37



PARTNO

34G2065
BHH1586
GHF200
GHF221
GHF331
37H3743
AHH6353K
131113
S5L924
2K8645
AHHS5449
AHHS8792
AHAG6280
BHA4348
PCR611
GHF117
GHF331
8G548
YMS10090

DESCRIPTION

G-M & GT Price List

Parts 4 MG Triumph Cars MG - MGB & GT Retail

rice
illus 8. BATTERY BAR FIXING CLAMP 12V MGB

illus 9. BATTERY BOLT 12V MGB

illus 10. LOCK NUT 1/4 UNF VARIOUS, MGB

illus 10. NYLOC NUT MGB 62-80

illus 11. PLAIN WASHER LOCKING 1/4 VARIOUS, MGB

illus 12. RUBBER STRIP UPPER MGB

illus 13. COMPLETE CLAMP KIT 6V BATTERY MGB - AHH6351
illus 14. CABLE - POSITIVE EARTH AH BN1-BN2 MGB

illus 14. CABLE - NEGATIVE EARTH MGB

illus 15. TERMINAL SCREW MGB

illus 16. CABLE, NEGATIVE - SOLENOID MGA MGB

illus 16. CABLE, POSITIVE - SOLENOID MGB

illus 17. CABLE 62-7 B STARTER - SOLENOID MGB

illus 18. CABLE, JOIN BETWEEN BATTERY MGB

illus 19. CLIP, BATTERY JOIN CABLE 3/8 DIA X11/32 MGB

illus 20. SCREW - FLOOR MGB 62-80

illus 21. WASHER LOCKING 1/4 VARIOUS, MGB

illus 22. RUBBER CAP - TERMINAL, BATTERY LEAD END MGB
illus 23. CABLE, ENGINE - EARTH MGB

Electrical - Controls

GEU6605
AB608051
GHF1030
BHA4789
27H6713
AB608051
606253ALUCAS
5051S8ALUCAS
SE910201
WL700101
GFS3035
37TH4727LUCAS
37TH472TA
SE910201
WL700101
GFS3035
BCA4501LUCAS
PMZ306
WL700101
27HS5576
BMK1727

BMK1727LUCAS

PMZ306
WL700101
8G548
142169ALUCAS
GHF423
GHF306

illus 1. VOLTAGE REGULATOR CONTROL BOX MGB S&M 66-72
illus 2. SELF TAPPING SCREW MGB

illus 3. PLASTIC NUT MGB

illus 4. VOLTAGE REGULATOR CONTROL BOX 16AC MGB 1968
BULLET TERMINAL MGB S&M TR2-TR6 AH

illus 5. SELF TAPPING SCREW MGB

illus 6. LUCAS FUSE BOX  VARIOUS, MGB

illus 7. LUCAS FUSE BOX 4FJ COVER VARIOUS, MGB

illus 8. SCREW 3/16 X 5/8 UNF VARIOUS, MGB

illus 9. WASHER LOCKING  MGB GT 62-80

illus 10. 5 PACK OF 35AMP FUSES MGB

illus 11. FUSE BOX 7FJ LUCAS 37552 MGB

illus 12. FUSE BOX COVER 7FJ] MGB

illus 13. SCREW 3/16 X 5/8 UNF VARIOUS, MGB

illus 14. WASHER LOCKING  MGB GT 62-80

illus 15. 5 PACK OF 35AMP FUSES MGB

illus 16. STARTER SOLENOID VARIOUS, MGB

illus 17. SCREW 3/16 UNF X 3/8 VARIOUS, MGB 62-80

illus 18. WASHER LOCKING  MGB GT 62-80

illus 19. SOLENOID RUBBER CAP (BCA4501) MGB

illus 20. STARTER SOLENOID MID1275, MGB66/7,GT6

illus 20. STARTER SOLENOID SPRITE, MGB66/7,GT6

illus 21. SCREW 3/16 UNF X 3/8 VARIOUS, MGB 62-80

illus 22. WASHER LOCKING  MGB GT 62-80

illus 23. RUBBER CAP - TERMINAL, BATTERY LEAD END MGB
illus 24. O/D RELAY 6RA LUCAS  VARIOUS, MGB 70-75

illus 26. SCREW NO8 X 1/2 POZI MGB

illus 27. WASHER MGB GT 65-80

Electrical - Fittings

2K6640
13H6107
PCR307

October 2017

MGA MGB MGC
MGB62-80,TR2/3A 4/4 GHF1266 Cable
MGB 62-80

illus 1. CABLE CLAMP
illus 2. CABLE STRAP
illus 3. HARNESS /P CLIP 3/16 DIA X 7/32

Prices INCLUDE Vat but exclude carriage 17IL 10

IncVat
PRICE

Page 38



PARTNO

PCR311
PCR407
PCR409
PCR411
CP105081
PCR509
PCRé611
PCR607
PCRS807
PCR809
PCR1007
PCR1009
PCR1209
PCR1409
UKC4446

GFS3010SINGLE

GFS3015
GFS3025
GFS3035
2H2065
003632
104618
RTC603A
BHA4460
BHAA4552
13H625
4TH5419
RTC220A
515399
511269
5L287
13H1927

SPB3S4LUCAS

37HS5181

MG-M & GT rice List

DESCRIPTION

Parts 4 MG Triumph Cars MG - MGB & GT

illus 3. HARNESS /P CLIP  3/16 DIA X 11/32

illus 3. HARNESS / P CLIP
illus 3. HARNESS / P CLIP
illus 3. HARNESS / P CLIP
illus 3. HARNESS / P CLIP
illus 3. HARNESS / P CLIP
illus 3. HARNESS / P CLIP
illus 3. HARNESS / P CLIP
illus 3. HARNESS / P CLIP
illus 3. HARNESS / P CLIP
illus 3. HARNESS / P CLIP
illus 3. HARNESS / P CLIP
illus 3. HARNESS / P CLIP
illus 3. HARNESS / P CLIP

1/4
1/4
1/4

DIA X 7/32
DIA X 9/32
DIA X 11/32

5/16 DIA X 7/32
5/16 DIA X 9/32

3/8
3/8
1/2
1/2
5/8
5/8
3/4
7/8

DIA X 11/32
DIA X 7/32
DIA X 7/32
DIA X 9/32
DIA X 7/32
DIA X 9/32
DIA X 9/32
DIA X 9/32

illus 4.
illus 5.
illus 5.
illus 5.
illus 5.
illus 6.

FUSE ASSEMBLY INLINE MGB
10AMP FUSE MGB

5 PACK OF 15AMP FUSES MGB
5 PACK OF 25AMP FUSES MGB
5 PACK OF 35AMP FUSES MGB
GROMMET WIRING 1-5/8 MGB

Retail
price
MGB 62-80,VARIOUS

MGB

MGB

MGB STAG

BULKHD MGB62-80

MGB 62-80

MGB

MGB

MGB

MGB 77-80

MGB

MGB

MGB

MGB

illus 7. BULLET NIPPLE, SOLDER TYPE MGB TRIUMPH VARIOUS
illus 8. BULLET CONNECTOR SINGLE 1IN1OUT MGB

illus 9. BULLET CONNECTOR DOUBLE MGB

illus 10. BULLET CONNECTOR TRIPLE (6 INTO 1) MGB

illus 11. SPADE CONNECTOR MGB

illus 13. EYELET 5/16 HOLE MGB

illus 14. 35AMP SPADE CONNECTOR MGB

illus 15. 17.5AMP SPADE CONNECTOR MGB

illus 16. 35AMP SPADE CONNECTOR INSULATOR SLEEVE MGB
PLASTIC SLEEVE replaces 5L.286 6AMP INSULATOR SLEEVE MGB
illus 18. 17.5AMP SPADE CONNECTOR INSULATOR SLEEVE MGB
illus 19. BULBHOLDER 2132 PUSH MGB

illus 20. RED WARNING LAMP

MGB

illus 21. BULB HOLDER 987 MGB MGTD-TF,S&M,TR2-6

Wire Harnesses

BBL621
BBL601
BBL622
BBL602
AHHS8778
AHHS8778B
AHH9157
AHH9157B
BHH137
BHH382
BHHG644
BHH1128
BHH1495
BHH1749
BHH2034
BHH2196
BHH2255
BHH2383

October 2017

illus 1. COMPLETE HARNESS CLOTH
illus 1. COMPLETE HARNESS PVC
illus 1. COMPLETE HARNESS CLOTH
illus 1. COMPLETE HARNESS PVC

illus 1. MAIN HARNESS CLOTH
illus 1. MAIN HARNESS PVC
illus 1. MAIN HARNESS CLOTH
illus 1. MAIN HARNESS PVC
illus 1. MAIN HARNESS PVC
illus 1. MAIN HARNESS PVC
illus 1. MAIN HARNESS PVC
illus 1. MAIN HARNESS PVC
illus 1. MAIN HARNESS PVC
illus 1. MAIN HARNESS PVC
illus 1. MAIN HARNESS PVC
illus 1. MAIN HARNESS PVC
illus 1. MAIN HARNESS PVC
illus 1. MAIN HARNESS PVC

Prices INCLUDE Vat but exclude carriage

MGB 62-64

MGB ROADSTER 62-64
MGB 64-67

MGB ROADSTER 64-67
MGB 67/68

MGB RHD 67/68

MGB 68/69

MGB RHD 68/69

MGB RHD 69/70

MGB RHD 70/71

MGB RHD 71/72

MGB RHD 72/73

MGB RHD 73/74

MGB RHD 74-76

MGB RHD 1977

MGB RHD 77/78

MGB RHD 1979

MGB 1980

171L 10

IncVat
PRICE

Page 39



PARTNO

BHH2652
AHHS8779
AHHS8779B
AHHS8780
AHHS780B
BHH386
BHH141
BHH385
BHH1739
BHH1742
BHH2382
BHH2441
BHH2036
BHH2381
AHH7168
AHHS8174
AHC258
AHC258X
153726

MG-M &GT

Windscreen (Roadster)

HZA5415
HZA5415T
HZAS5414
AHH7136
AHH7069
AHH7068
27H4300
AHH6409
GHF601
CMZ305
CMZ308
AHH6394
AHH6395
CMZ307
CMZ305
AHH6411
AHHS8750
AHH6495
GHF306
WL700101
GHF206
GHF206
AHHS8749
37H3651
AHA7779
HPP408
GHF101
GHF331
GHF300
AHH6413X
AHH6414
SHS506091
GHF333

October 2017

rice List

DESCRIPTION Parts 4 MG Triumph Cars MG - MGB & GT F;?}gg

illus 1. MAIN HARNESS PVC MGB RHD 1980

illus 2. REAR HARNESS CLOTH MGB 68/69

illus 2. REAR HARNESS PVC MGB RD 68/69

illus 2. REAR HARNESS CLOTH MGB 68/69

illus 2. REAR HARNESS PVC MGB GT 68/69

illus 2. REAR HARNESS PVC MGB RD 70-74

illus 2. REAR HARNESS PVC MGB GT 1970

illus 2. REAR HARNESS PVC MGB GT 71-74

illus 2. REAR HARNESS PVC MGB RD 74-79

illus 2. REAR HARNESS PVC MGB GT 74-79

illus 2. REAR HARNESS PVC MGB RHD 79/80

illus 2. REAR HARNESS PVC MGB GT 79/80

illus 3. DASH HARNESS PVC MGB RHD 77-79

illus 3. DASH HARNESS PVC MGB RHD 1980

illus 4. OVERDRIVE HARNESS MGB 62-64

illus 4. OVERDRIVE HARNESS MGB 64-67

illus 4. OVERDRIVE HARNESS MGB 68-74

illus 4. OVERDRIVE HARNESS MGB 74-80

illus 4. OVERDRIVE SWITCH HARNESS MGB 77-80 SPIT GTé6

illus 1. WINDSCREEN CLEAR MGB 62-80 Roadster
WINDSCREEN GREEN MGB 62-80 Roadster

illus 2. WINDSCREEN SEAL MGB Roadster

illus 3. SEAL WINDSCREEN TO BODY MGB Roadster

illus 4. SEAL SCREEN TO BODY LEFT HAND MGB Roadster
SEAL SCREEN TO BODY RIGHT HAND  MGB Roadster

illus 5. SEAL QUARTER LIGHT SCREEN MGB Roadster

illus 6. RETAINER PILLAR SEAL MGB Roadster

illus 7. RIVET (POP) 5/32 MGB Roadster

illus 8. SCREW C/SK 3/16 - SHORT MGB Roadster

illus 9. SCREW C/SK 3/16 X 1/2 - LONG MGB Roadster

illus10. WINDSCREEN BRACKET RIGHT HAND MGB Roadster
WINDSCREEN BRACKET LEFT HAND MGB Roadster

illus11. SCREW C/SK 3/16 X 7/16 - SIDE PILLAR MGB Roadster
SCREW C/SK 3/16 - BOTTOM RAIL MGB Roadster

illus12. WINDSCREEN CENTRE ROD MGB 62-67
WINDSCREEN CENTRE ROD MGB 68-80

illus13. MIRROR STEM NUT MGB 62-67 Roadster

illus14. WASHER MGB Roadster

illus15. LOCKING WASHER MGB Roadster

illus16. NUT 3/16 AF MGB Roadster

illus17. NUT 3/16 AF MGB 62-67 Roadster

illus18. NIPPLE WINDSCREEN MGB 68-80 Roadster
NIPPLE WINDSCREEN CHROME MGB 68-80 Roadster

illus19. WINDSCREEN CENTER PACKING MGB Roadster

illus20. CHROME SCREW MGB Roadster
PLAIN SCREW MGB Roadster

illus21. LOCKING WASHER 1/4 MGB Roadster

illus22. WASHER 1/4 X 1/2 OD MGB Roadster

illus23. SPACER - WINDSCREEN FRAME MGB Roadster

iltus24. SHIM - WINDSCREEN SPACER MGB Roadster

illus25. SET SCREW 3/8 X 1 1/8 inch UNC MGB Roadster

illus26. LOCKING WASHER MGB Roadster

171L 10

Prices INCLUDE Vat but exclude carriage

IncVat
PRICE

Page 40



MG-M & GT Price List

PARTNO DESCRIPTION Parts 4 MG Triumph Cars MG - MGB & GT '};}gg
PWZ204 illus27. WASHER 1/4 X 3/4 OD MGB Roadster
Windscreen (GT)
AHHS8228 illus 1. CLEAR WINDSCREEN MGB GT
AHHS8228HEATED HEATED CLEAR WINDSCREEN MGB GT
BHH308 TINTED WINDSCREEN MGB GT
BHH308TT TINTED AT THE TOP CLEAR AT BOTTOM WINDSCREEEN
AHH7404 illus 2. FRONT WINDSCREEN SEAL MGB GT
AHH7815 illus 3. WINDSCREEN SEAL LOCKING STRIP MGB GT
AHH7426 illus 4. UPPER SCREEN MOULDING MGB GT
AHH7439X illus 5. SIDE SCREEN MOULDING MGB GT
AHH7425 illus 6. LOWER SCREEN MOULDING MGB GT
AHH7423 illus 7. UPPER CORNER SCREEN MOULDING MGB GT
AHH7424 illus 8. LOWER CORNER SCREEN MOULDING MGB GT
AHH7425K illus 9. WINDSCREEN MOULDING SET MGB GT
BHH529 illus10. HEATED REAR SCREEN / BACKLIGHT CLEAR
BHH530 HEATED REAR SCREEN / BACKLIGHT GREEN TINT
AHH7403 illus11. REAR SCREEN / BACKLIGHT SEAL MGB
AHH7815 illus12. REAR SCREEN / BACKLIGHT LOCKING STRIP MGB
AHH7441 illus14. REAR WINDSCREEN MOULDING CLIP MGB GT
BHH576 illus15. REAR QUARTER GLASS RIGHT HAND - CLEAR MGB GT
BHH577 REAR QUARTER GLASS LEFT HAND - CLEAR ~ MGB GT
BHH574 REAR QUARTER GLASS RIGHT HAND - TINTED MGB GT
BHHS575 REAR QUARTER GLASS LEFT HAND - TINTED MGB GT
BHH582 illus16. REAR QUARTER LIGHT SEAL MGB GT
AHH7413Z illus17. FURFLEX SEAL FOR REAR RIGHT HAND QUARTER LIGHT
AHH7413Z FURFLEX SEAL FOR REAR LEFT HAND QUARTER LIGHT
KGAS818 NYLON SEAL FOR REAR RIGHT HAND QUARTER LIGHT
KGAS819 NYLON SEAL FOR REAR LEFT HAND QUARTER LIGHT
RMP308 illus18. SCREW CSK MGB GT
AD606053 illus19. SCREW CSK No 6 X 5/8 MGB GT
Wipers & Washers
GXE7714 illus 1. (') WIPER MOTOR MGB 62-67 Roadster
GXE7708 WIPER MOTOR MBG 65-67 GT
508170 illus 3. PAIR OF CARBON BRUSHES MGB 62-67
RTC198A WIPER BRUSH SET 14W MGB 65-67 GT
17H5431 illus 4. WIPER MOTOR KIT MGB 62-67 Roadster
RTC202A illus 6. SCREENWIPER RACK 59 inch CUT TOFIT MGB 62-67
RTC202A SCREENWIPER RACK 59 inch CUT TOFIT  MGB 65-67 GT
37H5282 illus 7. WIPER MOTOR FERRULE MGB 62-67
37H3694 WIPER MOTOR FERRULE MGB 65-67 GT
BHA4322 illus 9. RACK TUBE MOTOR MGB 62-63 Roadster to
BHA4391 RACK TUBE MOTOR MGB 63-67 Roadster 6917
AHH7480 RACK TUBE MOTOR MGB 65-67 GT
AAU1073 illus10. WIPER WHEEL BOX with nut MGB 65-67 GT
ANK3459 illus11. 6 SIDED WHEELBOX NUT MGB 62-63 Roadster to 6916
17H8769 8 SIDED WHEELBOX NUT MGB 63-67 Roadster 6917 on
17H8769 8 SIDED WHEELBOX NUT MGB 65-67 GT
519988 illus12. WIPER WHEELBOX MOUNTING KIT MGB 62-67
37H6879Z BEZEL KIT - NUT AND SEAL MGB 65-67 GT
ADC560 illus13. WASHER WHEELBOX MGB 62-67
27H6428 WASHER WHEELBOX MGB 65-67 GT
BHA4312 illus14. CHROME BEZEL MGB 62-67 Roadster
October 2017 171L 10

Prices INCLUDE Vat but exclude carriage

IncVat
PRICE

Page 41



PARTNO

AHH7431
BHA4323
AHH7471
575047A
575047A
37H4952
37H4952
GWB219LUCAS
LWCB11
GXE7708
BHA4790SS
150844A
SH604111
GHF331
GHF300
RTC198A
520160A
RTC202A
37TH3694
37H3045
37H3048
AHHS8770
AHHS8771
BHA4323
AHH7471
575047A
575047A
37H7738
AAU1073
519988
37TH6879Z
ADCS560
27TH6428
BHA4312
AHH7431
17H8769
17H8769
37HA4952
BHA4914S
BHAS201Z
37HA4952
BHAA4881
BHAS205
GWB219LUCAS
GWBI141LUCAS
GWB349Z
GWB144Z
LWCB13
GWW802
GWWS§01
GWW829
T-PIECE1
GWW408
GWW201M

October 2017

DESCRIPTION

illus15.

illus16.

illus17.

illus18.

MG- G & GT Price List

Parts 4 MG Triumph Cars MG - MGB & GT

MGB 65-67 GT
MGB 62-67
MGB 65-67 GT

CHROME BEZEL
RACK TUBE - WHEELBOX TO WHEELBOX
RACK TUBE WHEELBOX TO WHEELBOX
RACK TUBE END SHORT MGB 62-67

RACK TUBE END SHORT MGB 65-67 GT
WIPERARM RHD - NARROW ADJUSTABLE BRIGHT MGB
WIPERARM RIGHT HAND DRIVE - NARROW ADJUSTABLE
LUCAS WIPERBLADE 10 IN BRIGHT MGB 62-67 Roadster

WIPER BLADE 11" STD BLADE

illus 1. WIPER MOTOR MGB 67-80

illus 2. STAINLESS STEEL WIPER MOTOR STRAP MGB 67-80

illus 3. WIPER MOTOR MOUNTING PAD MGB 67-80

illus 5. SCREW 1/4 X 1 3/8 UNF MGB 67-80

iltlus 6. WASHER LOCKING 1/4 MGB 67-80

illus 7. WASHER 1/4 X 1/2 OD MGB 67-80

illus 8. WIPER BRUSH SET WIPER 14W MGB 67-80

illus 9. PARK SWITCH SCREW STYLE MGB 67-80

illus10. WIPER RACK CUT TO FIT MGB 67-80

illus11. WIPER MOTOR FERRULE MGB 67-80

illus12. WIPER DRIVE GEAR 105 DEGREE MGB Roadster
WIPER DRIVE GEAR 115 DEGREE MGB GT

iltlus13. RACK TUBE WHEELBOX TO MOTOR MGB Roadster
RACK TUBE TO MOTOR MGB GT

illus14. RACK TUBE WHEELBOX TO WHEELBOX MGB Roadster
RACK TUBE WHEELBOX TO WHEELBOX MGB GT

illus15. RACK TUBE END MGB Roadster
RACK TUBE END MGB GT

illus16. WHEELBOX WITH NUT MGB Roadster
WHEELBOX WITH NUT MGB GT

illus17. WHEELBOX MOUNTING KIT MGB Roadster
WHEELBOX MOUTING KIT MGB GT

illus18. WHEELBOX WASHER MGB Roadster
WHEELBOX WASHER MGB GT

illus19. CHROME BEZEL MGB Roadster

CHROME BEZEL MGB GT

illus20. 8 SIDED WHEELBOX NUT MGB Roadster

8 SIDED WHEELBOX NUT MGB GT

illus21.

illus22.

illus 1.
illus 2.

illus 3.

illus 4.

WIPERARM RHD - Narrow Adjustable Bright MGB 67-69
WIPERARM ADJUSTABLE - BRIGHT MGB Roadster
WIPER ARM BLACK MGB Roadster 72-80 294251
WIPERARM RHD - Narrow Adjustable Bright MGB 67-68 to
WIPER ARM RHD - BRIGHT 7.0 MM MGB 68-72 GT

WIPER ARM BLACK MGB 72-80 GT 296001
WIPER BLADE 10 IN BRIGHT MGB Roadster 67-69 to
WIPER BLADE BRIGHT MGB Roadster 69-72 to
WIPER BLADE BLACK MGB Roadster 72-80
WIPER BLADE BRIGHT MGB 68-72 GT to 296000

MGB 72-80 GT 296001 on
MGB 62-77 Roadster

WIPER BLADE 13" BLACK
1.75 CHROME WASHER JET
CHROME WASHER JET MGB 65-77 GT
WASHER JET BLACK MGB 78-80
WASHER TPIECE2 X32MM+47MM  MGB 62-80

T VALVE 3MM MGB 67-77
TUBING PER METER 3 MM ID 3/16 IN MGB 62-77

Prices INCLUDE Vat but exclude carriage

171L 10

Retail IncVat
price PRICE
Page 42



MG- G & GT Price List

PARTNO DESCRIPTION Parts 4 MG Triumph Cars MG - MGB & GT Retail
GWW202M TUBING PER METER 4.06 ID 1/4 IN MGB 78-80
061917 illus 5. GROMMET MGB 62-74
13H6107 illus 6. CABLE STRAP MGB75-80
GWW504 illus 7. ONEWAY VALVE MGB

GWW102 illus 8. MANUAL WINDSCREEN WASHER PUMP MGB 62-73
GWWI125LUCAS illus 9. ELECTRIC WINDSCREEN WASHER PUMP MGB 74-80
PMZ306 illus10. SCREW 3/16 X 3/8 UNF MGB 74-80
WL700101 illus11. WASHER LOCKING MGB 74-80
GHF206 illus12. NUT 3/16 AF MGB 74-80
GWWI18K illus13. TUDOR BOTTLE & CAP MGB 62-73
GWWI18KZ BOTTLE & CAP - NO TUDOR LOGO MGB 62-73
GWWS506 illus15. WINDSCREEN WASHER FOOT VALVE MGB 62-73
13H232SS illus16. STAINLESS STEEL BOTTLE BRACKET MGB 62-73
PMZ306 illus17. SCREW 3/16 X 3/8 UNF MGB 62-73
PWZ203 illus18. WASHER 3/16 X 3/4 MGB 62-73
WL700101 illus19. LOCKING WASHER MGB 62-73
GHF206 illus20. NUT 3/16 AF MGB 62-73
GWWI17 illus21. OVAL WASHER BAG MGB 74-80
GWWIs1 illus22. WASHER BAG PLUG MGB 74-80
GWW601 illus23. WASHER FOOT FILTER MGB 74-80
BHA4919 illus24. WASHER BOTTLE BRACKET MGB 74-80
PMZ308 illus25. SCREW MGB 74-80

GHF306 illus26. WASHER MGB 74-80
WL700101 illus27. LOCKING WASHER MGB 74-80

GHF206 illus28. NUT 3/16 AF MGB 74-80

Glass - Door

AHH6380 illus 1 CLEAR GLASS RIGHT HAND DOOR MGB
AHH6381 CLEAR GLASS LEFT HAND DOOR MGB
AHH6380T TINTED GREEN GLASS RIGHT HAND DOOR MGB
AHH6381T TINTED GREEN GLASS LEFT HAND DOOR MGB
AHH7415 illus 2. CLEAR GLASS RIGHT HAND DOOR MGB GT
AHH7416 CLEAR GLASS LEFT HAND DOOR MGB GT
BHH311 TINTED GREEN GLASS RIGHT HAND DOOR MGB GT
BHH312 TINTED GREEN GLASS LEFT HAND DOOR MGB GT
AHA7719 illus 3. INNER WEATHER STRIP / SEAL LH & RH MGB
AHH6348 illus 4. OUTER WAIST SEAL RIGHT HAND MGB
AHH6349 OUTER WAIST SEAL LEFT HAND MGB 62-80
RA608126 illus 5. RIVET MGB 62-80

078447A illus 6. EVERSEAL STRIP PER METRE MGB

AHHS8721 illus 7. BOTTOM WINDOW CHANNEL MGB 62-80
AHHS8403 illus 8. REAR CHANNEL RIGHT HAND MGB 62-80
AHHS8404 REAR CHANNEL LEFT HAND MGB 62-80
AHH?7448M illus 9. CHANNEL RUBBER LINER PER METER MGB
SE604031 illus10. SCREW MGB 62-80

GHF331 illus11. LOCKING WASHER 1/4 MGB 62-80

GHF300 illus12. WASHER 1/4 X 1/2 OD MGB 62-80

SH604041 illus14. SCREW 1/4 X 1/2 UNF MGB 62-80

GHF331 illus15. LOCKING WASHER LOCKING 1/4 MGB 62-80

PWZ204 illus16. WASHER 1/4 X 3/4 OD MGB 62-80

34G2528 illus17. WINDOW WINDER HANDLE MGB 62-67

54K205 illus18. SCREW MGB 62-67
WL700101 illus19. LOCKING WASHER MGB 62-67

ADA5669 illus20. FIBRE WASHER MGB 62-67

October 2017 Prices INCLUDE Vat but exclude carriage 171L 10

IncVat
PRICE

Page 43



PARTNO

AHH6336
AHH6337
CZAT7109
PMP308
WL700101
CZA2367

CZAT194K
BD32364
RMP308
CZA2279
PWZ205
GHF331
GHF201
AHH6434

MG-M & GT rice List

DESCRIPTION

illus21. ESCUTCHEON

illus22. WINDOW WINDER PAD

illus23. BLACK WINDOW HANDLE

illus24. CHROME SCREW 10 UNF X 1/2 IN

illus25. LOCKING WASHER

illus26. CHROME WINDER BEZEL
Quantities: 2+ £1.32

illus27. BEZEL + SCREW - BLACK

illus28. CHROME WINDOW HANDLE

illus29. SCREW

illus30. FIBRE WASHER

illus32. PLAIN WASHER 5/16 X 1 IN OD

illus33. LOCKING WASHER 1/4

illus34. NUT 5/16 UNF

illus35. FELT PAD - WINDOW STOP

Glass - Quarter Lights

BHH706
BHH707
17H2517
17H2505
17H2506
17H2509
17H2510
17H2498
17H2499
BHH708
BHH709
BHH717
17H2518
AHH7478
AHH7479
AHH7686
AHH7687
BHH?758
BHH759
AHH7435
AHH7436
BHH776
AHH7691
BHH716
AHH7529
17H2530

AHHS8935
AHA9986
AHH7448M
AHA7554
17H2500
17H9935
PWZ204
AHA7544
GHF221
AFH6532

October 2017

illus 1. QUARTER LIGHT RH
illus 1. QUARTER LIGHT LH
illus 2. GLASS CLEAR - QUARTER LIGHT
illus 4. QUARTER LIGHT GLASS SEAL RH
illus 4. QUARTER LIGHT GLASS SEAL LH

MGB 62-67
MGB 62-67
MGB 68-80
MGB 68-80
MGB 68-80
MGB 68-80

MGB 68-80
MGB 68-80
MGB 68-80
MGB 68-80
MGB 62-80
MGB 62-80
MGB 62-80
MGB 62-80

Parts 4 MG Triumph Cars MG - MGB & GT

MGB 72-80
MGB 72-80
MGB 62-80
MGB 62-80
MGB 62-80

illus 7. QUARTER LIGHT UPPER PIVOT RH MALE
illus 7. QUARTER LIGHT UPPER PIVOT LH MALE
illus 9. QUARTER LIGHT LOWER PIVOT RH FEMALE
illus 9. QUARTER LIGHT LOWER PIVOT LH FEMALE
illus 9. QUARTER LIGHT LOWER PIVOT RH FEMALE
illus 9. QUARTER LIGHT LOWER PIVOT LH FEMALE
illus 14. QUARTER LIGHT TOURER PIVOT PIN

illus 15. QUARTER LIGHT TUBE SPACER

illus 26. QUARTER LIGHT DOOR FRAME SEAL RH
illus 26. QUARTER LIGHT DOOR FRAME SEAL LH

illus 2. QUARTER LIGHT GLASS CLEAR RH
illus 2. QUARTER LIGHT GLASS CLEAR LH
illus 2. QUARTER LIGHT GLASS TINT RH
illus 2. QUARTER LIGHT GLASS TINT LH
illus 4. QUARTER LIGHT GLASS SEAL RH
illus 4. QUARTER LIGHT GLASS SEAL LH

iltus 9. QUARTER LIGHT LOWER PIVOT LH FEMALE

illus 14. QUARTER LIGHT PIVOT PIN

iltus 14. QUARTER LIGHT TOURER PIVOT PIN
illus 26. QUARTER LIGHT DOOR FRAME SEAL
illus 5. QUARTER LIGHT CORNER BLOCK SEALL. MGB

Quantities: 2+ £1.02

illus 5. QUARTER LIGHT CORNER BLOCK SEAL MGB
illus 5. QUARTER LIGHT CORNER BLOCK SEAL MGB

illus 6. QUARTER LIGHT CHANNEL LINER
illus 8. QUARTER LIGHT HANDLE RIVET
illus 10. QUARTER LIGHT HINGE SCREW
illus 12. QUARTER LIGHT CAPPING SCREW
illus 16. WASHER 1/4 X 3/4

illus 17. QUARTER LIGHT PIVOT SPRING
illus 18. NYLOC NUT

illus 19. QUARTER LIGHT CURVED HANDLE RH

MGB
MGB
MGB
MGB
MGB
MGB
MGB

Prices INCLUDE Vat but exclude carriage

MGB
MGB
MGB
MGB
MGB
MGB
MGB
MGB
MGB
MGB
MGB
MGB
MGB
MGB
MGB
MGB
MGB
MGB 65-72
MGB 72-80
MGB
RD 62-67

68-72
72-80
PER

MGB RD

17I1L 10

Retail IncVat
price PRICE
Page 44



MG - MGB & GT Price List

: Retail [IncVat
PARTNO DESCRIPTION Parts 4 MG Triumph Cars MG - MGB & GT price PRICE
AFH6533 illus 19. QUARTER LIGHT CURVED HANDLE LH MGB RD
AHAS8446 illus 20. QUARTER LIGHT STRAIGHT HANDLE RH MGB 68-80
AHAS8447 illus 20. QUARTER LIGHT STRAIGHT HANDLE LH MGB 68-80
AHA7473 illus 21. WAVY WASHER MGB
AHA7474 illus 22. QUARTER LIGHT HANDLE PIN MGB
17H2513 illus 23. QUARTER LIGHT CURVED HANDLE BRACKET MGB RD
37H2975 illus 23. QUARTER LIGHT STRAIGHT HANDLE BRACKET MGB
AHH6343XF illus 24. QUARTER LIGHT STUD PLATE FRONT MGB
AHH6343XR illus 25. QUARTER LIGHT STUD PLATE REAR MGB
AHH7544 illus 27. QUARTER LIGHT FRONT SPACER SMALL MGB
AHH7514 illus 28. QUARTER LIGHT REAR SPACER LARGE MGB
PWZ204 illus 29. WASHER 1/4 X 3/4 MGB
AHH6343 illus 30. NUT MGB
PMZ308 illus 32. SCREW MGB
WL700101 illus 33. LOCKING WASHER MGB
GHF306 illus 34. WASHER MGB
GHF206 illus 35. NUT 3/16 AF MGB
SH604041 illus 37. SCREW 1/4 X 1/2 MGB
GHF331 illus 38. LOCKING WASHER 1/4 MGB
GHF300 illus 39. WASHER 1/4 X 1/2 MGB
GHF200 illus 40. NUT 1/4 UNF MGB
Dashboards
HZA452E illus 1. (') RECON DASH MGB 62-66
HZAG612E illus 1. (!) RECON DASH MGB 66-71 RHD
HZA4072E illus 1. (!) RECON DASH MGB 72-74 RHD
HZA4916E iltus 1. (!) RECON DASH MGB 75-76 RHD
AHHG6338 illus 2. GLOVEBOX MGB RHD
AHH6339 illus 2. GLOVEBOX MGB LHD
GHF201 illus 3. NUT 5/16 UNF MGB RD & GT
GHF332 illus 4. WASHER LOCKING MGB RD & GT
PWZ205 illus 5. WASHER 5/16 X 1 IN MGB
GHF117 illus 6. SCREW - FLOOR MGB 62-80
GHF331 illus 7. WASHER LOCKING 1/4 MGB
GHF300 illus 8. WASHER 1/4 X 1/2 MGB
SH604041 illus 9. SCREW 1/4 X 1/2 UNF MGB
GHF331 illus 10. WASHER LOCKING 1/4 MGB
SH605061 illus 11. SCREW MGB
GHF301 illus 12. WASHER PLAIN MGB
GHF332 illus 13. WASHER LOCKING MGB RD & GT
GHF201 illus 14. NUT 5/16 UNF MGB RD &GT
AB606031 illus 15. SCREW NO6 X 3/8 MGB
AK606021 illus 16. SPIRE NUT NO6 MGB
FWP708 illus 18. CUP WASHER - BLACK MGB
PMZ308 illus 19. SCREW MGB
WL700101 illus 20. WASHER LOCKING MGB
GHF306 illus 21. WASHER MGB
PMZ305 illus 22. SCREW 1032 UNFX 5/16 MGB
WL700101 illus 23. WASHER LOCKING MGB
GHF206 illus 24. NUT 3/16 AF MGB
AHH6331 illus 25. GLOVEBOX LOCK MGB
AHHG6329 illus 26. STAY - GLOVEBOX LID MGB
PMZ205 illus 27. SCREW NO6 X 5/16 MGB
WL700061 illus 28. WASHER SPRING NO6 MGB
October 2017 Prices INCLUDE Vat but exclude carriage 171L 10 Page 45



PARTNO

BDH741
AKES155
GHF206
WL700101
GHF306
AHHG6142
ARH59K
AHHS258
ARHS9
AHHS255
BHH364
ADBS09
AHH6169
AD608063
FWP208
GHF712
AHH6742
AHH6753
UCN116L
WL700061
PWZ202
AHH7061
AB606053
BHH473
AD608063
FWP208
GHF712
HZAS199E
AHHG6338
AHHG6339
GHF713
GHF425
GHF331
GHF300
PMZ308
WL700101
GHF306
FWP708
AB606031
AK606021
AHH6329
PMZ206
GHF201
GHF331
PWZ205
PMZ305
WL700101
GHF206
HZA5413
DZB3553
14G9467
AKES5155
GHF206
WL700101

October 2017

G-M & GT rice List

DESCRIPTION Parts 4 MG Triumph Cars MG - MGB & GT I:)ﬁglel
illus 29. GLOVEBOX LID MOULDING TRIM MGB
illus 30. CRASH RAIL MGB 62-72
illus 32. NUT 3/16 AF MGB
illus 33. WASHER LOCKING MGB
illus 34. WASHER MGB
illus 35. INSTRUMENT COWL MGB 62-74
illus 36. BLANKING PLATE KIT MGB
illus 37. RADIO BLANKING BADGE MGB
illus 38. RADIO BLANKING PLATE MGB
iltus 39. BEZEL - RADIO APERTURE MGB
illus 40. CLIP - BLANKING PLATE MGB
illus 41. CLIP - SPIRE 5/32 DIA MGB
illus 42. RADIO CONSOLE MGB 62-67
illus 43. SCREW NOS8 X 3/4 MGB 62-71
illus 44. CUP WASHER - CONSOLE MGB 62-71
illus 45. SPIRE NUT NO 8 MGB 62-71
illus 46. BEZEL, GRILLE SURROUND MGB 62-71
illus 47. SPEAKER MESH MGB 62-71
illus 48. NUT NOSUNC MGB 62-71
illus 49. WASHER SPRING NO6 MGB
illus 50. WASHER 1/8 X 3/8 OD MGB
illus 51. ASHTRAY MGB 62-71
illus 52. SCREW NO6 X 5/8 MGB
illus 53. RADIO CONSOLE MGB 72-76
illus 54. SCREW NO8 X 3/4 MGB
illus 55. CUP WASHER - CONSOLE MGB
illus 56. SPIRE NUT NO 8 MGB 72-76
iltus 1. (!) RHD DASH PANEL - EXCHANGE MGB
illus 3. RHD GLOVEBOX MGB 62-80
illus 3. LHD GLOVEBOX MGB 62-80
illus 4. SPIRE NUT NO 10 MGB
illus 5. SCREW 10 X 1/2 MGB
illus 6. WASHER LOCKING 1/4 MGB
illus 7. WASHER 1/4 X 1/2 OD MGB
illus 8. SCREW MGB
illus 9. WASHER LOCKING MGB
illus 10. WASHER MGB
illus 12. CUP WASHER NOS8 BLACK MGB
illus 13. SCREW NO6 X 3/8 MGB
illus 14. SPIRE NUT NO6 MGB
illus 15. STAY-GLOVEBOX LID MGB 77-80
illus 16. SCREW NO6 X 3/8 MGB
illus 17. NUT 5/16 UNF MGB
illus 18. WASHER LOCKING 1/4 MGB
illus 19. WASHER 5/16 X 1 IN OD MGB
illus 20. SCREW 10 32 UNF X 5/16 MGB
illus 21. WASHER LOCKING MGB
illus 22. NUT 3/16 AF MGB
illus 23. GLOVEBOX LOCK MGB
iltus 24. BEZEL GLOVEBOX LOCK MGB

illus 25. BUFFER MGB 77-80
illus 26. CRASH RAIL MGB
illus 27. NUT 3/16 AF MGB
illus 28. WASHER LOCKING MGB
Prices INCLUDE Vat but exclude carriage 171L 10

IncVat
PRICE

Page 46



G-M & GT rice List

PARTNO DESCRIPTION Parts 4 MG Triumph Cars MG - MGB & GT %ﬁg'e'
GHF306 illus 29. WASHER MGB T
HZA5102 illus 30. RADIO CONSOLE UK MGB 77-80
HZA5110 illus 31. RADIO BLANKING PLATE ~ MGB 77-80
AD608063 illus 32. SCREW NO8 X 3/4 MGB
FWP208 illus 33. CUP WASHER CONSOLE MGB
GHF712 illus 34. SPIRE NUT NO 8 MGB
Console & Armrest
BHH467 illus 1. CENTRE CONSOLE MGB 72-80
AB608081 illus 1. SCREW MGB
HZA5390 illus 2. ASHTRAY BLACK/CHROME ~ MGB 72-80
HZA5390C illus 2. ASHTRAY CHROME MGB 72-80
HZAS5390DISH illus 3. COIN TRAY MGB 72-80
X3A2915A illus 4. ARMREST WITHOUT HINGE MGB 72-80
X3A2915L illus 4. ARMREST LEATHER MGB 72-80
X3A2915H illus 4. HINGE FOR ARMREST (X3A2915) MGB 72-80
GHF400 illus 4. SCREW 6 X 1/2 MGB
CMZ204 illus 4. SCREW C/SK 1/8X1/4 MGB
13H7468 illus 5. CONSOLE LID STRIKER PEG  MGB
346140A illus 6. CATCH FEMALE MGB
X3A2915P illus 7. PEG LOCATING PLATE MGB
GHF421 illus 7. SCREW 6 X 1/2 MGB
Gear Lever Gaiter
AHH7170 illus 1. RUBBER GEAR LEVER GAITER MGB 62-67
AHH6486 illus 2. GEAR LEVER GAITER RETAINER CHROME MGB 62-67
AD610063 illus 3. CHROME SCREW 10X 3/4 MGB
BHH2049 illus 4. GEAR LEVER GAITER SEAL RUBBER MGB 68-80
BHH2072 illus 5. GEAR LEVER GAITER MGB 62-80
AHC187 illus 6. GEAR LEVER RETAINER CHROME MGB 67-75
BHH1986 illus 6. GEAR LEVER RETAINER BLACK MGB 76-80
SG604053 illus 7. CHROME SCREW - GEARLEVER RING MGB 68-71
SG604083 illus 7. SHORT CHROME SCREW 1/4 X 1 RH MGB 72-80
$G604103 illus 7. LONG CHROME SCREW - GEARLEVER RING MGB 72-80
Cockpit Rail
AHH6416 illus 1. COCKPIT RAIL MOULDING REAR MGB
FKC1001 illus 2. END PLATE FITTING KIT MGB
AHH6417 illus 3. STUD PLATE MGB
PWZ203 illus 4. WASHER 3/16 X 3/4 MGB
WL700101 illus 5. WASHER LOCKING MGB
GHF206 illus 6. NUT 3/16 AF MGB
AHH6418 illus 7. END PLATE RETAINER MGB
AB608031 illus 8. SCREW - SELF TAPPER MGB
RC140 COCKPIT RAIL COVERKIT  MGB 62-70
Mirrors
BHA4806 illus 1. REAR VIEW MIRROR INTERIOR MGB 62-69
AHH6951 illus 2. MIRROR CLAMP SCREW MGB 62-69
14B7889 illus 3. DOME NUT MGB 62-69
BHA4960 illus 4. REAR VIEW MIRROR INTERIOR MGB 70-80
632095 illus 5. REAR VIEW MIRROR replaces 632091 MIRROR HEAD MGB
RMP308 illus 5. SCREW CSK MGB 70-80
October 2017 Prices INCLUDE Vat but exclude carriage 17I1L 10

IncVat
PRICE

Page 47



PARTNO

GAM117
GAM118
YKC2960
YKC2959
GAM215A
GAM216A
GAM211X
GAM212X
WM1904
WM1905
WM1906
WM1907
GAM105
GAM105C
GAM107
GAM108

Gerilles

ARH218Z
ARH1800Z
ARA2148
594990A
HZA491K
RMP308
PMZ308
GHF306
WL700101
GHF206
SH604041
GHF331
GHF301
ADAS03
AHH9889
AHH9923
AHH9922
BHAS008
AHA9318
ARA982
RFN210
BHHS824Z
BHHS829
HZA491K
RMP308
PMZ308
GHF306
WL700101
GHF206
SH604041
GHF331
GHF301
ADAS03
BHH1753SS
GHF423
PWZ203

October 2017

MG-M

DESCRIPTION

illus 6. WING MIRROR - CONVEX

illus 6. WING MIRROR - FLAT

iltus 7. DOOR MIRROR ASSEMBLY RH

illus 7. DOOR MIRROR ASSEMBLY LH

illus 8. STAINLESS DOOR MIRROR RH FLAT
illus 8. STAINLESS DOOR MIRROR LH FLAT
illus 8. STAINLESS DOOR MIRROR RH CONVEX
illus 8. STAINLESS DOOR MIRROR LH CONVEX
LUCAS STYLE WING MIRROR RH CONVEX
LUCAS STYLE WING MIRROR LH CONVEX
LUCAS STYLE WING MIRROR RH FLAT
LUCAS STYLE WING MIRROR LH FLAT
BULLET RACING MIRROR CHROME

BULLET RACING MIRROR CONVEX

BULLET MIRROR DOOR FITTING KIT RH
BULLET MIRROR DOOR FITTING KIT LH

illus 1.
illus 2.
illus 3.
illus 4.
illus 5.
illus 6.
illus 7.
illus 8.
illus 9.

illus 10. NYLOC NUT 3/16 AF

GRILLE
GRILLE PLINTH
GRILLE BADGE

BADGE FIX 3/16 PEG X 1/4 HOLE
SET OF 3 GRILL BRACKETS

SCREW - GRILLE
SCREW - BODY
WASHER

WASHER LOCKING

& GT Price List

Parts 4 MG Triumph Cars MG - MGB & GT

MGB 68-69
MGB 68-69
MGB 68-73
MGB 68-73

illus 11. GRILLE SCREW 1/4 X 1/2 MGB
illus 12. WASHER LOCKING 1/4 MGB
illus 13. WASHER PLAIN

illus 14. RUBBER BUFFER - TOP GRILLE

illus 1.

illus 5. GRILLE MOULDING LOWER
illus 6. GRILLE MOULDING UPPER
illus 7. GRILLE MOULDING CLIP

illus 8.

illus 10. GRILLE BADGE FASTENER

GRILLE

GRILLE BADGE

illus 11. GRILLE 5/8 PLUG

illus 1.
illus 2.
illus 3.
illus 4.
illus 5.
illus 6.
illus 7.
illus 8.
illus 9.

GRILLE
GRILLE BADGE

SET OF 3 GRILL BRACKETS

SCREW - GRILLE
SCREW - BODY
WASHER

WASHER LOCKING
NYLOC NUT 3/16 AF

GRILLE SCREW 1/4 X 1/2 UNF

MGB 74-80
MGB 74-80
MGB 74-80
MGB 74-80
MGB 62-80
MGB 62-80
MGB 62-80
MGB 62-80
MGB 62-80
MGB 62-80
MGB 62-80
MGB 62-80
MGB 62-69
MGB
MGB
MGB
MGB 62-69
MGB
MGB
MGB
MGB
MGB
MGB
MGB
MGB 70-72
MGB
MGB
MGB
MGB
MGB

MGB

MGB 73-74 1/2

MGB 73-74 1/2

MGB 73-74 1/2
MGB

MGB

MGB

MGB

MGB

MGB

illus 10. WASHER LOCKING 1/4 MGB
illus 11. WASHER PLAIN

illus 12. RUBBER BUFFER - TOP GRILLE
illus 1. STAINLESS GRILLE WIRE

illus 2.
illus 3.

SCREW NOS8 X 1/2
WASHER 3/16 X 3/4

MGB

MGB
MGB 1/2 74-80
MGB

MGB

Prices INCLUDE Vat but exclude carriage

Retail
price

171L 10

IncVat
PRICE

Page 48



PARTNO

BHH1622
BHH1614
BHH1616
SH604041
GHF331
PWZ204

Bumper - Chrome

AHHG6916
BHH377Z
BHH157
37TH9871M
GHF106
GHF203
GHF333
PWZ306
AHH6216
PWZ306
GHF333
GHF203
AHH6215
SH606101
GHF333
PWZ306
24G629
AHH6209
AHH6210
BH607261
SH607101
2K6842
GHF334
GHF203
AHH6489
AHH6490
BHH378Z
BHH379Z
BHH377Z
BHH157
3TH9871IM
AHH6250
AHH6216
GHF106
PWZ306
GHF333
GHF202
AHHG6335
GHF304
GHF335
GHF204
BH607321
GHF334
GHF203
AHH7278/9SS
GHF421

October 2017

MG-M & GT rice List

DESCRIPTION Parts 4 MG Triumph Cars MG - MGB & GT '::_}gg
illus 4. RADIATOR AIR DUCT MGB 1/2 74-76
illus 5. RADIATOR AIR DUCT SHORT MGB 77-80
illus 6. MOUNTING STRAP MGB
illus 7. SCREW 1/4 X 1/2 UNF MGB
illus 8. WASHER LOCKING 1/4 MGB
illus 9. WASHER 1/4 X 3/4 OD MGB
illus 2. FRONT OVERRIDER MGB 62-69
illus 3. FRONT OVERRIDER MGB 70-74 1/2
illus 4. OVERRIDER RUBBER PAD MGB 70-74 1/2
illus 5. OVERRIDER SEAL PER MTR MGB
illus 6. BOLT 3/8 X 1 1/2" UNF MGB 62-69
illus 7. NUT - SHOCK BOLT MGB 70-74 1/2
illus 8. LOCKING WASHER MGB
illus 9. PLAIN WASHER 3/8 X 1 INOD MGB
illus 10. SPACER - BUMPER BRACKET MGB
illus 12. WASHER 3/8 X 1 IN OD MGB
illus 13. LOCKING WASHER MGB
illus 14. NUT - SHOCK BOLT MGB
illus 15. BUMPER CORNER END BRACKET MGB
illus 16. SET SCREW 3/8X11/4" MGB
illus 17. LOCKING WASHER MGB
illus 18. WASHER 3/8 X 1INOD MGB
illus 19. BUMPER SPACER MGB
illus 20. FRONT BUMPER BRACKET RH MGB
illus 20. FRONT BUMPER BRACKET LH MGB
illus 21. SHOCK BOLT MGB
illus 22. SCREW 7/16 UNF X 1 1/4 MGB
illus 23. PLAIN WASHER MGB
illus 24. LOCKING WASHER MGB
illus 25. NUT - SHOCK BOLT MGB
illus 27. REAR OVERRIDER RH MGB 62-70
illus 27. REAR OVERRIDER LH MGB 62-70
illus 28. REAR OVERRIDER RH MGB 71-73
illus 28. REAR OVERRIDER LH MGB 71-73
illus 28. REAR OVERRIDER MGB 74
illus 29. OVERRIDER RUBBER PAD MGB 71-73
illus 30. OVERRIDER SEAL. PER MTR MGB
illus 31. SPRING BAR, BRACKET - REAR BUMPER IRON MGB
illus 32. SPACER - BUMPER BRACKET MGB
illus 33. BOLT 3/8 X 11/2" UNF MGB
illus 35. WASHER 3/8 X 1 IN OD MGB
illus 36. LOCKING WASHER MGB
illus 37. NUT 3/8 UNF MGB
illus 38. BRACKET, CHASSIS - BUMPER IRON MGB
illus 39. WASHER 1/2 X 15/16 MGB
illus 40. LOCKING WASHER MGB
illus 41. NUT 1/2 UNF MGB
illus 42. BOLT 7/16 UNF X 4 IN MGB
illus 43. LOCKING WASHER MGB
illus 44. NUT - SHOCK BOLT MGB
illus 45. STAINLESS BUMPER FILLER SET MGB 62-74
illus 46. SCREW 6 X 1/2 MGB

171L 10

Prices INCLUDE Vat but exclude carriage

IncVat
PRICE

Page 49



MG - MGB & GT Price List

PARTNO DESCRIPTION Parts 4 MG Triumph Cars MG - MGB & GT Retail IncVat

rice PRICE
GHF700 illus 47. SPIRE NUT NO6 MGB

Bumper - Rubber

BHM536 illus 1. RUBBER BUMPER COVER FRONT MGB 74-80
BHH1561 illus 3. CLAMPING PLATE MGB
CHA307 illus 4. RIVET - BUMPER (POP) MGB
BHH1577 illus 5. BUMPER SUPPORT BAR FRONT MGB
CHA366 illus 6. RIVET - SUPPORT MGB
BHH1560 illus 7. BRACKET FRONT LH MGB
SH606091 illus 8. BOLT - SETSCREW 5/16 X 3/4" UNF MGB
GHF333 illus 9. LOCKING WASHER MGB
PWZ206 illus 10. WASHER 3/8 X 1.25 OD MGB
FHS2614 illus 11. STUD FINE 3/8IN MGB
GHF302 illus 12. WASHER 3/8 X3/4 OD MGB
GHF332 illus 13. WASHER LOCKING MGB
GHF202 illus 14. NUT 3/8 UNF MGB
CHAS544 illus 15. MG BADGE FRONT - BLACK MGB
CHAS07 illus 15. MG BADGE FRONT - GOLD MGB
PFS106 illus 16. BADGE FIXING CLIP 3/16 DI MGB
BHH2682A illus 17. LIMITED EDITION PLASTIC SPOILER FOR RUBBER
RMP2312 illus 18. SCREW - BLACK MGB
WK608214 illus 19. CUP WASHER NO10 - BLACK MGB
GHF220 illus 20. NYLOC NUT 10/32 UNF MGB
BHM537 illus 21. BUMPER COVER - RUBBER MGB
BHH1550/1 illus 22. CLAMPING PLATE SET 2PCS MGB
BHH1821K illus 23. ARMATURE KIT MGB
CHA307 illus 24. RIVET (POP) MGB
BHH1575 illus 25. BUMPER RET STUD, BRACKET MGB
BHH1576 illus 26. REAR BUMPER SPACER MGB
GHF301 illus 27. WASHER PLAIN MGB
GHF333 illus 28. LOCKING WASHER MGB
GHF201 illus 29. NUT 5/16 UNF MGB
FHS2614 illus 30. STUD FINE 3/8IN MGB
GHF302 illus 31. WASHER 3/8 X3/4 OD MGB
GHF332 illus 32. WASHER LOCKING MGB
GHF202 illus 33. NUT 3/8 UNF MGB

Bonnet
HZA4014 illus 1. BONNET STEEL MGB 62-80
HZA401 illus 1. BONNET ALUMINUM MGB 62-80
MBS0 illus 1. BONNET STEEL - REPLACEMENT MGB 62-80
BHH925C illus 2. UNDERBONNET FELT PAD SET, 2PCE =~ MGB
RA607096 illus 4. RIVET MGB
HZA364 illus 5. BONNET HINGE MGB
GHF117 illus 6. SCREW - FLOOR MGB
GHF301 illus 7. WASHER PLAIN MGB
GHF331 illus 8. WASHER LOCKING 1/4 MGB
GHF200 illus 9. NUT 1/4 UNF MGB
AHH5460 illus 10. BONNET STAY CLIP MGB 1962
GHF425 illus 11. SCREW 10 X 1/2 MGB 1962
AHH7091 illus 12. BRACKET - BONNET CLIP MGB 63-70
2H9215 illus 13. RUBBER RETAINER MGB 63-70
AHH7380 illus 14. BONNET STAY MGB 62-70
AJD7731 illus 15. WASHER THACKERY 5/16 MGB 62-70

October 2017 Prices INCLUDE Vat but exclude carriage 171L 10 Page 50



G- GB & GT Price List
Retail IncVat

PARTNO DESCRIPTION Parts 4 MG Triumph Cars MG - MGB & GT ce PRICE
GHF301 illus 16. WASHER PLAIN MGB 62-70
GHF501 illus 17. SPLIT PIN MGB 62-70
BHH1934 BRACKET - BONNET STAY MGB 71-80
AHA9717 illus 18. BONNET PROP MGB 71-80
GHF101 illus 19. SETSCREW MGB
BHH298 illus 20. BONNET PROP SPACER MGB 71-80
GHF221 illus 21. NYLOC NUT MGB 62-80
HZA332 illus 22. BONNET SAFETY CATCH MGB 62-80
PMZ308 illus 23. SCREW MGB 62-80
566293 illus 24. RAWL NUT & SCREW - Replacement MGB
Quantities: 2+ £2.10

AHAS5617 illus 25. SAFETY HOOK CATCH MGB 62-80
PMZ308 illus 26. SCREW MGB
WL700101 illus 27. WASHER LOCKING MGB
GHF306 illus 28. WASHER MGB
4G3035 illus 29. CATCH PLATE MGB
AHAS543 illus 30. BONNET CATCH LOCKING CUP PLATE MGB
SH604041 illus 31. SCREW 1/4 X 1/2 UNF MGB
GHF331 illus 32. WASHER LOCKING 1/4 MGB
14G2444 iltus 33. BONNET PIN - STRIKER MGB
4G3676 illus 34. BONNET PIN - CUP/COLLAR MGB
4G1588 illus 35. BONNET PIN - SPRING MGB
GHF202 illus 36. NUT 3/8 UNF MGB
4G2494 illus 37. SPRING - CATCH PLATE MGB
AHH6426 illus 38. BONNET CABLE MGB
24G1052K illus 39. TRUNNION AND SCREW MGB
53K1016 illus 40. SCREW MGB
PCR311 illus 41. CABLE CLIP 3/16 DIAX 11/32 MGB
NT605041 illus 42. LOCK NUT MGB
AHH6523 illus 43. BUFFER - BONNET WING MGB
PMZ306 illus 44. SCREW 3/16 UNF X 3/8 MGB
WL700101 illus 45. WASHER LOCKING MGB
GHF206 illus 46. NUT 3/16 AF MGB
BHH2270 illus 47. FOAM CHANNEL SEAL - BONNET MGB
BHH209 illus 48. FOAM LIP SEAL - BONNET MGB
AHH7205 illus 49. DIAPHRAGM SEAL - BONNET MGB
AHH6102K illus 50. INTAKE GRILLE KIT MGB
AHH6102 illus 51. AIR INTAKE GRILLE MGB
AHH6102X illus 51. GRILLE MESH for AHH6102 MGB
GHF1531 illus 52. FIX SLEEVE RETAINER MGB

Boot
HZAS511 illus 1. BOOT LID MGB
AHH7833 illus 2. SEAL - ON BOOT LID MGB 62-76
HZAS5386 illus 2. SEAL - ON BODY MGB 76-80
AHAG6315 illus 3. BOOT HINGE LH MGB
AHA6314 illus 3. BOOT HINGE RH MGB
SH604051 illus 4. SCREW MGB
GHF331 illus 5. WASHER LOCKING 1/4 MGB
AHH7450 illus 6. LATCH ASSEMBLY - BOOT MGB
PMZ308 illus 7. SCREW MGB
WL700101 illus 8. WASHER LOCKING MGB
GHF306 illus 9. WASHER MGB
HZA356 illus 10. BOOT LOCK CATCH/STRIKER MGB

October 2017 Prices INCLUDE Vat but exclude carriage 171L 10 Page 51



PARTNO

GHF117
GHF300
GHF331
AJD7722
GHF300
GHF501
AAA1524
AB606031
BHH293
GHF101
GHF300
GHF221
AHH6179
AHH6180
ADAS698

Badges - Rear

AHHS261C
352985A
34G252
CHAS4S
594990A
AHH6079
PFS103
GHF1531
18G8766
352985A
34G252
594990A
AHH9926
GHF1531
HZAS5021
CRST182
CRST181
CRST180
594990A
CZH2717
BHH1400
BHH1401
GHF600
GHF1531

Tailgate

HZA3994
AHH9778
AHH7833
AB606031
HZA2101
HZA2100
SF605061
PWZ305
GHF332
GHF201
AHH7450

October 2017

MG - & GT rice List

DESCRIPTION Parts 4 MG Triumph Cars MG - MGB & GT

illus 11. SCREW MGB

illus 12. WASHER 1/4 X 1/2 OD MGB

illus 13. WASHER LOCKING 1/4 MGB

illus 15. WASHER THACKERY 1/4 MGB

illus 16. WASHER 1/4 X 1/2 OD MGB MGB

illus 17. SPLIT PIN MGB

illus 18. BOOT STAY CLIP MGB

illus 19. SCREW NO6 X 3/8 MGB

illus 20. BOOT PROP / STAY MGB

illus 21. SETSCREW MGB

illus 22. WASHER 1/4 X 1/2 OD MGB

illus 23. NYLOC NUT MGB

illus 24. BOOT HANDLE - LOCK MGB

illus 25. BOOT LOCK GASKET MGB

illus 26. BOOT LOCK NUT MGB

illus 1. BADGE SET 3 PIECE MGB 62-69

illus 2. FIX PLASTIC MGB 62-69

illus 3. MG BADGE BOOT PLASTIC = MGB 70-76

illus 3. MG BADGE BOOT METAL MGB 77-80

illus 4. BADGE FIX 3/16 PEG X 1/4 HOLE MGB 70-80

illus 5. MGB BADGE MGB 62-76

illus 6. SPIRE CLIP 3/32 DIA MGB 62-76

illus 7. FIX SLEEVE RETAINER MGB 62-76

illus 8. MGB GT BADGE SET MGB

illus 9. FIX PLASTIC MGB

illus 10. MG BADGE BOOT PLASTIC MGB

illus 11. FIX 3/16 PEG X 1/4 HOLE MGB

illus 12. B BADGE TAILGATE MGB

illus 14. FIX SLEEVE RETAINER MGB

illus 15. BADGE MGB GT - JUBILEE GOLD

illus 16. BLUE FOIL MGB GT BADGE - BHH855 Replacement
illus 16. BLACK FOIL MGB GT BADGE - HZA5024 Replacement
illus 16. RED FOIL MGB GT BADGE - BHH2685 Replacement

illus 17. FIX 3/16 PEG X 1/4 HOLE MGB
illus 18. BADGE BL FRONT WING MGB

BADGE GT FLASH RH MGB

BADGE GT FLASH LH MGB

RIVET (POP) MGB

FIX SLEEVE RETAINER MGB

illus 1. TAILGATE MGB GT 65-8
illus 2. TAILGATE UPPER SEAL MGB GT

illus 3. TAILGATE LOWER SEAL MGB GT

illus 5. SCREW NO6 X 3/8 MGB GT
illus 6. TAILGATE HINGE LH MGB GT

illus 6. TAILGATE HINGE RH MGB GT

illus 7. SCREW C/SK 5/16 X 3/4 MGB

illus 8. WASHER 5/16 X 7/8 OD MGB

illus 9. WASHER LOCKING MGB

illus 10. NUT 5/16 UNF MGB

illus 11. LATCH TAILGATE MGB GT

Prices INCLUDE Vat but exclude carriage

Retail IncVat
rice PRICE
171L 10 Page 52



PARTNO

PMZ308
WL700101
GHF306
HZA356
GHF117
GHF331
GHF300
AHH7900
AHH7901
14B1981
GHF321
PWZ205
AWZ106
AHHT7575
PWZ205
GHF332
GHF222
LNZ104
GHF321
AWZ106
AHH7899
AHH7578
AHH7579
AHH6179
AHH6180
ADAS5698

Door Trim

AHH6348
AHH6349
DMP819
GHF1560
AHH6508
AHH6509
AHH7848
RA607096
AHH7476
AHH7477
AHH6105
AHH6106
GHF1435
AHH6360
WL700101
GHF206
CFP1000
AHH6270
AHH6271
GHF400
GHF600
AHH6323
AHH6324
AHH9887
AKP002
GAC4032

October 2017

DESCRIPTION

illus 12.
illus 13.

MG - MGB & GT rice List

SCREW
WASHER LOCKING

illus 14. WASHER
illus 16. TAILGATE LOCK CATCH

illus 17.
illus 18.
illus 19.
illus 20.
illus 20.
illus 21.
illus 22.
illus 23.
illus 24.
illus 25.
illus 26.
illus 27.
illus 28.
illus 29.
illus 30.
illus 31.
illus 32.
illus 33.
illus 34.
illus 35.
illus 36.
illus 37.

illus 1.
illus 1.
illus 2.
illus 3.
illus 4.
illus 4.
illus 4.
illus 5.
illus 6.
illus 6.
illus 7.
illus 7.
illus 8.
illus 9.
illus 9.
illus 9.

illus 10.
illus 12.
illus 12.
illus 12.
illus 12.
illus 13.
illus 13.
illus 14.
illus 14.
illus 14.

SCREW - FLOOR
WASHER LOCKING 1/4
WASHER 1/4 X 1/2 OD
TAILGATE STAY RH
TAILGATE STAY LH
DOME NUT 1/4 UNF
WASHER

WASHER 5/16 X 1 IN OD
WASHER WAVY 3/8 ID
PIVOT STUD

WASHER 5/16 X 1IN OD
WASHER LOCKING
NYLOC NUT

NUT 1/4 UNF AERO
WASHER

WASHER WAVY 3/8 ID
SPRING COVER

LARGE CAP T/GATE
SMALL CAP T/GATE
BOOT HANDLE LOCK
GASKET - BOOT HANDLE LOCK
NUT - BOOT HANDLE LOCK

OUTER DOOR SEAL RH
OUTER DOOR SEAL LH
RIVET - DOOR SEAL
CLIP - OUTER SEAL
DOOR SEAL - INNER RH
DOOR SEAL - INNER LH

Parts 4 MG Triumph Cars MG - MGB & GT

MGB
MGB
MGB

MGB GT

MGB
MGB
MGB
MGB GT
MGB GT
MGB
MGB
MGB
MGB
MGB
MGB
MGB
MGB
MGB
MGB
MGB
MGB GT
MGB GT
MGB GT
MGB GT
MGB GT
MGB GT

MGB
MGB
MGB
MGB GT
MGB RD
MGB RD

DOOR SEAL - INNER WEATHERSEALL MGB GT

RIVET MGB
FINISHER - DOOR RH

FINISHER - DOOR LH

CHROME DOOR MOULDING RH
CHROME DOOR MOULDING LH
MOULDING CLIP MGB
STUD PLATE - WING MOULDING
WASHER LOCKING

NUT 3/16 AF MGB
GROMMET - DOOR 1 IN
FINISHER SEAL FRONT RH
FINISHER SEAL FRONT LH
SCREW 6 X 1/2 MGB
RIVET (POP) MGB
FINISHER SEAL REAR RH
FINISHER SEAL REAR LH

TREADPLATE PAIR MGB

SINGLE TREADPLATE MGB 72-80

MGB GT

MGB GT
MGB
MGB

MGB
MGB

MGB
MGB RD
MGB RD

MGB RD
MGB RD

TREADPLATE PAIR MGB w/Laurel

Prices INCLUDE Vat but exclude carriage

Retail IncVat
ce PRICE
171L 10 Page 53



G- & GT Price List

; Retail IncVat

PARTNO DESCRIPTION Parts 4 MG Triumph Cars MG - MGB & GT price PRICE
GAC4032SF illus 14. TREADPLATE PAIR MGB Safety Fast
AB606021 SCREW NO6 X 1/4 MGB
AB606061SS SCREW NO6 X 3/4 SS MGB
GHF600 RIVET (POP) MGB
DEA4001 illus 15. DOOR SEAL BLACK MGB RD 62-69
KGA817TMX3.5MTRS illus 15. DOOR SEAL BLACK, CUT INTO 3.5 MTR MGB 70-80
DEAS5001 illus 16. DOOR SEAL - FURFLEX BLACK MGB GT
KGAS820 illus 16. DOOR SEAL BLACK MGB GT 70-80

Door Hinges
HZA5208 illus 1. DOOR HINGE RH MGB 62-76
HZA5209 illus 1. DOOR HINGE LH MGB 62-76
HZA5208 illus 2. DOOR HINGE TOP RH MGB 77-80
HZA5206 illus 2. DOOR HINGE LWR RH MGB 77-80
HZA5209 illus 2. DOOR HINGE TOP LH MGB 77-80
HZAS207 illus 2. DOOR HINGE LWR LH MGB 77-80
HZA350 illus 3. HINGE PLATE - TAPPED MGB
SF605081 illus 4. SCREW C/SK 5/16 UNF X1 MGB
SF605061 illus 5. SCREW C/SK 5/16 X 3/4 MGB
PWZ207 illus 6. WASHER 7/16 X 1-1/2 MGB
GHF334 illus 7. LOCKING WASHER MGB
GHF203 illus 8. NUT - SHOCK BOLT MGB

Door Locks
JPC8387PA illus 1. INNER DOOR HANDLE MGB
54K205 illus 2. SCREW MGB
WL700101 illus 3. WASHER LOCKING MGB
ADA5669 illus 4. WASHER FIBRE MGB
PMZ308 illus 5. SCREW MGB
WL700101 illus 6. WASHER LOCKING MGB
PWZ203 illus 7. WASHER 3/16 X 3/4 MGB
PMZ306 illus 8. SCREW 3/16 UNF X 3/8 MGB
WF702101 illus 9. WASHER STAR INT 3/16 MGB
AHH6661 illus 11. DOOR HANDLE OUTER RH MGB
AHH6662 illus 11. DOOR HANDLE OUTER LH MGB
CMZ310 illus 12. SCREW C/SK 3/16 X 5/8 MGB
AAA835 illus 13. CUP WASHER (OG005) MGB
ADAS03 illus 14. BUFFER MGB
AHHG6676 illus 16. CLIP MGB
AHH6669K illus 17. DOOR LOCK REP KIT MGB
AHH6249 illus 19. DOOR LOCK CLIP MGB
AHH6513 illus 20. LOCK KNOB MGB
RMP212 illus 21. SCREW - CHROME PLATED
AHH6547 illus 22. LOCK BEZEL MGB
AHH6273 illus 23. DOOR BUFFER MGB
RMZ308 illus 24. SCREW 10.32 X 1/2 RHCSK
AFH1684 illus 25. B POST STRIKER MGB
SF604121 illus 26. SCREW C/SK 1/4 X 1-1/2 MGB
14A4673 illus 27. PACKING - STRIKER PIN MGB
HZA368 illus 28. PLATE - DOOR STRIKER MGB
GLZ118 illus 29. PLASTIC HANDLE, DOOR PULL MGB
650306 illus 29. CHROME HANDLE, DOOR PULL MGB
RMP310 illus 30. CHROME SCREW MGB
JPC8387PA illus 1. INNER DOOR HANDLE MGB
October 2017 Prices INCLUDE Vat but exclude carriage 171L.10 Page 54



PARTNO

54K205
WL700101
ADAS669
PMZ308
WL700101
GHF306
13H2023
SF604081
AHH9239
SF604101
BHH342
BHH341
AHA7085
AHHS8589
712837
617402

617403
GHF306
WL700101
GHF206
BHH972
BHH973
BHH973P
BHH973S
AHH6179C
BHH972G
MRD1067

GLZ118
650306
RMP310
CZK3792
CZK3793
CZK3792CP
CZK3793CP
CZA2259
GHF425
WF702101
PMZ308
WL700101
GHF306
37H3539
AHHS8818
GHF1180
SF604081
CZA3310
CZA3311
AHH9239
SF604051
BHH342
BHH341
AHAT7085
AHHS589

October 2017

G-M & GT Price List

DESCRIPTION
illus 2. SCREW MGB
illus 3. WASHER LOCKING MGB
illus 4. WASHER FIBRE MGB
illus 5. SCREW MGB
illus 6. WASHER LOCKING MGB
illus 7. WASHER MGB
illus 8. CIRCLIP MGB
illus 9. SCREW C/SK 1/4 X 1 IN MGB

illus 11. SCREW - UPPER DOOR LOCK

illus 12. SCREW - LOWER DOOR LOCK

illus 13. SHIM THIN 0.032IN MGB

illus 13. SHIM THICK 0.064IN MGB

illus 14. PLATE - UPPER STRIKER

illus 15. PLATE - LOWER STRIKER

illus 16. DOOR HANDLE - OUTER

illus 17. GASKET DOOR HANDLE SMALL
Quantities; 2+ £0.36

illus 18. GASKET DOOR HANDLE LARGE

illus 19. WASHER MGB
illus 20. WASHER LOCKING MGB
illus 21. NUT 3/16 AF MGB
illus 22. DOOR LOCK RH MGB
illus 22. DOOR LOCK LH MGB
illus 22. DOOR LOCK PAIR MGB
illus 22. DOOR LOCK SECURITY

illus 22. DOOR LOCK SET - 3 PIECE

illus 23. DOOR LOCK GASKET MGB

MGB
MGB

MGB
MGB

MGB

MGB

MGB

MGB
MGB

illus 25. HEAVY DUTY LOCK CLIPS, PER CAR

Quantities: 2+ £4.80

illus 26. PLASTIC HANDLE, DOOR PULL
illus 26. CHROME HANDLE, DOOR PULL
illus 27. CHROME SCREW MGB
illus 1. INNER HANDLE RH - BLACK
illus 1. INNER HANDLE LH - BLACK

illus 1. INNER HANDLE RH - CHROME
illus 1. INNER HANDLE LH - CHROME

illus 2. HANDLE SURROUND MGB
illus 3. SCREW 10 X 1/2 MGB
illus 4. WASHER STAR INT 3/16 MGB
illus 5. SCREW MGB
illus 6. WASHER LOCKING MGB
illus 7. WASHER MGB
illus 9. CONNECTOR MGB
illus 10. CONTROL ROD RH MGB
illus 11. LINKAGE ROD CLIP MGB
illus 12. SCREW C/SK 1/4 X 1 IN MGB

illus 13. DOOR LOCK STRIKER RH

illus 13. DOOR LOCK STRIKER LH

illus 14. DOOR LOCK SCREW - UPPER
illus 15. DOOR LOCK SCREW - LOWER
illus 16. SHIM THIN 0.032IN MGB
illus 16. SHIM THICK 0.064IN MGB
illus 17. STRIKER PLATE - UPPER

illus 18. STRIKER PLATE - LOWER

MGB
MGB
MGB
MGB

MGB
MGB
MGB
MGB

MGB
MGB

Parts 4 MG Triumph Cars MG - MGB & GT

MGB

MGB
MGB

Prices INCLUDE Vat but exclude carriage

Retail IncVvat
price  PRICE
171L 10 Page 55



MG-M & GT Price List

PARTNO DESCRIPTION Parts 4 MG Triumph Cars MG - MGB & GT
AHHS8885 illus 19. OUTER HANDLE EXTERIOR MGB
617402 illus 20. GASKET DOOR HANDLE SMALL MGB
Quantities: 2+ £0.36
617403 illus 21. GASKET DOOR HANDLE LARGE MGB
GHF306 illus 22. WASHER MGB
WL700101 illus 23. WASHER LOCKING MGB
GHF206 illus 24. NUT 3/16 AF MGB
BHH972 illus 25. DOOR LOCK RH MGB
BHHY973 illus 25. DOOR LOCK LH MGB
BHH973P illus 25. DOOR LOCK PAIR MGB
BHH973S illus 25. DOOR LOCK SECURITY MGB
AHH6179C illus 25. DOOR LOCK SET - 3 PIECE MGB
BHHY972G illus 26. DOOR LOCK GASKET MGB
MRD1067 illus 28. HEAVY DUTY LOCK CLIPS, PER CAR MGB
Quantities: 2+ £4.80

GLZ118 illus 29. PLASTIC HANDLE, DOOR PULL MGB
650306 illus 29. CHROME HANDLE, DOOR PULL MGB
RMP310 illus 30. CHROME SCREW MGB
BFP1469PA illus 31. DOOR PULL - BLACK MGB
RMP310 illus 32. CHROME SCREW MGB
X2A1500 illus 33. ARMREST HANDLE - BLACK MGB
X2K1500 itlus 33. ARMREST HANDLE - NAVY MGB
GHF431 illus 34. SCREW 14 X 1 MGB
GHF1027 illus 35. NYLON NUT - ARMREST MGB

Seat Belts
SBS210 illus 1. LAP BELT, UK SPEC - 2 POINT MOUNTING MGB
AKF1646B illus 1. LAP BELT KIT, US SPEC - BLACK MGB
AKF1646RED illus 1. LAP BELT KIT, US SPEC - RED MGB
SBS300/30 illus 2. STATIC 3 POINT SEAT BELT MGB
SBS514/30 illus 3. INERTIA 3 POINT SEAT BELT MGB
HZA3931 illus 4. SEATBELT WHEEL ARCH MOUNTING BOSS MGB
BMH9512 illus 5. SEATBELT WHEEL ARCH BRACKET RH MGB RD
BMH9513 illus 6. SEATBELT WHEEL ARCH BRACKET LH MGB RD
BMH9514/5 illus 7. SEATBELT WHEEL ARCH BRACKET MGB GT
SBSGUIDE MG LOGO SEATBELT GUIDES - PAIR MGB

Hood & Tonneau
AHHS516Z HOOD - no rear zip, PVC quality material MGB 62-70
AHHS516ZIP HOOD - w/Zip out window, PVC quality material MGB 62-70
BHH905Z HOOD - no rear zip MGB 70-76
BHH90SZZP HOOD - w/Zipped rear window MGB 70-76
AKES372 HOOD MGB 62-70
BHH905 HOOD MGB 70-76
HZAS123 HOOD MGB 76-80

Hood Frame
AHH6109/10 illus 1. HOOD FRAME PACKAWAY -2 PIECE = MGB 62-70
8G9288 illus 2. HOOD FRAME, GREY MGB 62-70
BHH346 illus 3. HOOD FRAME MGB 71-80
CMZ428 illus 4. SCREW C/SK 1/4 X 1-3/4 MGB
AHH8391 illus 5. BRACKET - HOOD MOUNTING FRAME CHROME MGB 62-70
BHHG611 illus 5. BRACKET - HOOD TONNEAU RAIL MGB

October 2017

Prices INCLUDE Vat but exclude carriage

17IL 10

Retail IncVat
price PRICE
Page 56



MG-M & GT rice List
Retail IncVvat

PARTNO DESCRIPTION Parts 4 MG Triumph Cars MG - MGB & GT price  PRICE
SE604063 illus 6. SCREW CHROME - HOOD MGB
GHF331 illus 7. WASHER LOCKING 1/4 MGB
BHH496 illus 8. HEADER RAIL MGB
SF604041 illus 9. HEADER RAIL SCREW 1/4 X 1/2 MGB
AHH6440 illus 10. HOOD HEADER SEAL RETAINER MGB
BHH2273 illus 11. HEADER RAIL SEAL MGB
GHF600 illus 12. RIVET (POP) MGB
AHH6439 illus 13. HOOD CORNER BLOCK MGB
GHF400 illus 14. SCREW 6 X 1/2 MGB
AHA7709 illus 15. HOOD CLAMP CATCH - SHORT CHROME MGB
AHA9772 illus 15. HOOD CLAMP CATCH - LONG SATIN MGB
53K126 illus 16. SCREW - HOOD CLASP MGB
WL700101 illus 17. WASHER LOCKING MGB
BHH905BAR illus 18. HOOD REAR RETAINER BAR MGB
552650 illus 19. LIFT DOT SOCKET MGB
552651 illus 20. LIFT DOT PLATE MGB
TH9864 illus 21. SNAP FASTENER BUTTON MGB
7H9866 illus 22. SNAP FASTENER SOCKET MGB
AHH6884 illus 23. HOOD TONGUE FASTENER MGB
AHH6882 illus 24. HOOD BACK PLATE MGB
RAG608176 illus 25. RIVET MGB
BHH913 illus 26. RETAINING STRAP MGB
FWP208 illus 27. CUP WASHER MGB
ADG08043 illus 28. SCREW 8 X 1/2 MGB
Body Fasteners
AHH6883 illus 1. HOOD FIXING PLATE, SOCKET-TONGUE FASTENER
AHH6882 illus 2. HOOD FIXING PLATE BACK MGB
RA608126 iltus 3. RIVET MGB
610624 illus 4. SNAP FASTENER STUD MGB
GHF400 illus 5. SCREW 6 X 1/2 MGB
GHF600 illus 6. RIVET (POP) MGB
97HT717 illus 7. PEG - LIFT DOT MGB
WL700101 illus 8. WASHER LOCKING MGB
GHF206 illus 9. NUT 3/16 AF MGB
14B1730 illus 10. HOOD CLASP REAR RETAINER  MGB
AAA5130 illus 11. HOOD FIX CUP WASHER MGB
GHF306 illus 12. WASHER MGB
WL700101 illus 13. WASHER LOCKING MGB
PMZ305 illus 14. SCREW 1032 UNF X 5/16 MGB
610624 illus 15. SNAP FASTENER STUD  MGB
AC606051 illus 16. SCREW MGB
LFP116 illus 17. PEG STUD & BASE - CHROME MGB
AD606043 illus 18. SCREW - HEELBOARD MGB
AD606033 illus 18. SCREW - DASH MGB
Hood Cover
BHH1048 illus 1. HOOD COVER NO SEATBELT HOLES MGB 62-70,
AHHG6529/30 illus 2. HOOD COVER / TONNEAU BAR KIT 2PCS MGB
AHH6884 illus 3. HOOD TONGUE FASTENER MGB
AHH6882 illus 4. HOOD BACK PLATE MGB
RA608176 illus 5. RIVET MGB
552650 illus 6. LIFT DOT SOCKET MGB
552651 illus 7. LIFT DOT PLATE MGB
October 2017 Prices INCLUDE Vat but exclude carriage 171L 10 Page 57



MG -

& GT rice List

PARTNO DESCRIPTION Parts 4 MG Triumph Cars MG - MGB & GT
TH9864 illus 8. SNAP FASTENER BUTTON MGB
THI866 illus 9. SNAP FASTENER SOCKET MGB
610624 illus 10. SNAP STUD, FASTENER HOOD DOT MGB
7TH9868 illus 11. SNAP FASTENER BASE MGB
AHH9276 illus 12. BAG - HOOD COVER/TONNEAU MGB
AHH6755 illus 13. BAG - PACKAWAY HOOD MGB 1962-70
AHH6754 itlus 14. BAG - PACKAWAY HOOD FRAME MGB 1962-70
AHHG6757 illus 15. BAG - TONNEAU RAIL SET MGB
AHAS217 illus 16. ADJUSTABLE STRAP MGB
AHH6866K illus 17. STRAP SET Replaces AHH6866 STRAP WASHER
GHF423 illus 18. SCREW NO8 X 1/2 MGB

Body Shell
AHH7482 illus 1. BODYSHELL RHD MGB ROADSTER 62-67 3
HZA4245 illus 1. BODYSHELL RHD MGB ROADSTER 68-74 4
HZ7ZA4891 illus 1. BODYSHELL RHD MGB ROADSTER 74-76
HZAS5237 illus 1. BODYSHELL RHD MGB ROADSTER 76-77
HZAS545 iltlus 1. BODYSHELL RHD MGB ROADSTER 77-80
HZA4246 illus 1. BODYSHELL LHD MGB ROADSTER 68-74 NA SPEC
HZA4892 illus 1. BODYSHELL LHD MGB ROADSTER 74-76 NA SPEC
HZAS5547 illus 1. BODYSHELL LHD MGB ROADSTER 76-80 NA SPEC
AHH7383 illus 2. BODYSHELL RHD MGB GT 62-67 3
HZA4247 illus 2. BODYSHELL RHD MGB GT 68-74 4
HZA4894 illus 2. BODYSHELL RHD MGB GT 74-76
HZAS240 illus 2. BODYSHELL RHD MGB GT 76-77
HZA5546 illus 2. BODYSHELL RHD MGB GT 77-80
HZA4248 illus 2. BODYSHELL LHD MGB GT 76-80 NA SPEC
HZAS537 illus 3. FRONT ASSEMBLY MGB 1975-80 RUBBER
HZA688 illus 4. SILL & APOST RH MGB 62-74 CHROME
HZA689 illus 4. SILL & A POST LH MGB 62-74 CHROME
HZA3996 illus 4. SILL & A POST RH MGB GT
HZA3997 illus 4. SILL & APOST LH MGB GT
HZA488 illus 5. REAR HEELBOARD ASSEMBLY MGB

Body Panels
HZA409 illus 1. WING FRONT RH MGB RD 62-68
HZA3842 illus 1. WING FRONT RH MGB RD 68-74
HZA4832 illus 1. WING FRONT RH MGB RD 74-80
HZA2124 illus 1. WING FRONT RH MGB GT 65-68
HZA3846 illus 1. WING FRONT RH MGB GT 69-74
HZA4836 illus 1. WING FRONT RH MGB GT 74-80
HZA410 illus 2. WING FRONT LH MGB RD 62-68
HZA3843 illus 2. WING FRONT LH MGB RD 68-74
HZA4833 illus 2. WING FRONT LH MGB RD 74-80
HZA2125 illus 2. WING FRONT LH MGB GT 65-68
HZA3847 illus 2. WING FRONT LH MGB GT 69-74
HZA4837 illus 2. WING FRONT LH MGB GT 74-80
HZA220 illus 3. ORIGINAL FRONT WING REPAIR RH MGB 62-80
HZA221 illus 3. ORIGINAL FRONT WING REPAIR LH MGB 62-80
MBI15R illus 3. COPY FRONT WING REPAIR RH MGB 62-80
MBI15L illus 3. COPY FRONT WING REPAIR LH MGB 62-80
MB16R illus 4. COPY LOWER WING REPAIR RH MGB 62-80
MB16L illus 4. COPY LOWER WING REPAIR LH MGB 62-80
BHHS504 iltlus 5. SPLASH PANEL RH MGB 62-70
October 2017 Prices INCLUDE Vat but exclude carriage

17I1L 10

Retail IncVat
price PRICE
Page 58



G- & GT rice List

PARTNO DESCRIPTION Parts 4 MG Triumph Cars MG - MGB & GT
HZA4304 illus 5. ORIGINAL SPLASH PANEL RH MGB 71-80
MB19R illus 5. COPY SPLASH PANEL RH MGB 71-80
BHHS505 illus 6. SPLASH PANEL LH MGB 62-70
HZA4305 illus 6. ORIGINAL SPLASH PANEL LH MGB 71-80
MBI19L illus 6. COPY SPLASH PANEL LH MGB 71-80
AHH6241 illus 6. SPLASH PANEL SEAL RH MGB 62-70
AHH6242 illus 6. SPLASH PANEL SEAL LH MGB 62-70
BHHG626 illus 6. SPLASH PANEL SEAL RH & LH MGB 71-80
BRP906 illus 6. SPLIT RIVET MGB

HZA302 illus 7. SPLASH PANEL EXTENSION RH MGB

HZA303 illus 8. SPLASH PANEL EXTENSION LH MGB

AHHG6245 illus 8. SEAL EXTENSION RH MGB 62-70
AHHG6246 illus 8. SEAL EXTENSION.LH MGB 62-70
BHH626 illus 8. SPLASH PANEL SEAL R&LH MGB 71-80
HZA132 illus 9. ORIGINAL FRONT VALANCE MGB 62-72
MB10 illus 9. COPY FRONT VALANCE MGB 62-72
HZAS592 illus 9. ORIGINAL FRONT VALANCE MGB 72-74
MBI11 illus 9. COPY FRONT VALANCE MGB 72-74
HZA4812 illus 9. ORIGINAL FRONT VALANCE MGB 74-80
MB12 illus 9. COPY FRONT VALANCE MGB 74-80
HZA672 illus 10. SCREEN/DASH SHROUD PANEL RHD MGB 62-67
HZA496 illus 11. ORIGINAL OUTER SILL RH MGB 62-80
MB48R illus 11. COPY OUTER SILL RH MGB 62-80
HZA497 illus 11. ORIGINAL OUTER SILL LH MGB 62-80
MB4SL illus 11. COPY OUTER SILL LH MGB 62-80
HZAS508 DOOR ASSEMBLY RH MGB ROADSTER
HZAS514 DOOR ASSEMBLY RH MGB GT
HZAS509 DOOR ASSEMBLY LH MGB ROADSTER
HZASS515 DOOR ASSEMBLY LH MGB GT

HZAS82 illus 12. ORIGINAL B POST RH MGB RD
MB90R illus 12. COPY B POST RH MGB RD
HZAS83 illus 13. ORIGINAL B POST LH MGB RD
MB90L illus 13. COPY B POST LH MGB RD
MB39R illus 14. B POST REPAIR RH MGB RD
MBS9L illus 14. B POST REPAIR LH MGB RD
HZA4224 illus 15. REAR WING RH MGB RD 62-74
HZAS000 illus 15. REAR WING RH MGB RD 74-80
HZA4225 illus 16. REAR WING LH MGB RD 62-74
HZAS001 illus 16. REAR WING LH MGB RD 74-80

HZAS78 illus 17. REAR WING PANEL RH MGB

HZAS579 illus 17. REAR WING PANEL LH MGB

MB38 illus 19. WING BEADING 5.5FT LENGTH MGB RD
HZA4212 illus 20. REAR DECK MGB RD

HZA4217 illus 21. REAR VALANCE MGB 62-74

HZA4850 illus 21. REAR VALANCE MGB 74-80

MB41 illus 22. REAR VALANCE REPAIR MGB RD 62-74
MB45 illus 23. REAR VALANCE REPAIR MGB RD 74-80
HZA470 illus 24. REAR VALANCE STIFFENER  MGB

Inner Panels (Front)

HZA388 illus 1. BONNET LATCH PANEL MGB 62-74
HZA4617 illus 1. BONNET LATCH PANEL MGB 74-80 & V8
HZA461 illus 2. LATCH PANEL SUPPORT MGB 62-74
HZA4618 illus 2. LATCH PANEL SUPPORT MGB 74-80

October 2017 Prices INCLUDE Vat but exclude carriage

Retail
price

171L 10

IncVat
PRICE

Page 59



G-M & GT rice List

PARTNO DESCRIPTION Parts 4 MG Triumph Cars MG - MGB & GT Retail I')'E’I‘éaé
HZA465 illus 3. RADIATOR DUCT PANEL MGB 62-74

HZA4851 illus 3. RADIATOR DUCT PANEL MGB 74-80

HZA171 illus 4. RADIATOR SUPPORT PANEL MGB 62-74

HZA4858 illus 4. RADIATOR SUPPORT PANEL MGB 74-80

HZAS5322 illus 5. FRONT WHEEL ARCH RH MGB 62-76

HZA5323 illus 5. FRONT WHEEL ARCH LH MGB 62-76

HZAS5346 illus 5. FRONT WHEEL ARCH RH MGB 76-80

HZA5347 illus 5. FRONT WHEEL ARCH LH MGB 76-80

MBI17R illus 6. WHEEL ARCH SUPPORT RH MGB 62-75

MB17L illus 6. WHEEL ARCH SUPPORT LH MGB 62-75

HZA5320 illus 6. WHEEL ARCH SUPPORT RH MGB 75-80

HZA5321 illus 6. WHEEL ARCH SUPPORT LH MGB 75-80

HZA158 illus 7. WHEEL ARCH EXTENSIONRH MGB

HZA159 illus 7. WHEEL ARCH EXTENSIONLH MGB

HZA438 illus 8. FRONT CHASSIS LEG RH MGB 62-74

HZA439 illus 8. FRONT CHASSIS LEG LH MGB 62-74

HZA4967 illus 8. FRONT CHASSIS LEG LH MGB 74-80

HZA4866 iltlus 9. BUMPER MOUNTING UPPER RH MGB 74-80
HZA4867 illus 9. BUMPER MOUNTING UPPER LH MGB 74-80
HZA392 illus 11. FRONT ENGINE MOUNT BRACKET RH MGB 62-74
HZA393 illus 11. FRONT ENGINE MOUNT BRACKETLH MGB 62-74
HZA4504 illus 11. FRONT ENGINE MOUNT BRACKET RH MGB 74-80
HZA4505 illus 11. FRONT ENGINE MOUNT BRACKET LH MGB 74-80
HZA624 illus 12. FRONT PEDAL BOX ASSEMBLY RHRHD MGB 62-74
HZA703 illus 12. FRONT PEDAL BOX ASSEMBLY LH RHD MGB 62-74
HZAS335 illus 12. FRONT PEDAL BOX ASSEMBLY RH RHD MGB 74-80
HZA4607 illus 12. FRONT PEDAL BOX ASSEMBLY LH RHD MGB 74-80
HZA4171 illus 12. FRONT PEDAL BOX ASSEMBLY RHLHD MGB 62-80
HZA403 illus 13. FOOTWELL PANEL RH MGB RD 62-80
HZA404 illus 13. FOOTWELL PANEL LH MGB RD 62-80
MB67R illus 14. FOOTWELL REPAIR PANEL RH MGB RD 62-80
MB67L illus 14. FOOTWELL REPAIR PANEL LH MGB RD 62-80
MB52R illus 15. SPLASH PANEL BRACKET RH MGB

MB52L illus 15. SPLASH PANEL BRACKET LH MGB

HZA302 illus 15. SPLASH PANEL EXTENSION RH MGB

HZA303 illus 15. SPLASH PANEL EXTENSION LH MGB
HZAS5212 illus 16. APOST RH MGB 62-80

HZAS213 illus 16. APOST LH MGB 62-80

HZA496 illus 17. ORIGINAL OUTER SILL RH MGB 62-80

MB48R illus 17. COPY OUTER SILL RH MGB 62-80

HZ.A497 illus 17. ORIGINAL OUTER SILL LH MGB 62-80

MB4SL illus 17. COPY OUTER SILL LH MGB 62-80

HZA188 illus 18. ORIGINAL INNER SILL RH MGB 62-80

MB23R illus 18. COPY INNER SILL RH MGB 62-80

HZA189 illus 18. ORIGINAL INNER SILL LH MGB 62-80

MB23L illus 18. COPY INNER SILL LH MGB 62-80

HZA238 illus 19. ORIGINAL CASTLE SECTION RH MGB 62-80
MB24R illus 19. COPY CASTLE SECTION RH MGB 62-80
HZA239 illus 19. ORIGINAL CASTLE SECTION LH MGB 62-80
MB24L illus 19. COPY CASTLE SECTION LH MGB 62-80
MB25 illus 20. CASTLE REPAIR 2FT MGB 62-80

HZA236 illus 21. SIDEMEMBER INNER RH MGB 62-80

HZA237 illus 21. SIDEMEMBER INNER LH MGB 62-80

MB22R illus 22. DOOR STEP REPAIR RH MGB 62-80

October 2017 Prices INCLUDE Vat but exclude carriage 171L 10 Page 60



G -MG & GT Price List

Retail IncVat

PARTNO DESCRIPTION Parts 4 MG Triumph Cars MG - MGB & GT price PRICE
MB22L illus 22. DOOR STEP REPAIR LH MGB 62-80

HZA260 illus 23. SILL END FILLER RH MGB 62-80

HZA261 illus 23. SILL END FILLER LH MGB 62-80

HZA231 illus 24. JACKING POINT REINFORCEMENT MGB 62-80

MB31 illus 24. CROSSMEMBER JACK REPAIR MGB 62-80

HZA492 illus 25. JACKING POINT MGB 62-80

HZA464 illus 26. CROSSMEMBER MGB 62-80

Inner Panels (Rear)

MB21R illus 1. FLOOR PANEL RH MGB 62-67 3 SYNC
HZAG628 illus 1. FLOOR PANEL RH MGB 67-80 4 SYNC
MB21AR illus 1. COPY FLOOR PANEL RH MGB 67-80 4 SYNC
MB21L illus 2. FLOOR PANEL LH MGB 62-67 3 SYNC
HZA629 illus 2. FLOOR PANEL LH MGB 67-80 4 SYNC
MB21AL illus 2. COPY FLOOR PANEL LH MGB 67-80 4 SYNC
HZA283 illus 3. BRACE PLATE - HEELBOARD MGB 62-74

HZA5019 illus 3. BRACE PLATE - HEELBOARD MGB 74-80

AHH6352 illus 5. SEAL - BATTERY COVER/LID MGB 62-74
AHHT7210 illus 6. DZUS FASTENER - BATTERY COVER MGB 74-80
TH9828 illus 6. SPRING - DZUS FASTENER MGB 74-80
BMH9507 illus 7. BATTERY CRADLE - 6V MGB 62-74

HZA4935 illus 8. BATTERY COVER PLATE - 12 VOLT MGB 74-80
AHHG6352 illus 8. SEAL - BATTERY COVER/LID MGB 74-80

HZA586 illus 9. REAR QUARTER PANEL RH MGB RD

HZASS87 illus 10. REAR QUARTER PANEL LH MGB RD

HZA3515 illus 11. REAR DECK REINFORCEMENT MGB

HZA167 illus 12. BULKHEAD REAR MGB

BMH9000 illus 13. REAR WHEEL ARCH RH MGB

BMH9001 illus 14. REAR WHEEL ARCH LH MGB

HZA138 illus 15. ORIGINAL OUTER REAR WHEEL ARCH RH MGB
MB60R illus 15. COPY OUTER REAR WHEEL ARCH RH MGB
HZA615 illus 16. ORIGINAL OUTER REAR WHEEL ARCH LH MGB
HZA4118 illus 17. INNER REAR WHEEL ARCH RH MGB RD
HZA4119 illus 18. INNER REAR WHEEL ARCH LH MGB RD
HZAS535 illus 19. ORIGINAL BOOT FLOOR MGB 62-74
MB40 illus 19. COPY BOOT FLOOR MGB 62-74
HZAS5529 illus 19. BOOT FLOOR MGB 74-80
HZA286 illus 20. REBOUND STRAP BRACKET RH MGB 62-74
HZA287 illus 20. REBOUND STRAP BRACKET LH MGB 62-74
HZA160 illus 21. BOOT FLOOR EXTENSION RH MGB 62-80
HZA161 illus 22. BOOT FLOOR EXTENSION LH MGB 62-80
HZA3974 illus 23. REAR SIDEMEMBER RH MGB 62-74
HZA3975 illus 24. REAR SIDEMEMBER LH MGB 62-74
HZA4925 illus 24. REAR SIDEMEMBER LH MGB 75-80
MB56R illus 25. REAR CHASSIS LEG REPAIR RH MGB 62-74
MB56L illus 25. REAR CHASSIS LEG REPAIR LH MGB 62-74
MB57R illus 26. REAR CHASSIS LEG REPAIR RH MGB 74-80
MBS57L illus 26. REAR CHASSIS LEG REPAIR LH MGB 74-80
HZA272 illus 27. CLOSING PANEL RH MGB 62-74
HZA4908 illus 27. CLOSING PANEL RH MGB 74-80
HZA273 illus 27. CLOSING PANEL LH MGB 62-74
HZA4909 illus 27. CLOSING PANEL LH MGB 74-80
BMH9002 illus 28. FRONT SPRING MOUNT RH MGB 62-74
BMH9003 illus 28. FRONT SPRING MOUNT LH MGB 62-74
October 2017 Prices INCLUDE Vat but exclude carriage 171L 10 Page 61



G-M & GT Price List

PARTNO DESCRIPTION Parts 4 MG Triumph Cars MG - MGB & GT
BMH9004 illus 28. FRONT SPRING MOUNT RH MGB 74-80
BMH9005 illus 28. FRONT SPRING MOUNT LH MGB 74-80
HZA276 illus 29. REAR DAMPER MOUNT RH MGB
HZA277 illus 29. REAR DAMPER MOUNT LH MGB
Body Panels
HZAS5553 illus 1. WINDSCREEN FRAME MGB
HZA2000 illus 2. ROOF PANEL MGB
HZA3917 illus 3. ROOF CLOSING PANEL MGB
HZA2132 illus 6. REAR DRIP PANEL RH MGB GT
HZA2133 illus 7. REAR DRIP PANEL LH MGB GT
HZA4222 illus 10. REAR WING RH MGB GT 65-74
HZA4223 iltus 11. REAR WING LH MGB GT 65-74
HZA4904 illus 12. REAR WING RH MGB GT 75-80
HZA4905 illus 13. REAR WING LH MGB GT 75-80
HZA582 illus 14. B POST RH MGB GT
HZA583 illus 15. B POST LH MGB GT
MB59R illus 15. B POST REPAIR MGB GT
MBS59L illus 15. B POST REPAIR MGB GT
HZA4227 illus 16. REAR LOWER VALANCE MGB GT 65-74
HZA4849 iltus 16. REAR LOWER VALANCE MGB GT 74-80
HZA470 illus 17. REAR VALANCE STIFFENER ~ MGB GT
HZA3996 illus 18. SILL/DASH SIDE & A POST ASSEMBLY RH MGB GT
HZA3997 illus 18. SILL/DASH SIDE & A POST ASSEMBLY LH MGB GT
HZA2146 illus 19. DASH SIDE RH MGB GT
HZA2147 illus 19. DASH SIDE LH MGB GT
HZA302 illus 20. SPLASH PANEL EXTENSION RH MGB GT
HZA303 illus 20. SPLASH PANEL EXTENSION LH MGB GT
HZA2136 illus 21. A POST RH MGB GT
HZA2137 illus 21. A POST LH MGB GT
HZA496 illus 22. ORIGINAL OUTER SILL RH MGB GT
MB48R illus 22. COPY OUTER SILL MGB GT
HZA497 illus 22. ORIGINAL OUTER SILL LH MGB GT
MB4SL illus 22. COPY OUTER SILL MGB GT
BMH9006 illus 23. REAR WHEEL ARCH ASSEMBLY RH MGB GT
BMH9007 illus 24. REAR WHEEL ARCH ASSEMBLY LH MGB GT
HZA138 illus 25. ORIGINAL OUTER REAR WHEEL ARCH RH MGB
MB60R illus 25. COPY OUTER REAR WHEEL ARCH RH MGB
HZA615 illus 26. OUTER REAR WHEEL ARCH LH MGB GT
HZA2232 illus 27. INNER REAR WHEEL ARCH RH MGB GT
HZA2233 illus 28. INNER REAR WHEEL ARCH LH MGB GT
HZA2034 illus 30. BOOT FLOOR SIDE SUPPORT RH MGB GT
HZA2035 illus 31. BOOT FLOOR SIDE SUPPORT LH MGB GT
Side Moulding
AHHG6103SBL illus 1. SIDE MOULDING SET GENUINE MGB
AHH6103SFK illus 2. SIDE MOULDING SET FITTING KIT MGB
AHH6103 illus 3. CHROME FRONT MOULDING RH MGB
AHH6104 illus 3. CHROME FRONT MOULDING LH MGB
AHH6105 illus 4. CHROME DOOR MOULDING RH MGB
AHH6106 illus 4. CHROME DOOR MOULDING LH MGB
AHH6107 illus 5. CHROME REAR MOULDING RH MGB
AHH6108 illus 5. CHROME REAR MOUDLING LH MGB
GHF1435 illus 6. RIVET WING MOULDING MGB

October 2017

Prices INCLUDE Vat but exclude carriage

17IL 10

Retail IncVat
price PRICE
Page 62



G-M & GT Price List

PARTNO DESCRIPTION Parts 4 MG Triumph Cars MG - MGB & GT
AHH6360 illus 7. STUD PLATE WING MOULDING MGB
WL700101 illus 8. WASHER LOCKING MGB
GHF206 illus 9. NUT 3/16 AF MGB
Plugs & Grommets
14B630 illus 1. COVER PLUG MGB
BHA4536 illus 2. BLANKING PLUG - STEERING MGB
AHH6478 illus 3. GROMMET BULKHEAD OVAL MGB
CFP375 illus 4. GROMMET 3/8IN DIA MGB
CFP625 illus 4. GROMMET 5/8IN DIA MGB
CFP750 illus 4. GROMMET 3/4IN DIA MGB
CFP1000 illus 4. GROMMET 1 IN DIA MGB
GHF821 illus 5. GROMMET 1/4 X 1/16IN Replaces REFN204
RFN210 illus 5. 5/8 PLUG MGB
600400 illus 5. GROMMET 1.5IN MGB
AHH6507 illus 6. GEARBOX COVER PLUG MGB
AHH6286 illus 7. WIRE SUPPORT MGB 62-67
AHH6287 illus 8. PLATE - CABLE RETAINER MGB 62-67
AHC60 illus 9. PLATE - CABLE RETAINER MGB 68-80
GHF331 illus 10. WASHER LOCKING 1/4 MGB 62-67
GHF200 illus 11. NUT 1/4 UNF MGB 62-67
AHHG6284 illus 12. GROMMET - BRAKE LINES MGB 68-80
AHHG6285 illus 13. PLATE - CABLE RETAINER MGB 68-80
GHF332 illus 14. WASHER LOCKING MGB
SH605061 illus 15. SCREW MGB
Seat Components
AHH7038C illus 1. SEAT FOAM SET LH MGB 62-68
AHH7037C illus 1. SEAT FOAM SET RH MGB 62-68
AHH9297C illus 1. SEAT FOAM SET LH MGB 1969
AHH9296C illus 1. SEAT FOAM SET RH MGB 1969
AHH9971C illus 1. SEAT FOAM SET LH MGB 70-72
AHH9970C illus 1. SEAT FOAM SET RH MGB 70-72
BHH923C illus 1. SEAT FOAM SET LH MGB 73-80
BHH922C illus 1. SEAT FOAM SET RH MGB 73-80
AHH7036 illus 2. SEAT FOAM BACK MGB 62-68
AHH9681 illus 2. SEAT FOAM BACK MGB 1969
BHH1398 illus 2. SEAT FOAM BACK MGB 73-80
AHH7038 illus 3. SEAT FOAM BOTTOM LH MGB 62-68
AHH7037 illus 3. SEAT FOAM BOTTOM RH MGB 62-68
AHH9971 illus 3. SEAT FOAM BOTTOM LH MGB 69-72
AHH9970 illus 3. SEAT FOAM BOTTOM RH MGB 69-72
BHH923 illus 3. SEAT FOAM BOTTOM LH MGB 73-80
BHH922 illus 3. SEAT FOAM BOTTOM RH MGB 73-80
SBB3001 illus 4. SEAT BACK STIFFENER MGB 62-68
SBB3002 illus 4. SEAT BACK STIFFENER MGB 1969
SBB3003 illus 4. SEAT BACK STIFFENER MGB 70-80
AHA7878 illus 5. SEAT DIAPHRAGM w/Hooks MGB 62-69
BHHS580 illus 6. SEAT WEBBING w/Hooks MGB 70-80
612261 illus 7. HOOK - SEAT DIAPHRAGM MGB
Quantities: 10+ £0.19
BHA4339 illus 8. CLIP - SEAT COVER MGB
AHH6584 illus 9. SEAT FRAME LH MGB 62-68
October 2017 Prices INCLUDE Vat but exclude carriage

Retail

17IL 10

IncVat
PRICE

Page 63



MG-M & GT rice List

Retail IncVat

PARTNO DESCRIPTION Parts 4 MG Triumph Cars MG - MGB & GT price PRICE
AHH6583 illus 9. SEAT FRAME RH MGB 62-68 o
GHF103 illus 10. SCREW MGB 62-68
GHF301 illus 11. WASHER PLAIN MGB 62-68
53K3427 illus 12. WASHER MGB 62-68
GHF222 illus 13. NYLOC NUT MGB 62-68
24B4057 illus 14. HANDLE - SEAT ADJUST MGB 69-80
54K205 illus 15. SCREW MGB 69-80
24K6809 illus 16. KNOB - SEAT TILT MGB 69-80
CZA45008 illus 17. EYELET AND WASHER MGB 69-80
MM454-105 illus 18. SEAT SLIDE SET LH MGB 62-80
MM454-115 illus 18. SEAT SLIDE SET RH MGB 62-80
BHH742 illus 19. FLOOR RAIL LH MGB 62-80
BHH741 illus 19. FLOOR RAIL RH MGB 62-80
GHF117 illus 20. SCREW - FLOOR MGB 62-80
GHF321 illus 21. WASHER MGB 62-80
AHH6939 illus 22. SPACER MGB 62-80
SF604101 illus 23. SCREW - RAIL MGB 62-80
WP127 illus 24. WASHER MGB 62-80
GHF221 illus 25. NYLOC NUT MGB 62-80
AHH9682C illus 1. SEAT FOAM SET REAR MGB GT 65-69
BHH921C illus 1. SEAT FOAM SET REAR MGB GT 70-80
LFP116 illus 2. PEG STUD MGB GT 65-80
AD606043 illus 3. SCREW MGB GT 65-80
PMZ308 illus 4. SCREW MGB GT 65-80
WL700101 illus 5. WASHER LOCKING MGB GT 62-80
PM7308 illus 6. SCREW MGB GT 65-80
WL700101 illus 7. WASHER LOCKING MGB GT 62-80
14B7889 illus 8. DOME NUT MGB GT 65-80
ADG608053 illus 9. SCREW MGB GT 65-80
GHF306 illus 10. WASHER MGB GT 65-80

Trim (Interior)

GAC1027X CENTRE CONSOLE MGB

SC101AA illus 1. FRONT SEAT COVER KIT - LEATHER, Black/Black MGB RD
SC103AA illus 1. FRONT SEAT COVER KIT - VINYL, Black/Black MGB
AHH7036 illus 2. SEAT FOAM BACK - Replaces SF071 MGB RD
AHH7038 illus 3. SEAT FOAM BOTTOM LH - Replaces SF072 MGB RD
AHH7037 illus 3. SEAT FOAM BOTTOM RH - Replaces SF073 MGB RD
SBB3001 illus 4. SEAT BACKBOARD / STIFFENER MGB RD
AHA7878 illus 5. SEAT BASE DIAPHRAGM MGB RD

712400V VELCRO STRIP 13.625 TRS TR6 TR250

FL134A illus 6. FOOTWELL LINER - Black MGB RD
DP121AA illus 7. DOOR LINER PANELS - Black/Black MGB RD
DP122AA illus 7. DOOR LINER PANELS - Black/Black MGB RD
WA128AB illus 8. WHEEL ARCH PANELS - Black/Blue MGB RD
CP136A illus 9. REAR COCKPIT PANEL - Black MGB RD
DC141AA illus 10. DOOR CAPPINGS, PAIR - Black/Black MGB RD
DC142A illus 10. DOOR CAPPINGS, PAIR - Black MGB RD
CC146AA illus 11. DOOR CAPPING COVER KIT - Black/Black MGB RD
CC147A illus 11. DOOR CAPPING COVER KIT - Black MGB RD
RC140 illus 12. COCKPIT RAIL COVERING KIT - Black MGB RD
TK110AA 6 PIECE TRIM PANEL KIT - Black/Black MGB RD
TK111AA 6 PIECE TRIM PANEL KIT - Black/Black MGB RD
MTK110A 10 PIECE DELUXE TRIM PANEL KIT - Black MGB RD
October 2017 Prices INCLUDE Vat but exclude carriage 171L10 Page 64



PARTNO

MTK111A
LTK110AB
LTK111AB
AHH6338
AHH6339
AHH7597X
AKES155
RC198A
BHH2072
BHH2072LA
SC105A
SC107A
SF164
AHH9971
AHH9970
SBB3002
AHA7878
FL134A
DP124BB
WAI130AA
CP136A
DC142A
RC140
TK113AA
MTK113A
LTK113A
AHH6338
AHH6339
AHH7597X
AKES155
RC198A
BHH2072
BHH2072LA
SC111A
KGA310
DHC009A
BHH1398
AHH9971
AHH9970
SBB3003
BHHS80
FL135A
TKA4144/5
TKA4147/8
WAI132A
CP137A
DC144M
CC148A
RC141A
TK116A
MTK116A
TK118A
MTK118A
AHHG6338

October 2017

G-MG & GT rice List

DESCRIPTION Parts 4 MG Triumph Cars MG - MGB & GT

10 PIECE DELUXE TRIM PANEL KIT - Black MGB RD
7 PIECE TRIM PANEL KIT - Black/Blue MGB RD
7 PIECE TRIM PANEL KIT - Black/Blue MGB RD
illus 13. GLOVEBOX RHD MGB RD

illus 13. GLOVEBOX LHD MGB RD

illus 14. MATERIAL SCUTT, BLACK - Replaces DT153 MGB RD

illus 15. CRASH RAIL - Replaces DT155 MGB RD
illus 16. RADIO/HEATER COVER PANEL - Black MGB RD
illus 17. GEAR LEVER GAITER - Vinyl MGB RD

illus 17. GEAR LEVER GAITER & SEAL - Leather, Black MGB RD

illus 1. FRONT SEAT KIT, LEATHER - Black MGB RD

illus 1. FRONT SEAT KIT, VINYL - Black MGB RD

illus 2. SEAT FOAM BACK/SQUAB MGB RD

illus 3. SEAT FOAM BOTTOM LH MGB RD

illus 3. SEAT FOAM BOTTOM RH MGB RD

illus 4. SEAT BACK STIFFENER MGB RD

illus 5. SEAT BASE DIAPHRAGM MGB RD

illus 6. FOOTWELL LINER - Black MGB RD

illus 7. DOOR PANEL LINER - Blue/Blue MGB RD

illus 8. WHEEL ARCH PANELS - Black/Black MGB RD

illus 9. REAR COCKPIT PANEL - Black MGB RD

illus 10. DOOR CAPPINGS - Black MGB RD

illus 12. COCKPIT RAIL COVERING KIT - Black MGB RD

6 PIECE TRIM PANEL KIT - Black/Black MGB RD

10 PIECE DELUXE TRIM PANEL KIT - Black MGB RD

7 PIECE TRIM PANEL KIT - Black MGB RD

illus 13. GLOVEBOX RHD MGB RD

illus 13. GLOVEBOX LHD MGB RD

illus 14. MATERIAL SCUTT, BLACK - Replaces DT153 MGB RD
iltus 15. CRASH RAIL - Replaces DT155 MGB RD

illus 16. RADIO/HEATER COVER PANEL - Black MGB RD

illus 17. GEAR LEVER GAITER - Vinyl MGB RD

illus 17. GEAR LEVER GAITER & SEAL - Leather, Black MGB
illus 1. SEAT COVER KIT, 1/2 CLOTH, PAIR - Black MGB RD
illus 2. D HEADREST ASSEMBLY, 1/2 PERF, VINYL - Black MGB
illus 2. D HEADREST COVER, 1/2 PERF, VINYL - Black MGB
illus 3. SEAT FOAM BACK - Replaces SF165 MGB RD
illus 4. SEAT FOAM BOTTOM LH - Replaces SF196 MGB RD
illus 4. SEAT FOAM BOTTOM RH - Replaces SF197 MGB RD
illus 5. SEAT BACK STIFFENER MGB RD

illus 6. SEAT BASE DIAPHRAGM/WEBBING MGB RD

illus 7. FOOTWELL LINER - Black MGB RD

illus 8. DOOR PANELS, PAIR - Black - Replaces DP125  MGB RD

illus 8. DOOR PANELS, PAIR - Black w/ Chrome piping - Replaces DP126
illus 9. WHEEL ARCH PANELS, PAIR - Black MGB RD
illus 10. REAR COCKPIT PANEL - Black MGB RD
illus 11. DOOR CAPPINGS, PAIR - Red MGB RD
illus 12. DOOR CAPPING COVER KIT - Black MGB RD
illus 13. COCKPIT RAIL COVERING KIT - Black MGB RD

6 PIECE TRIM PANEL KIT - Black MGBRD

10 PIECE DELUXE TRIM PANEL KIT - Black MGB RD

6 PIECE TRIM PANEL KIT - Black w/Chrome strips MGB RD
10 PIECE DELUXE TRIM PANEL KIT - Black MGB RD
illus 14. GLOVEBOX RHD MGB RD

Prices INCLUDE Vat but exclude carriage

17IL 10

Retail IncVat
price PRICE
Page 65



PARTNO

AHH6339
AHH7597X
AKES155
RC199A
BHH2072
BHH2072LA
SC117A
GLZ135AW
DHCO001A
BHH1398
BHH923
BHH922
SBB3003
BHHS80
FL135A
TKA4147/8
WAI132A
CP137A
DC144M
CC148A
RC141A
TK118A
MTKI118A
AHH6338
AHH6339
AHH7597X
AKES155
RC199A
BHH2072
BHH2072LA
SC117A
GLZ135AW
DHCO001A
BHH1398
BHH923
BHH922
SBB3003
BHHS80
FL135A
TKA4162/3
WA132A
CP137A
DC144M
CC148A
RC141A
TK118A
MTKI118A
AHH6338
AHH6339
AHH7597X
AKES155
RC199A
BHH2072
BHH2072LA

October 2017

MG-M & GT rice List

DESCRIPTION Parts 4 MG Triumph Cars MG - MGB & GT %ﬁgg
illus 14. GLOVEBOX LHD MGB RD
illus 15. MATERIAL SCUTT, BLACK - Replaces DT153 MGB RD
illus 16. CRASH RAIL - Replaces DT155 MGB RD
illus 17. RADIO/HEATER COVER PANEL - Black MGB RD
illus 19. GEAR LEVER GAITER - Vinyl MGB RD
illus 20. GEAR LEVER GAITER & SEAL - Leather, Black MGB RD

illus 1. FRONT SEAT COVER KIT, 3/4 PERF, PAIR - Black MGB RD
illus 2. D TYPE HEADREST ASSEMBLY, VINYL - Black/White = MGB

illus 2. D TYPE HEADREST COVER, VINYL - Black MGB RD
illus 3. SEAT FOAM BACK - Replaces SF165 MGB RD
illus 4. SEAT FOAM BOTTOM LH - Replaces SF198 MGB RD
illus 4. SEAT FOAM BOTTOM RH - Replaces SF199 MGB RD
illus 5. SEAT BACK STIFFENER MGB RD

illus 6. SEAT BASE DIAPHRAGM/WEBBING MGB RD

illus 7. FOOTWELL LINER - Black MGB RD

illus 8. DOOR PANELS, PAIR - Black w/ Chrome piping - Replaces DP126

illus 9. WHEEL ARCH PANELS, PAIR - Black MGB RD
illus 10. REAR COCKPIT PANEL - Black MGB RD
illus 11. DOOR CAPPINGS, PAIR - Red MGB RD
illus 12. DOOR CAPPING COVER KIT - Black MGB RD

illus 13. COCKPIT RAIL COVERING KIT - Black MGB RD
6 PIECE TRIM PANEL KIT - Black w/Chrome Strips MGB
10 PIECE DELUXE TRIM PANEL KIT - Black w/Chrome Strips MGB

illus 14. GLOVEBOX RHD MGB RD

illus 14. GLOVEBOX LHD MGB RD

illus 15. MATERIAL SCUTT, BLACK - Replaces DT153 MGB
illus 16. CRASH RAIL - Replaces DT155 MGB RD

illus 17. RADIO/HEATER BOX TRIM PANEL - Black MGB
illus 19. GEAR LEVER GAITER - Vinyl MGBRD

illus 19. GEAR LEVER GAITER & SEAL - Leather, Black MGB

illus 1. FRONT SEAT COVER KIT, 3/4 PERF, PAIR - Black MGB RD
illus 2. D TYPE HEADREST ASSEMBLY, VINYL - Black/White

illus 2. D TYPE HEADREST COVER, VINYL - Black MGB RD
illus 3. SEAT FOAM BACK - Replaces SF165 MGB RD
illus 4. SEAT FOAM BOTTOM LH - Replaces SF198 MGB RD
illus 4. SEAT FOAM BOTTOM RH - Replaces SF199 MGB RD
illus 5. SEAT BACK STIFFENER MGB RD

illus 6. SEAT BASE DIAPHRAGM/WEBBING MGB RD

iltus 7. FOOTWELL LINER - Black MGB RD

illus 8. DOOR PANELS, PAIR - Black - Replaces DP127 MGB RD
illus 9. WHEEL ARCH PANELS, PAIR - Black MGB RD

illus 10. REAR COCKPIT PANEL - Black MGBRD

illus 11. DOOR CAPPINGS, PAIR - Red MGBRD

illus 12. DOOR CAPPING COVER KIT - Black MGB RD

illus 13. COCKPIT RAIL COVERING KIT - Black MGB RD
6 PIECE TRIM PANEL KIT - Black w/Chrome Strips MGB
10 PIECE DELUXE TRIM PANEL KIT - Black w/Chrome Strips MGB

illus 14. GLOVEBOX RHD MGB RD
illus 14. GLOVEBOX LHD MGB RD
illus 15. MATERIAL SCUTT, BLACK - Replaces DT153 MGB
illus 16. CRASH RAIL - Replaces DT155 MGB RD
illus 17. RADIO/HEATER BOX TRIM PANEL - Black MGB
illus 19. GEAR BOX GAITER - Vinyl MGB RD

illus 19. GEAR BOX GAITER & SEAL - Leather, Black

Prices INCLUDE Vat but exclude carriage 171L 10

IncVat
PRICE

Page 66



PARTNO

MTK110A
MTKI111A
MTK113A
MTK115A
MTK117A
MTKI119A
TK110AA
TK111AA
TKI113AA
TK115A
TK117A
TK119A
LTK110AB
LTK111AB
LTK113A
LTK115A
LTK117A
LTK119A
CK160A
CK161A
CK175A
CK176A
CSA4030X
CKO008A
CKO008B
CKO008K
CK008M
CKO008N
CKO008Z
CKO001A
CKO001B
CK001M
CK007TM
CKO007Z
CwWC101
GAC4087
SC101AA
SC103AA
SC105A
SC107A
AHH7036
SF164
AHH7038
AHH7037
AHH9971
AHH9970
SBB3001
SBB3002
AHA7878
SC102AA
SC104AA
SC106A
SC108A
SF200

October 2017

G-M & GT Price List
DESCRIPTION

DELUXE TRIM KIT - Black
DELUXE TRIM KIT - Black
DELUXE TRIM KIT - Black
DELUXE TRIM KIT - Black
DELUXE TRIM KIT - Black
DELUXE TRIM KIT - Black

Parts 4 MG Triumph Cars MG - MGB & GT

MGB ROADSTER 62-64
MGB ROADSTER 65-68
MGB ROADSTER 69-70
MGB ROADSTER 70-72
MGB ROADSTER 73-76
MGB ROADSTER 76-80

6 PIECE TRIM KIT - Black/Black MGB ROADSTER 62-64
6 PIECE TRIM KIT - Black/Black MGB ROADSTER 65-68
6 PIECE TRIM KIT - Black/Black MGB ROADSTER 69-70

6 PIECE TRIM KIT - Black
6 PIECE TRIM KIT - Black
6 PIECE TRIM KIT - Black

7 PIECE TRIM KIT - Black/Blue
7 PIECE TRIM KIT - Black/Blue

7 PIECE TRIM KIT - Black
7 PIECE TRIM KIT - Black
7 PIECE TRIM KIT - Black
7 PIECE TRIM KIT - Black
CARPET SET RHD - Black
CARPET SET LHD - Black
CARPET SET RHD - Black
CARPET SET LHD - Black

MGB ROADSTER 70-72
MGB ROADSTER 73-76
MGB ROADSTER 76-80
MGB ROADSTER 62-64
MGB ROADSTER 65-68
MGB ROADSTER 69-70
MGB ROADSTER 70-72
MGB ROADSTER 73-76
MGB ROADSTER 76-80
MGB ROADSTER 62-68
MGB ROADSTER 62-68
MGB ROADSTER 69-80
MGB ROADSTER 69-80

BOOT CARPETS, MOULDED - Black - Replaces CK087

BOOT CARPETS - Black

MGB RD

BOOT CARPET BLUE MGB ROADSTER
BOOT CARPET A/LEAF MGB ROADSTER
BOOT CARPET RED MGB ROADSTER
BOOT CARPET NAVY MGB ROADSTER
BOOT CARPET BISCUIT MGB RDSTR
CARPET SET BLACK MGB RD >68

C/SET RD>68 BLUE
C/SET RD>68 RED

PAIR OF SILL CARPETS MGB 62>
PAIR OF SILL CARPETS MGB 62>

SPARE WHEEL COVER - CARPET

MGB RD

SPARE WHEEL 14IN BLACK COVER - Replaces VWC101
illus 1. FRONT SEAT COVER KIT - LEATHER, Black/Black MGB 65-68
illus 1. FRONT SEAT COVER KIT - VINYL, Black/Black
illus 1. FRONT SEAT COVER KIT - LEATHER, Black
illus 1. FRONT SEAT COVER KIT - VINYL, Black

illus 2. SEAT FOAM BACK - Replaces SF071

illus 2. SEAT FOAM BACK

MGB 69-70

illus 3. SEAT FOAM BOTTOM LH - Replaces SF072
illus 3. SEAT FOAM BOTTOM RH - Replaces SF073
illus 3. SEAT FOAM BOTTOM LH - Replaces SF196
illus 3. SEAT FOAM BOTTOM RH - Replaces SF197
MGB 65-68
MGB 69-70
MGB 65-70
illus 6. REAR SEAT COVER KIT - Leather, Black/Black
illus 6. REAR SEAT COVER KIT - Vinyl, Black/Black
illus 6. REAR SEAT COVER KIT - Leather, Black

illus 6. REAR SEAT COVER KIT - Vinyl, Black

illus 4. SEAT BACK STIFFENER
illus 4. SEAT BACK STIFFENER
illus 5. SEAT BASE DIAPHRAGM

illus 7. REAR SEAT FOAM KIT

MGB 65-70

Prices INCLUDE Vat but exclude carriage

MGB RD

MGB RD

MGB 65-68
MGB 69-70
MGB 69-70
MGB 65-70

MGB 65-68
MGB 65-68
MGB 69-70
MGB 69-70

MGB
MGB
MGB
MGB

17IL 10

Retail IncVat
ce PRICE
Page 67



PARTNO

FL134A
DP123AA
TKA4141/2
WA129AB
WAI131AA
RC198A
TK112AA
TK114AA
MTK112A
MTK114A
LTK112A
LTK114A
DC143A
CC146AA
CC147A
CR149A
CC151A
AKES155
AHH7597X
X3A2970/1
CP045P
AHH6338
AHH6339
BHH1406
BHH2072
BHH2072LA
SC111A
SC113A
KGA310
DHCO009A
GLZ135AW
DHCO001A
BHH1398
AHH9971
AHH9970
SBB3003
BHHS80
SC112A
SC114A
SF200
FL135A
DP125K
TKA4147/8
WAI133A
RC199A
TK116A
MTK116A
TK117A
MTKI117A
AKES5155
AHH7597X
DC145X
CC148A
CR150A

October 2017

DESCRIPTION

illus 8.
illus 9.
illus 9.
illus 10
illus 10

MG - & GT Price List

Parts 4 MG Triumph Cars MG - MGB & GT

FOOTWELL LINER - Black MGB 65-70

DOOR PANEL LINER - Black/Black MGB 65-68

DOOR PANELS, PAIR - Black - Replaces DP124

. WHEEL ARCH PANELS - Black/Blue MGB 65-68

. WHEEL ARCH PANELS - Black/Black  MGB 69-70

MGB

RADIO/HEATER BOX COVER PANEL - Black MGB 65-70

6 PIECE TRIM PANEL KIT - Black/Black
6 PIECE TRIM PANEL KIT - Black/Black
10 PIECE DELUXE TRIM PANEL KIT - Black
10 PIECE DELUXE TRIM PANEL KIT - Black

8 PIEC
8 PIEC
illus 11
illus 12

illus 12.
illus 13.
illus 14.
illus 15.
illus 16.
illus 17.
illus 18.
illus 19.
illus 19.
illus 20.
illus 21.
illus 21.

illus 1.
illus 1.
illus 2.
illus 2.
illus 2.
illus 2.
illus 3.
illus 4.
illus 4.
illus 5.
illus 6.
illus 7.
illus 7.
illus 8.
illus 9.

illus 10. DOOR PANEL LINERS, PAIR- A/Leaf, no Chrome

MGB 65-68

MGB 69-70

MGB 65-68

MGB 69-70

MGB 65-68

MGB 69-70

MGB 65-70

MGB 65-68

MGB 69-70
MGB
MGB

MGB 65-70
MGB

E TRIM PANEL KIT - Black

E TRIM PANEL KIT - Black

. DOOR CAPPINGS, PAIR - Black
, DOOR CAPPING COVER KIT - Black/Black
DOOR CAPPING COVER KIT - Black

REAR QUARTER CAPPING ASSEMBLY - Black
REAR QUARTER CAPPING COVER KIT - Black
CRASH RAIL - Replaces DT155

MATERIAL SCUTT, BLACK - Replaces DT153
A POST PANEL COVERS, PAIR MGB 65-70
C POST PANEL COVERS, PAIR - Grey MGB 65-70
GLOVEBOX RHD MGB 65-70
GLOVEBOX LHD MGB 65-70

SUN VISOR MGB 65-70

GEAR LEVER GAITER - Vinyl MGB 65-70

GEAR LEVER GAITER & SEAL - Leather, Black

FRONT SEAT KIT 1/2 CLOTH, BASKET WEAVE

FRONT SEAT KIT 1/2 CLOTH MGB 70-73
D TYPE HEADREST ASSEMBLY - Black, 1/2 Perforated

D TYPE HEADREST COVER - Black, 1/2 Perforated

D TYPE HEADREST ASSEMBLY - Black/White, Plain

D TYPE HEADREST COVER - Black, Plain MGB 70-73
SEAT FOAM BACK - Replaces SF165 MGB 70-73
SEAT FOAM BOTTOM LH - Replaces SF196 MGB 70-73
SEAT FOAM BOTTOM RH - Replaces SF197 MGB 70-73
SEAT BACK STIFFENER MGB 70-73
SEAT BASE DIAPHRAGM/WEBBING MGB 70-73
REAR SEAT COVER KIT - Black, 1/2 Perforated MGB 70-73
REAR SEAT COVER KIT - Black, Plain MGB 70-73
REAR SEAT FOAM KIT MGB 70-73
FOOTWELL LINER, PAIR - Black MGB 70-73

MGB

illus 10. DOOR PANEL LINERS, PAIR - Black. Chrome piping MGB

illus 11
illus 13
6 PIEC

10 PIECE DELUXE TRIM PANEL KIT - Black

6 PIEC

MGB 70-73

MGB
MGB 70-73
MGB 70-73
MGB 70-73

. WHEEL ARCH PANELS, PAIR - Black
. RADIO/HEATER BOX COVER PANEL - Black
E TRIM PANEL KIT - Black

E TRIM PANEL KIT - Black w/Chrome Strips

10 PIECE DELUXE TRIM PANEL KIT - Black w/Chrome Strips

illus 14. CRASH RAIL - Replaces DT155

illus 15

illus 16. DOOR CAPPING, PAIR - Beige

illus 17
illus 18

MGB 70-73
. MATERIAL SCUTT, BLACK - Replaces DT153

MGB 70-73
MGB 70-73
MGB 70-73

. DOOR CAPPING COVER KIT - Black
. REAR QUARTER CAPPING ASSEMBLY

Prices INCLUDE Vat but exclude carriage

17I1L 10

Retail IncVat
price PRICE

Page 68



PARTNO

CCi152A
X3A2970/1
CP045P
AHH6338
AHH6339
BHH1406
BHH2072
BHH2072LA
SC117A
GLZ135AW
DHCO001A
BHH1398
BHH923
BHH922
SBB3003
BHHS580
SC118A
SF200
FL135A
TKA4147/8
WAI33A
RC199A
TK118A
MTK118A
AKES155
AHH7597X
DC145X
CC148A
CRI150A
CC152A
X3A2970/1
CP045P
AHH6338
AHH6339
BHH1406
BHH2072
BHH2072LA
BHH1398
BHH923
BHH922
SBB3003
BHHS580
X3A6185
FHC0012L
SF200
FL134A
TKA4162/3
WA135A
RC199A1
AKES155
AHH7597X
TK120A
MTK120A
DC143A

October 2017

DESCRIPTION

MG-M & GT rice List

Parts 4 MG Triumph Cars MG - MGB & GT

illus 19. REAR QUARTER CAPPING COVER KIT MGB 70-73
illus 20. A POST PANEL COVERS, PAIR - Replaces X2A2970/1

illus 21. C POST PANEL COVERS, PAIR- Grey MGB 70-73
illus 23. GLOVEBOX RHD MGB 70-73
illus 23. GLOVEBOX LHD MGB 70-73
illus 24. SUN VISOR MGB 70-73
illus 25. GEAR LEVER GAITER - Vinyl MGB 70-73

illus 25. GEAR LEVER GAITER & SEAL - Leather, Black MGB
illus 1. FRONT SEAT COVER KIT - Cloth, Black MGB 73-76
illus 2. D TYPE HEADREST ASSEMBLY, PLAIN - Vinyl, Black/White
illus 2. D TYPE HEADREST COVER, PLAIN - Vinyl, Black MGB

illus 3. SEAT FOAM BACK - Replaces SF165 MGB
illus 4. SEAT FOAM BOTTOM LH - Replaces SF198 MGB
illus 4. SEAT FOAM BOTTOM RH - Replaces SF199 MGB
illus 5. SEAT BACK STIFFENER MGB MGB 73-76
illus 6. SEAT BASE DIAPHRAGM/WEBBING MGB 73-76
illus 7. REAR SEAT COVER KIT - Black MGB 73-76
illus 8. REAR SEAT FOAM KIT MGB 73-76
illus 9. FOOTWELL LINER - Black MGB 73-76

illus 10. DOOR PANELS, PAIR - Black w/Chrome Piping - Replaces DP126
illus 11. WHEEL ARCH PANELS, PAIR - Black MGB 73-76
illus 13. RADIO/HEATER BOX COVER PANEL MGB 73-76

6 PIECE TRIM PANEL KIT MGB 73-76

10 PIECE DELUXE TRIM PANEL KIT MGB 73-76

illus 14. CRASH RAIL - Replaces DT155 MGB 73-76

illus 15. MATERIAL SCUTT, BLACK - Replaces DT153 MGB
illus 16. DOOR CAPPING, PAIR - Beige MGB 73-76

illus 17. DOOR CAPPING COVER KIT MGB 73-76

illus 18. REAR QUARTER CAPPING ASSEMBLY MGB 73-76
illus 19. REAR QUARTER CAPPING COVER KIT MGB 73-76
itllus 20. A POST PANEL COVERS, PAIR - Replaces X2A2970/1 MGB

illus 21. C POST PANEL COVERS, PAIR - Grey MGB 73-76
illus 23. GLOVEBOX RHD MGB 73-76

illus 23. GLOVEBOX LHD MGB 73-76

illus 24. SUN VISOR MGB 73-76

illus 25. GEAR BOX GAITER - Vinyl MGB 73-76

illus 25. GEAR BOX GAITER & SEAL - Leather, Black MGB 73-76

illus 1. SEAT FOAM BACK - Replaces SF165 MGB 76-80
illus 2. SEAT FOAM BOTTOM LH - Replaces SF198 MGB 76-80
illus 2. SEAT FOAM BOTTOM RH - Replaces SF199 MGB 76-80
illus 3. SEAT BACK STIFFENER MGB 76-80
illus 4. SEAT BASE DIAPHRAGM/WEBBING MGB 76-80

illus 5. HEADREST ASSEMBLY, OVAL/PEARDROP - Black MGB

illus 5. HEADREST COVER, FLAT LEATHER - Black = MGB 76-80
illus 6. REAR SEAT FOAM KIT MGB 76-80
illus 7. FOOTWELL LINER - Black MGB 76-80

illus 8. DOOR PANELS, PAIR - Black MGB 76-80

illus 9. WHEEL ARCH PANEL - Black MGB 76-80

illus 11. RADIO/HEATER BOX COVER PANEL MGB 76-80
illus 12. CRASH RAIL - Replaces DT155 MGB 76-80

illus 13. MATERIAL SCUTT, BLACK - Replaces DT153  MGB 76-80
6 PIECE TRIM PANEL KIT MGB 76-80

10 PIECE DELUXE TRIM PANEL KIT MGB 76-80

illus 14. DOOR CAPPING, PAIR MGB 76-80

Prices INCLUDE Vat but exclude carriage 171L 10

Retail IncVat
price PRICE

Page 69



G - MGB & GT rice List

PARTNO DESCRIPTION Parts 4 MG Triumph Cars MG - MGB & GT %?}gg
CC146AA illus 15. DOOR CAPPING COVER KIT MGB 76-80
CR149A iltus 16. REAR QUARTER CAPPING ASSEMBLY MGB 76-80
CC151A illus 17. REAR QUARTER CAPPING COVER KIT MGB 76-80
X3A2970/1 illus 18. A POST PANEL COVERS, PAIR - Replaces X2A2970/1 MGB
CP046AP illus 19. C POST PANEL KIT, PAIR - Black/Grey MGB 76-80
AHHG6338 illus 21. GLOVEBOX RHD MGB 76-80
AHH6339 illus 21. GLOVEBOX LHD MGB 76-80
44E5285 illus 22. SUNVISOR LH RHD - Replaces SV180PA MGB 76-80
44E5284 illus 22. SUNVISOR RH RHD - Replaces SV181PA MGB 76-80
BHH2072 illus 23. GEAR LEVER GAITER MGB 76-80
BHH2072LA illus 23. GEAR LEVER GAITER & SEAL - Leather, Black MGB 76-80
CK177N DELUXE CARPET SET - RHD MGB GT 69-80
CK178A CARPET SET - LHD - BLACK MGB GT 69-80
MTK112A 10 PIECE DELUXE TRIM KIT - Black MGB GT 65-68
MTK114A 10 PIECE DELUXE TRIM KIT - Black MGB GT 69-70
MTK116A 10 PIECE DELUXE TRIM KIT - Black MGB GT 70-73
MTK118A 10 PIECE DELUXE TRIM KIT - Black MGB GT 73-76
MTK120A 10 PIECE DELUXE TRIM KIT - Black MGB GT 76-80
TK112AA 6 PIECE TRIM KIT - Black/Black MGB GT 65-68
TK114AA 6 PIECE TRIM KIT - Black/Black MGB GT 68-70
TK116A 6 PIECE TRIM KIT - Black MGB GT 70-72
TK118A 6 PIECE TRIM KIT - Black MGB GT 72-76
TK120A 6 PIECE TRIM KIT - Black MGB GT 76-80
LTK112A 8 PIECE TRIM KIT - Black MGB GT 65-68
LTK114A 8 PIECE TRIM KIT - Black MGB GT 69-70
LTK116A 8 PIECE TRIM KIT - Black MGB GT 70-73
LTK118A 8 PIECE TRIM KIT - Black MGB GT 73-76
TK120A 6 PIECE TRIM KIT - Black - Replaces LTK120 MGB GT 76-81
SC110A illus 1. LEATHER FRONT SEAT COVER KIT - BLACK MGB 70-80
SC125A illus 1. VINYL FRONT SEAT COVER KIT MGB 70-80
GLZ135L illus 2. D TYPE LEATHER HEADREST - BLACK MGB 70-80
GLZ133L illus 2. D TYPE LEATHER HEADREST - AUTUMN LEAF  MGB 70-80
GLZ127L illus 2. D TYPE LEATHER HEADREST - NAVY MGB 70-80
BHH1398 illus 3. SEAT FOAM BACK - Replaces SF165 MGB 70-80 Special
BHH923 illus 4. SEAT FOAM BOTTOM LH - Replaces SF198 MGB 70-80 Special
BHH922 illus 4. SEAT FOAM BOTTOM RH - Replaces SF199 MGB 70-80 Special
SBB3003 illus 5. SEAT BACK STIFFENER MGB 70-80 Special
BHH580 illus 6. SEAT BASE DIAPHRAGM/WEBBING MGB 70-80
SC123A illus 7. LEATHER REAR SEAT KIT - BLACK/BLACK MGB 70-80
DP119A DOOR PANELS, PAIR - BLACK MGB Special
TK121AB 6 PIECE TRIM PANEL KIT - BLACK/BLUE MGB ROADSTER Special
CMO00A CARPET FLOOR MATS WITH BLACK BINDING MGB 62-67 3
CMO5A CARPET FLOOR MATS WITH BLACK BINDING MGB 67-80 4
CM05AH CARPET FLOOR MATS WITH BLUE BINDING MGB 67-80 4
CM05AM CARPET FLOOR MATS WITH RED BINDING MGB 67-80 4
CMO5AP CARPET FLOOR MATS WITH GREY BINDING MGB 67-80 4
GAC6816 RUBBER FOOT MATS (PAIR) MGB 62-67 3 Synchro
GAC6815 RUBBER FOOT MATS (PAIR) MGB 67-80 4 Synchro
Side Moulding
BHH2690A LIMITED EDITION STRIPE SET - SILVER MGB 1980 LE
BHH2697G LIMITED EDITION STRIPE SET - GOLD MGB 1980 LE
October 2017 17IL 10

Prices INCLUDE Vat but exclude carriage

IncVat
PRICE

oAr An

Page 70



0121 544 4444

WWW.DAVIDMANNERS.CO.UK

ENQUIRIES@DAVIDMANNERS.CO.UK





